FASTENERS

PRODUCT CATALOGUE

JTIVPROLINE 2 PPaslode = CAMD






CONDITIONS OF SALE

Interpretation

In these conditions:

11 ‘Seller’ means ITW Proline, a division of ITW Australia
Pty Ltd (ABN 63 004 235 063) of 74-94 Newton Road,
Wetherill Park, New South Wales 2164 which is the seller
of the goods/services.

1.2 ‘Buyer’ means the purchaser of the goods/services
specified.

1.3 ‘Goods’ means the products and, if any, services specified.

1.4 ‘Quotation’ means the Seller’s quotation

1.5  ‘Invoice’ means Seller’s invoice describing product
descriptions, quantities supplied and prices created as a
result of supplier’s purchase instructions

1.6  “/TW” means ITW Proline.

1.7 “Products” mean all products (including accessories and
spare parts), services and equipment supplied or to be
supplied by ITW to the Customer.

Terms of sale
21  The goods and all other products sold by the Seller are
sold on these terms and conditions.

Seller’s quotations

3.1 Unless previously withdrawn, the Seller’s Quotations are
open for acceptance within the period stated in them or,
when no period is so stated, within 14 days of its date.
The Seller reserves the right to refuse any order based on
this Quotation within 14 days after the receipt of the order.

Packing

41  The cost of any special packing and packing materials
used in relation to the goods are at the Buyer’s expense
notwithstanding that such cost may have been omitted
from any Quotation.

Shortage/Claims

5.1  The Buyer waives any claim for shortage of any Goods
delivered if a claim in respect for short delivery has not
been lodged with the Seller within 7 days from the date of
receipt of Goods by the Buyer. To the extent permitted by
law, NO CLAIMS for short delivery can be recognised after
this time. INVOICE NUMBER AND DATE MUST BE QUOTED
ON ALL CLAIMS.

5.2  Please note we will effect the action shown on the invoice
which accompanies the Goods unless advised otherwise.
Back orders will be held at our discretion unless advised
otherwise and if under our minimum invoice value, they
will be forwarded with the next order placed.

Drawings, etc

6.1  All specifications, drawings, and particulars of weights
and dimensions submitted to the Seller are approximate
only and any deviation from any of these things does not
vitiate this contract with the Seller or form grounds for any
claim against the Seller.

6.2 The contents of (including descriptions and illustrations)
catalogues, price lists and other advertising matter do not
form part of this contract of sale of the Goods or of the
description applied to the Goods.

6.3  Where specifications, drawings or other particulars
are supplied by the Buyer, the Seller’s price is made
on estimates of quantities required. If there are any
adjustments in quantities above or below the quantities
estimated by the Seller and set out in a Quotation for
the Goods, then any such increase or decrease are to be
adjusted on a unit rate basis according to unit prices set
out in the Seller’s Quotation or as otherwise agreed by
Seller in writing.

Performance

71 Any performance figures given by the Seller are estimates
only. The Seller is under no liability for damages or failure
of the Goods to attain such figures unless specifically
guaranteed in writing in the Seller’s Quotation. Any such
written guarantees are subject to the recognised Section
1.10 of these terms and conditions and to tolerances
applicable to such figures.

Delivery

8.1  The delivery times made known to the Buyer are estimates
only. The Seller is not liable for any loss, damage or delay
occasioned to the Buyer or its customers arising from late
or non-delivery or late installation of the Goods.

8.2 The Seller may at its option deliver the Goods to the Buyer
in any number of installments unless there is a written
agreement to the effect that the Buyer will not take
delivery by installments.

8.3 Ifthe Seller delivers any of the Goods by installments, and

any one of those installments is defective for any reason:

it is not a repudiation of these terms and conditions; and

b. the defective installment is a severable breach that gives
rise only to a claim for compensation in relation to these
defective Goods (and not to other installments or Goods).

bl

Excusable Delays

9.1  ITW shall not be liable for any failure to comply with a
Contract when such failure is caused by or arises out of
any of the following: (a) fire, storm, tempest, earthquake,
inevitable accident or other act of God; (b) any act of
public enemy; (c) any act of any government or any
government authority or instrumentality; (d) any act of
any person engaged in subversive activity or sabotage;

(e) epidemics or quarantine restrictions; (f) strikes,
slow-downs, lockouts or labour stoppages or disputes of
any kind or freight embargoes; (g) any shortfall, delay or
failure to supply by any of ITW’s suppliers; or (h) any other
cause or event whatsoever which is beyond the control
and without the fault or negligence of ITW.

9.2 Inthe event of a failure by ITW to comply with a Contract,
unless ITW advises the Customer that it is able to make
alternative arrangements, the Customer shall be entitled
to obtain the Products contracted for supply elsewhere for
the duration of such failure.

Loss or damage in transit

10.1 The Seller is not responsible to the Buyer or any person
claiming through the Buyer for any loss or damage to
goods after the Goods have been received by the Buyer,
including any loss or damage caused by any event of
any kind by any person (whether or not the Seller is
otherwise legally responsible for the person who caused
or contributed to that loss or damage).

Title and Risk
111 Title in and to all Products delivered to the Customer will
remain with ITW and will not pass to the Customer until
such time as the Products have been paid for in full.
11.2 Risk in and to Products will pass to the Customer upon
delivery of the Products to the Customer.
11.3  Until ITW has received payment in full for Products:
(a) the Customer holds the Products as bailee for ITW;
(b) the Customer shall safely and securely store the
Products separately from the other goods on the
premises of the Customer in such a manner as to show
clearly that the Products are the property of ITW;
(c) ITW has a security interest in the Products;
(d) the Customer shall, upon request from ITW, deliver up
such Products to ITW (or as directed by ITW);

o
=]
=
=
=
S
=
77
=)
=
»
>
-
m




L
—
<t
7
L
o
%)
=
=
=
=)
=
o
o

(e) representatives of ITW will be entitled and permitted
at any time to enter any place where the Products are
situated to repossess the Products, and to remove
the Products from any vessel or vehicle and for this
purpose ITW is hereby appointed as the Customer’s
agent. The Customer agrees to indemnify ITW and
keep ITW indemnified against all costs incurred by
ITW in removing the Products and against losses, and
liabilities incurred by, and any claims against, ITW in
removing the Products and arising from such removal;
and

(f) if the Products in part or in full are mixed with the
Products that have been paid for, the Customer bears
the onus of proving that the Products in its possession
(whether mixed with other goods or not) have been
paid for in full by the Customer. If the Customer is
unable to prove, to the satisfaction of ITW that the
goods identified as ITW goods have been paid for in
full, then those goods shall be deemed to relate to
unpaid invoices outstanding from time to time and
are deemed to be the property of ITW. ITW reserves
the right to repossess those goods without having to
prove that the goods relate to specific unpaid invoices
outstanding at the time of repossession.

Breach and Insolvency

121

12.2

If:

a) the Customer fails to comply strictly with the terms of
a Contract;

b) an application or order is made, a resolution is made

or proposed or other steps are taken for the winding

up, dissolution, official management or voluntary
administration of the Customer (other than a voluntary
liquidation for the purpose of amalgamation or
reconstruction); or

the Customer enters into any arrangement,

compromise or composition or assignment for the

benefits of its creditors or any class of them;
areceiver, a receiver and manager, administrator

or other officer is appointed to the Customer or

any part of its property, or a third party attempts to

levy execution against the Customer’s property or

the goods;

the Customer ceases, suspends or threatens to cease

or suspend the conduct of its business or disposes of

or threatens to dispose of its assets other than in the
ordinary course of business;

f) the Customer is or is deemed (including under any
applicable law) unable to pay its debts as and when
they fall due, or stops or suspends the payments of
its debts;

g) in the case of the Customer being a natural person, the
Customer commits an act of bankruptcy; or

h) ITW is of the view, acting reasonably, that any of the
above will or are likely to occur,

ITW may (without limiting or otherwise prejudicing any

other rights it may have) at any time terminate any

and all Contracts between ITW and the Customer and

refuse to supply any and all Products to the Customer.

The Customer agrees to indemnify ITW (and keep ITW

indemnified) against loss, cost or expense and other

liability (including but not only legal expenses of any
nature and payable to or on behalf of any person) suffered

or incurred by ITW in connection with any breach of a

Contract by the Customer.

C

~

d

~

€

~

Customer Warranties

13.1

The Customer:
a) warrants to ITW that it has read and understood these
Terms and Conditions;

13.2

13.3

13.4

b) warrants to ITW that all information supplied by or
behalf of it to ITW in connection with the supply of
Products is true and accurate and not misleading;
warrants that it has not relied on any representation or
statement made by or on behalf of ITW in connection
with the supply of Products that has not been clearly
and expressly stated in the Contract;

acknowledges that ITW has relied on the information
supplied by or on behalf of the Customer to it in
supplying the Products; and

warrants that the supply of the Products by ITW to the
Customer, and the use of Products by the Customer,
will not make ITW liable to any prosecution, claim or
other action under any applicable law.

The Customer indemnifies ITW and holds ITW harmless
against all fines, penalties, damages, loss, costs or
expenses (including but not only legal expenses of any
nature and payable to or on behalf of any person) suffered
or incurred by ITW in connection with any breach of the
warranties of the Customer set out in these Terms and
Conditions.

Without limiting the liability of the Customer under the
indemnity above, ITW may at its sole discretion by itself

or in conjunction with the Customer defend, settle or
compound any action, suit, proceeding, claim or demand
brought or made against it by any person in connection
with any breach of the warranties given by the Customer
under these Terms and Conditions and the Customer
agrees that the indemnity extends to any cost or expense
incurred by ITW in conducting that defence or in settling or
compounding the action, suit, proceeding, claim or demand.
ITW reserves the right to refuse to do or to omit to do
anything, or to refuse to comply with any request or
direction of the Customer, which in the reasonable opinion
of ITW would constitute or result in a breach of any
warranty given by the Customer under these Terms and
Conditions or a breach by the Customer of a Contract.

C

~

d

~

€

~

Intellectual Property

141

14.2

All drawings, know-how, designs, specifications,
inventions, devices, developments, processes, copyrights
and other information or industrial or intellectual property
disclosed or otherwise provided to the Customer by ITW
or otherwise subsisting in the Products and all rights
therein (collectively Intellectual Property) will remain
the property of ITW and will be kept confidential by the
Customer. The Customer shall have no claim to, nor
ownership interest in, any Intellectual Property. The
Customer acknowledges that no license or rights of

any sort are granted to the Customer in respect of any
Intellectual Property, other than the limited right to use
Products purchased from ITW for the purpose they are
supplied by ITW.

The Customer warrants that any Products manufactured,
constructed or supplied by ITW which are based in
whole or in part upon designs, drawings, specifications
or information supplied to ITW by or on behalf of the
Customer shall not infringe any letters, patents or
registered designs or any other industrial or intellectual
property rights of any person.

Confidential Information

15.1

All information furnished or made available by ITW to the
Customer in connection with the subject matter of these
Terms and Conditions or the supply of Products shall be
held in the strictest confidence by the Customer. The
Customer agrees not to use such information or disclose
such information to others without ITW’s prior written
consent. The obligations in this paragraph will not apply
to any information which:



a) at the time of disclosure was or thereafter becomes,
generally available to the public by publication or
otherwise through no breach by the Customer of any
obligation herein;

b) the Customer can show by written records was in the
Customer’s possession prior to disclosure by ITW; or

¢) is legally made available to the Customer by or through
a third party having no direct or indirect confidentiality
obligation to ITW with respect to such information.

Limitation of Liability

16.1

16.2

16.3

16.4

Except as expressly provided to the contrary in writing in a
Contract: (a) ITW gives and makes no warranty in respect
of the Products; and (b) all conditions and warranties
implied at law (whether by statute, common law, equity or
otherwise) are (to the extent permitted by law) expressly
excluded from the Contract.
If any statute implies any term, condition or warranty
into a Contract, and that statute prohibits provisions
in a contract excluding or modifying the application of,
exercise of, or liability under, such a term, condition
or warranty, then that term, condition or warranty will
be taken to be included in the Contract. However, the
liability of ITW for any breach of such a term, condition or
warranty will be limited, if permitted by the statute, at the
option of ITW, to any one or more of the following:
a) if the breach relates to goods:
i. the replacement of the goods, the supply of
equivalent goods or the repair of the goods; or
il. to the extent required by the relevant statute, the
payment of the cost of replacing the goods or of
acquiring equivalent goods or the cost of having the
goods repaired; and
b) if the breach relates to services:
i. the supplying of the services again; or
il. to the extent required by the relevant statute,
the payment of the cost of having the services
supplied again.
ITW will not be responsible for any failure to supply
Products on the date agreed between the parties and the
Customer is not entitled to cancel any order as a result of
that failure.
To the extent permitted by law, and except as otherwise
expressly agreed in writing as part of a Contract, ITW will
not be liable for any personal injury, incidental damages,
consequential losses, loss of profit, costs of business
interruption, loss of opportunities or any other loss,
damage, cost, expense or liability whatsoever arising from
any use of, or incidental to, the Products or their use, or
arising out of ITW’s negligence or breach of a Contract.

Governing Law

171

Prices

18.1

18.2

18.3

These Terms and Conditions are governed by and
construed in accordance with the laws of the State of
Victoria, Australia (regardless of the place in which the
Products are to be delivered). The Customer submits to
the jurisdiction of the courts of the State of Victoria and of
the courts competent to hear appeals from the courts of
that State.

Unless otherwise stated all prices quoted by the Seller are
net, exclusive of Goods and Services Tax (GST) and any
other taxes related to the Goods.

Prices quoted are those ruling at the date of issue of
quotation or invoice and are based on rates of freight,
insurance, customs duties, exchange, shipping expenses,
sorting and stacking charges, cartage, cost of materials
and other charges affecting the cost ruling on the date.

If the Seller makes any alterations to the price of the
Goods or to any of their inputs either before acceptance

18.4

18.5

of or during the currency of these terms and conditions,
these alterations are for the Buyer’s account.

The Buyer will bear all liability for GST and other taxes
related to the Goods and shall not require the Seller to
pay to the Buyer any amount on account of GST and other
taxes related to the Goods. In addition the Seller will be
entitled to recover from the Buyer any GST and other taxes
related to the Goods paid or payable by it in respect to the
sale of the Goods.

Any “Suggested Retail” prices (including GST) act as a
guide only. There is no obligation to use this price. The
Buyer is free to quote (and use) this price or to set a retail
price they wish.

Payment

19.1

19.2

19.3

19.4

19.5

19.6

Except to the extent otherwise agreed in writing, the
purchase price in relation to Goods is payable on or before
the 30th day of the month following the invoicing of the
goods unless other terms of payment are expressly stated
in these conditions in writing.

Should the Buyer default in the payment of any monies
due to the Seller then all monies shall immediately
become due and payable, shall be paid by the Buyer
within 7 days of demand and shall attract interest at the
rate of 2% flat per month to be calculated on all overdue
amounts from the date of due payment until the date of
actual payment. If it becomes necessary to institute legal
proceedings to recover underpaid debts to this company,
to the extent permitted by law, all discounts showing on
unpaid invoices become null and void and the total list
prices showing become payable.

Any expenses costs or disbursements incurred by the
Seller in recovering any outstanding monies, including all
reasonable debt collection fees and solicitors costs and
legal disbursements shall be paid by the Buyer.

The Seller shall be entitled without notice to terminate any
credit arrangement with the Buyer in the event of the Buyer
defaulting in any of the terms and conditions contained in
these terms and conditions or for any other reason which
the Seller need not make known to the Buyer.

The Seller shall be entitled at any time to request such
security or additional security as it shall in its discretion
think fit and shall be entitled to withhold supply of the
Goods or any credit arrangement until such security or
additional security is provided.

The Seller may refuse to accept orders under this
Agreement (or charge a surcharge for future orders) at the
Seller’s sole discretion, including if the Buyer’s account

is overdue, if the Buyer requests cash on delivery or cash
sales, if the Buyer orders with a pre-tax value of under
$150.00, or if the Buyer’s total annual purchases total less
than $10,000.00 (excluding taxes).

Security Interest

20.1

20.2

ITW and the Customer acknowledge that following the

commencement of the Personal Property Securities Act

2009 (Cth) (PPSA), the following provisions will apply

to this agreement. Unless otherwise stated, a term

contained in these Terms and Conditions that is defined in

the PPSA (but not otherwise defined in these Terms and

Conditions) has the meaning given to it in the PPSA.

In consideration for ITW supplying Products to the

Customer under these Terms and Conditions, the Customer:

a. agrees to treat the security interest created under these
Terms and Conditions as a continuing and subsisting
security interest in the relevant Products with priority
over any registered or unregistered general (or other)
security and any unsecured creditor (even if the
Products become fixtures before paid for in full);

b. grants to ITW a purchase money security interest
(PMSI);

o
=]
=
=
=
S
=
77
=)
m
»
>
-
m




L
—
<t
7
L
o
%)
=
=
=
=)
=
o
o

c¢. agrees that the PMSI granted herein will continue to
apply to any goods coming into existence or proceeds
of sale of Products or goods coming into existence;

d. agrees that the PMSI has attached to all Products now
or in the future supplied to the Customer by ITW; and

e. agrees, until title in the Products pass to it, to keep all
Products free and ensure all Products are kept free of
any charge, lien or security interest except as created
under these Terms and Conditions, and not otherwise
deal with Products in a way that will or may prejudice
any rights of ITW under these Terms and Conditions or
the PPSA.

20.3 ITW reserves the right to register a financing statement
under the PPSA in respect of the Products. Costs of
registering a financing statement (or a financing change
statement) will be paid by the Customer.

20.4 The Customer waives its right to receive a copy of any
financing statement, financing change statement or
verification statement that is or may be registered, issued
or received at any time.

20.5 The Customer irrevocably grants ITW the right to enter any
premises or property (without notice) and without being
in any way liable to the Customer or any other person if
ITW has cause to exercise any of its rights under the PPSA
(and the Customer will indemnify ITW against any such
liability).

20.6 It is agreed that the Customer hereby waives its rights
under such sections of the PPSA as are able to be
waived or excluded by agreement, including the following
sections of the PPSA: section 95 (notice of removal of an
accession) to the extent that it requires the secured party
to give a notice to the grantor; section 96 (when a grantor
may retain an accession); section 123 (right to seize
collateral); section 125 (obligation to dispose of or retain
collateral); section 126 (apparent possession); section
128 (secured party may dispose of collateral); section 129
(disposal by purchase); section 130 (notice of disposal) to
the extent that it requires the secured party to give notice
to the grantor; paragraph 132(3)(d) (contents of statement
of account after disposal); subsection 132(4) (statement
of account if no disposal); subsection 134(1) (retention of
collateral); section 135 (notice of retention); section 142
(redemption of collateral); and section 143 (reinstatement
of security agreement.

Storage

21.1 The Seller reserves the right to make a reasonable charge
for storage if delivery instructions are not provided by the
Buyer within 14 days of a request by the Seller for such
instructions. The parties agree that the Seller may charge
for storage from the first day after the Seller requests the
Buyer to provide delivery instructions.

Returned goods

221 The Seller is not under any duty to accept goods returned
by the Buyer and will do so only on terms to be agreed in
writing in each individual case.

22.2 |If the Seller agrees to accept returned Goods the Buyer
must return the Goods to the Seller at the Seller’s place
of distribution. Any return of Goods shall be at the Buyer’s
entire risk as to loss or damage. Where the Seller agrees
to accept Goods for return, the Seller may charge a
pre-negotiated, or other reasonable restocking charge.

22.3 Acceptance of Goods delivered by the Seller shall be
deemed for all purposes to have taken place at the
expiration of 7 days from the date of each delivery.

22.4 TO THE EXTENT PERMITTED BY LAW, EXCEPT TO THE
EXTENT AGREED BY THE SELLER, NO GOODS WILL BE
ACCEPTED WITHOUT A RETURN AUTHORITY NUMBER
FROM THE SELLER (INVOICE NUMBER AND DATE ARE
REQUIRED ON ALL CLAIMS). IF THE INVOICE NUMBER
CANNOT BE QUOTED, goods will be credited at ITW
Proline current lowest catalogue price, less 20%. To
the extent permitted by law, Goods cannot be accepted
back by the Seller unless the Seller has received
prior notification, either by advising our office or our
representative, and the returned Goods must be in their
original packaging, not shop-soiled, and be current
catalogue items. At that time the Seller will advise the
mode of transport acceptable to the Seller. Except to the
extent otherwise agreed to by the Seller, freight will not be
paid by the Seller.

22.5 Goods returned by the Buyer by means other than those
nominated by the Seller.

22.6 Goods returned in an unsaleable condition - (ie, other than
as required under paragraphs (a) to (d) above) cannot be
accepted back for credit and will be returned “freight on”
to the Buyer.

Goods sold

23.1 The parties agree that all Goods that are required to be
supplied by the Seller to the Buyer under this Agreement
are as described in the Seller’s Quotation, catalogue
or on the Invoice (or as otherwise agreed in writing
between the Seller and the Buyer). The parties agree
that this description of the Goods prevails over any other
requirements of the Buyer (including any descriptions
of the Goods by the Buyer and any specification of, or
enquiries by, the Buyer).

Cancellation

24.1 No order may be cancelled except with the Seller’s
consent in writing and on terms which will indemnify the
Seller against all losses.

Place of contract

25.1 The parties agree that this Agreement is governed by the
laws of New South Wales, and agree to submit all disputes
arising between them to the courts of New South Wales.

IT/PROLINE

Hardware Solutions




Contents

Conditions of Sale

Content

How to use your ITW Proline Catalogue

Zenith® Fasteners
Bolts, Nuts, Washers — Boxed & Threaded Rods - Bundled
Bolts & Nuts & Rods Whitworth Thread
Bolts & Nuts, Rods, Couplers & Square Washers Metric Thread
Bolts & Nuts Metric Thread

Specialty Fasteners
C A MOM Bolts & Nuts - Countersunk & Round Head

HIDDEN DECK FASTENING SYSTEM Bolts & Nuts — Mushroom Head & Hex Head
Whitworth & Metric Nuts & Washers
Split Pins

Metric Bolts & Nuts
Snap Fasteners
Screws

Wood Screws

Longthread Screws
Hinge Screws
Chipboard Screws Needle Point
Treated Pine Screws Needle Point

Timber Screws Type 17 Point
Wafer Head Timber Screws

Bugle Head Batten
Decking Screws Type 17
Quickshot™ Self Drilling Decking Screw
Camo Hidden Deck Fastening System™
Camo Collated Screws for use with Camo Drive Tool

Type 17 Timber Screws
Timber Screws Type 17 Point with EPDM Dome Washer
Dome Washer EPDM

Timber Screws Stitching Needle Point

Self Tapping Screws
Metal Screws Drill Point
Plasterboard Screws Needle Point
Plasterboard Screws Drill Point,

42

DIY Square Bucket Assortment — Timber Screws — All Purpose Needle Point 42

Wall Plugs
® Blind Rivets

Paslode® Loose Nails
Bullet Head Nails
Flat Head Nails
Decking Nails
Sheeting Nails
Timber Connector Nails
Clout Nails
Specialty Nails

Index

Alpha Product Index

Please note: See page 59 for
explanations of abbreviations
used throughout this catalogue.

42
43

45
47
48
48
49
50
50

52
53

]
(=]
—
|
m
—
—
2]




How to use your
Zenith Fasteners Catalogue

© @ ®

o e

®

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aTy TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT! BARCODE

Ll . TIMBER SCREWS TYPE 17 POINT
8 H , HEX WASHER HEAD W/SEAL — HEX DRIVE - CLASS 3 ®
— EDG7625 SCWT17HX SL C3 10-12 X 25 SP15 9310086504042 5 PAC | 9310086504042 PAC
E EDG7725 SCWT17HX SL C3 12-11 X 25 SP15 9310086504066 5 PAC | 9310086504066 PAC
s CVM7725 SCWT17 HX SL C3 12-11 X 25 PBX50 9310086614604 5 PBX | 9310086614604 PBX
(7] CVM7825 SCWT17 HX SL C3 14-10 X 25 PBX50 9310086945135 5 PBX | 9310086945135 PBX
E CBM7725 SCWT17H X SL C3 12-11 X 25 BX100 9310086662582 1 BOX | 9310086662582 BOX
E CBV7725 SCWT17 HX SL C3 12-11 X 25 BX500 9310086662681 1 BOX | 9310086662681 BOX
5 EDG7730 SCWT17HX SLC312-11 X 30 SP10 9310086964808 5 PAC | 9310086964808 PAC
E CVM7730 SCWT17 HX SL C3 12-11 X 30 PBX50 9310086945128 5 PBX | 9310086945128 PBX
- EDG7745 SCWT17HX SLC312-11 X 45 SP10 9310086504257 5 PAC | 9310086504257 PAC
l: CVM7745 SCWT17 HX SL C3 12-11 X 45 PBX50 9310086614611 5 PBX [ 9310086614611 PBX
E CBM7745 SCWT17H X SL C3 12-11 X 45 BX100 9310086662605 1 BOX | 9310086662605 BOX
N CBV7745 SCWT17 HX SL C3 12-11 X 45 BX500 9310086662698 1 BOX | 9310086662698 BOX
g EDG7850 SCWT17 HX SL C3 14-10 X 50 SP6 9310086504318 5 PAC | 9310086504318 PAC
g EDG7750 SCWT17HX SL C3 12-11 X 50 SP8 9310086504264 5 PAC | 9310086504264 PAC
L CVM7850 SCW T17 HX SL C3 14-10 X 50 PBX25 9310086614642 5 PBX | 9310086614642 PBX
g CVM7750 SCWT17HX SL C3 12-11 X 50 PBX50 9310086614628 5 PBX [ 9310086614628 PBX
o CBM7750 SCWT17HX SL C3 12-11 X 50 BX100 9310086662612 1 BOX | 9310086662612 BOX
— CBV7750 SCWT17 HX SL C3 12-11 X 50 BX500 9310086662704 1 BOX | 9310086662704 BOX
% CBV7850 SCWT17 HX SL C3 14-10 X 50 BX500 9310086563162 1 BOX | 9310086563162 BOX
== CBW7750 SCWT17HX SL C3 12-11 X 50 BX1000 9310086563155 1 BOX | 9310086563155 BOX

1 Diagram, drawing or photograph of product. 8 Order Unit pack type.

2 Section heading. 9 Retail Unit bar code.

3 Product feature, additional information. 10 Retail Unit pack type.

4 Order Unit (catalogue) number. For more information see your

5 Order Unit description. ITW Proline Product Representative
6 Order Unit bar code. or Customer Service Department.

7 Order quantity multiple - The minimum order

quantity. Orders must be placed in multiples
of the ‘Order Unit Multiple’.



ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE muLT' BARCODE

BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED
BOLTS & NUTS & RODS WHITWORTH THREAD

1/4" GUP HEAD - ZINC PLATED STEEL - AS B108

BAAOD40  BOLT/N CUP ZP 1 1/2 X 1/4 BX50 9310086902473 1 BOX |9310086304727  EA
BAAOD50  BOLT/N CUP ZP 2 IN X 1/4 BX50 9310086902480 1 BOX |[9310086304741  EA
BAAOO75  BOLT/N CUP ZP 3 IN X 1/4 BX50 9310086902503 1 BOX |[9310086304772  EA
BAAOT00  BOLT/N CUP ZP 4 IN X 1/4 BX50 9310086902527 1 BOX |9310086304796  EA
5/16" CUP HEAD - ZINC PLATED STEEL - AS B108

BABOO50  BOLT/N CUP ZP 2 IN X 5/16 BX50 9310086902602 1  BOX |9310086304895  EA
BABOO60  BOLT/N CUP ZP 2 1/2X 5/16 BX50 9310086902619 1 BOX |9310086304918  EA
BAB0075  BOLT/N CUP ZP 3 IN X 5/16 BX50 9310086902626 1 BOX |9310086304925  EA
BABO100  BOLT/N CUP ZP 4 IN X 5/16 BX50 9310086902640 1 BOX [9310086304949  EA
BABO125  BOLT/N CUP ZP 5 IN X 5/16 BX50 9310086902664 1 BOX |9310086304963  EA
3/8" CUP HEAD - ZINC PLATED STEEL — AS B108

BAC0050 BOLT/N CUP ZP 2 IN X 3/8 BX50 9310086902701 1 BOX |9310086305021  EA
BAC0060  BOLT/N CUP ZP 2 1/2 X 3/8 BX50 9310086902718 1 BOX |9310086305052  EA
BAC0075  BOLT/N CUP ZP 3 IN X 3/8 BX50 9310086902725 1 BOX |[9310086305069  EA
BACO090  BOLT/N CUP ZP 3 1/2 X 3/8 BX50 9310086902749 1 BOX |[9310086305076  EA
BACO100  BOLT/N CUP ZP 4 IN X 3/8 BX50 9310086902756 1 BOX |9310086305083  EA
BACO115  BOLT/N CUP ZP 4 1/2 X 3/8 BX50 9310086902763 1 BOX |[9310086305090  EA
BACO125  BOLT/N CUP ZP 5 IN X 3/8 BX50 9310086902770 1 BOX |9310086305106  EA
BACO150  BOLT/N CUP ZP 6 IN X 3/8 BX50 9310086902794 1 BOX |9310086305120  EA
BACO175 BOLT/N CUP ZP 7 IN X 3/8 BX25 9310086902817 1 BOX |9310086305144  EA
BAC0200  BOLT/N CUP ZP 8 IN X 3/8 BX25 9310086902831 1 BOX |9310086305168  EA
1/2" CUP HEAD - ZINC PLATED STEEL — AS B108

BAD0O75 BOLT/N CUP ZP 3 IN X 1/2 BX25 9310086902016 1 BOX |9310086305359  EA
BAD0100  BOLT/N CUP ZP 4 IN X 1/2 BX25 9310086902930 1 BOX |9310086305373  EA
BADO125 BOLT/N CUP ZP 5 IN X 1/2 BX25 9310086902054 1 BOX |9310086305397  EA
BADO150  BOLT/N CUP ZP 6 IN X 1/2 BX25 9310086902978 1 BOX |9310086305410  EA
BADO175 BOLT/N CUP ZP 7 IN X 1/2 BX25 9310086902992 1 BOX |9310086305434  EA
BAD0200  BOLT/N CUP ZP 8 IN X 1/2 BX25 9310086903012 1 BOX |9310086305458  EA
1/4" HEX HEAD - ZINC PLATED STEEL — AS 2451

BBAO025  BOLT/N HEX ZP 1IN X 1/4 BX50 9310086903081 1 BOX |9310086306592  EA
BBAOO40  BOLT/N HEX ZP 1 1/2 X 1/4 BX50 9310086903098 1 BOX |9310086306615  EA
BBAO050  BOLT/N HEX ZP 2 IN X 1/4 BX50 9310086903104 1 BOX |9310086306622  EA
BBAOO75  BOLT/N HEX ZP 3 IN X 1/4 BX50 9310086903128 1 BOX |9310086306653  EA
BBAO100  BOLT/N HEX ZP 4 IN X 1/4 BX50 9310086903142 1 BOX |9310086306677  EA
5/16" HEX HEAD - ZINC PLATED STEEL — AS 2451

BBB0025 BOLT/N HEX ZP 1 IN X 5/16 BX50 9310086903203 1 BOX |9310086306738  EA
BBBOO40  BOLT/N HEX ZP 1 1/2X 5/16 BX50 9310086903210 1 BOX |9310086306752  EA
BBBOO50  BOLT/N HEX ZP 2 IN X 5/16 BX50 9310086903227 1 BOX |9310086306769  EA
BBBOOBO  BOLT/N HEX ZP 2 1/2X 5/16 BX50 9310086903241 1 BOX |9310086306783  EA
BBBOO75  BOLT/N HEX ZP 3 IN X 5/16 BX50 9310086903258 1 BOX |9310086306790  EA
BBBO100  BOLT/N HEX ZP 4 IN X 5/16 BX50 9310086903272 1 BOX |9310086306820  EA
BBBO125 BOLT/N HEX ZP 5 IN X 5/16 BX50 9310086903206 1 BOX |9310086306844  EA

1. Place orders in “order quantity multiples”.

@37aNN9 — SA0Y 3AYIYHL ® 3IX09 — SHIHSYM ‘SLNN ‘SL109



BOLTS, NUTS, WASHERS — BOXED & THREADED RODS - BUNDLED

10

1. Place orders in “order quantity multiples”.

Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT (1104 TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT* BARCODE
BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED
3/8" HEX HEAD — ZINC PLATED STEEL - AS 2451
BBC0025 BOLT/N HEX ZP 1 IN X 3/8 BX50 9310086903319 1 BOX | 9310086306899 EA
BBC0040 BOLT/N HEX ZP 1 1/2 X 3/8 BX50 9310086903326 1 BOX |9310086306912 EA
BBC0050 BOLT/N HEX ZP 2 IN X 3/8 BX50 9310086903333 1 BOX | 9310086306929 EA
BBC0060 BOLT/N HEX ZP 2 1/2 X 3/8 BX50 9310086903340 1 BOX | 9310086306936 EA
BBC0075 BOLT/N HEX ZP 3 IN X 3/8 BX50 9310086903357 1 BOX | 9310086306950 EA
BBCO100 BOLT/N HEX ZP 4 IN X 3/8 BX50 9310086903388 1 BOX | 9310086306974 EA
BBC0125 BOLT/N HEX ZP 5 IN X 3/8 BX50 9310086903418 1 BOX |9310086306998 EA
1/2" HEX HEAD - ZINC PLATED STEEL - AS 2451
BBD0040 BOLT/N HEX ZP 1 1/2 X 1/2 BX25 9310086903449 1 BOX |9310086307148 EA
BBD0050 BOLT/N HEX ZP 2 IN X 1/2 BX25 9310086903456 1 BOX | 9310086307155 EA
BBD0075 BOLT/N HEX ZP 3 IN X 1/2 BX25 9310086903470 1 BOX |9310086307179 EA
BBDO100 BOLT/N HEX ZP 4 IN X 1/2 BX25 9310086903494 1 BOX | 9310086307193 EA
BBD0125 BOLT/N HEX ZP 5 IN X 1/2 BX25 9310086903517 1 BOX |9310086307216 EA
BBD0150 BOLT/N HEX ZP 6 IN X 1/2 BX25 9310086903524 1 BOX | 9310086307230 EA
1/4" GOACH SCREW — ZINC PLATED STEEL
BEA0040 COACH SCW ZP 1 1/2 X 1/4 BX50 9310086903555 1 BOX | 9310086307803 EA
BEA0075 COACH SCW ZP 3 IN X 1/4 BX50 9310086903586 1 BOX | 9310086307834 EA
5/16" COACH SCREW — ZINC PLATED STEEL
— BEB0040 COACH SCW ZP 1 1/2 X 5/16 BX50 9310086903616 1 BOX | 9310086307865 EA

BEB0050 COACH SCW ZP 2 IN X 5/16 BX50 9310086903623 1 BOX | 9310086307872 EA
BEB0100 COACH SCW ZP 4 IN X 5/16 BX50 9310086903661 1 BOX | 9310086307933 EA
3/8" COACH SCREW - ZINC PLATED STEEL
BEC0040 COACH SCW ZP 1 1/2 X 3/8 BX50 9310086903678 1 BOX | 9310086307940 EA
BEC0050 COACH SCW ZP 2 IN X 3/8 BX50 9310086903692 1 BOX | 9310086307957 EA
BECO060 COACH SCW ZP 2 1/2 X 3/8 BX50 9310086903708 1 BOX | 9310086307964 EA
BEC0075 COACH SCW ZP 3 IN X 3/8 BX50 9310086903722 1 BOX | 9310086307971 EA

/ FLAT WASHERS - 2.5KG ZINC PLATED STEEL

\ CFA2500  WASHER FLAT ZP PK 1/4 BX975 9310086509047 1 BOX | 9310086309043 EA
CFB2500 WASHER FLAT ZP PK 5/16 BX400 9310086509054 1 BOX | 9310086309050 EA
CFC2500 WASHER FLAT ZP PK 3/8 BX290 9310086509078 1 BOX |9310086309074 EA
CFD2500 WASHER FLAT ZP PK 1/2 BX140 9310086509092 1 BOX | 9310086309098 EA
CFF2500  WASHER FLAT ZP PK 5/8 BX95 9310086509115 1 BOX |9310086309111 EA
CFG2500 WASHER FLAT ZP PK 3/4 BX55 9310086581357 1 BOX |9310086381353 EA
HEXAGON NUTS - ZING PLATED STEEL - AS 2451
BHA0006  NUT HEX ZP 1/4 BX50 9310086903913 1 BOX |9310086307469 EA
BHA0008 NUT HEX ZP 5/16 BX50 9310086903920 1 BOX | 9310086307476 EA
BHA0010  NUT HEX ZP 3/8 BX50 9310086903937 1 BOX |9310086307483 EA
BHA0012  NUT HEX ZP 1/2 BX50 9310086903944 1 BOX | 9310086307490 EA
BHA0016  NUT HEX ZP 5/8 BX25 9310086903951 1 BOX |9310086381940 EA
BHA0018 NUT HEX ZP 3/4 BX25 9310086903968 1 BOX | 9310086381964 EA



1. Place orders in “order quantity multiples”.

Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT! BARCODE
BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED
THREADED ROD - ZINC PLATED
ATR2003  ROD THREADED ZP 24 X 3/16 9310086391437 20  ROD |9310086591431  ROD
ATR2004  ROD THREADED ZP 24 X 1/4 9310086391451 10  ROD |9310086591455  ROD
ATR2005  ROD THREADED ZP 24 X 5/16 9310086391468 10  ROD |9310086591462  ROD
ATR2006  ROD THREADED ZP 24 X 3/8 9310086391475 10  ROD |9310086591479  ROD
ATR2008  ROD THREADED ZP 24 X 1/2 9310086391482 6 ROD | 9310086591486  ROD
ATR2010  ROD THREADED ZP 24 X 5/8 9310086391499 5 ROD | 9310086591493  ROD
ATR2012  ROD THREADED ZP 24 X 3/4 9310086391505 5 ROD | 9310086591509  ROD
ATR3003  ROD THREADED ZP 36 X 3/16 9310086391512 20  ROD | 9310086591516  ROD
ATR3004  ROD THREADED ZP 36 X 1/4 9310086391529 10  ROD | 9310086591523  ROD
ATR3005 ROD THREADED ZP 36 X 5/16 9310086391543 10  ROD | 9310086591547  ROD
ATR3006  ROD THREADED ZP 36 X 3/8 9310086391550 10  ROD | 9310086591554  ROD
ATR3008  ROD THREADED ZP 36 X 1/2 9310086391567 6 ROD [ 9310086591561  ROD
ATR3010  ROD THREADED ZP 36 X 5/8 9310086391574 5 ROD |9310086591578  ROD
ATR3012  ROD THREADED ZP 36 X 3/4 9310086391598 5 ROD |[9310086591592  ROD
ATR4006  ROD THREADED ZP 48 X 3/8 9310086450356 5 ROD | 9310086650350  ROD
ATR4008  ROD THREADED ZP 48 X 1/2 9310086450363 5 ROD | 9310086650367  ROD
BOLTS & NUTS, RODS, COUPLERS & SQUARE WASHERS METRIC THREAD
M6 CUP HEAD — HOT DIP GALV - AS 1390
BSA0025 BOLT/N CUPMTRC HDG M6X25 BX50 9310086904101 1 BOX | 9310086358850 EA
BSA0030  BOLT/N CUPMTRC HDG M6X30 BX50 9310086904118 1 BOX | 9310086358959 EA
BSA0040  BOLT/N CUPMTRC HDG M6X40 BX50 9310086904125 1 BOX | 9310086358966 EA
BSA0050  BOLT/N CUPMTRC HDG M6X50 BX50 9310086904132 1 BOX | 9310086359963 EA
BSA0075  BOLT/N CUPMTRC HDG M6X75 BX50 9310086904156 1 BOX | 9310086360051 EA
BSA0100  BOLT/N CUPMTRC HDG M6X100 BX50 9310086904170 1 BOX | 9310086360686 EA
M8 CUP HEAD — HOT DIP GALV - AS 1390
BSB0025  BOLT/N CUPMTRC HDG M8X25 BX50 9310086904224 1 BOX | 9310086360723 EA
BSB0040  BOLT/N CUPMTRC HDG M8X40 BX50 9310086904231 1 BOX | 9310086360754 EA
BSB0050  BOLT/N CUPMTRC HDG M8X50 BX50 9310086904248 1 BOX | 9310086485280 EA
BSB0060  BOLT/N CUPMTRC HDG M8X60 BX50 9310086904255 1 BOX | 9310086361263 EA
BSB0070  BOLT/N CUPMTRC HDG M8X70 BX50 9310086904262 1 BOX | 9310086485297 EA
BSB0100  BOLT/N CUPMTRC HDG M8X100 BX50 9310086904286 1 BOX | 9310086485310 EA
BSB0120  BOLT/N CUPMTRC HDG M8X120 BX50 9310086904293 1 BOX | 9310086485327 EA
BSB0130  BOLT/N CUPMTRC HDG M8X130 BX50 9310086904309 1 BOX | 9310086486034 EA
BSB0150  BOLT/N CUPMTRC HDG M8X150 BX50 9310086904316 1 BOX | 9310086361362 EA
M10 CUP HEAD — HOT DIP GALV — AS 1390
BSC0050  BOLT/N CUPMTRC HDG M10X50 BX50 9310086904323 1 BOX | 9310086485358 EA
BSC0060 BOLT/N CUPMTRC HDG M10X60 BX50 9310086904330 1 BOX | 9310086485365 EA
BSC0075  BOLT/N CUPMTRC HDG M10X75 BX50 9310086904347 1 BOX | 9310086485372 EA
BSC0090  BOLT/N CUPMTRC HDG M10X90 BX50 9310086904361 1 BOX | 9310086485389 EA
BSC0100  BOLT/N CUPMTRC HDG M10X100 BX50 9310086904378 1 BOX | 9310086485396 EA
BSC0120  BOLT/N CUPMTRC HDG M10X120 BX50 9310086904385 1 BOX | 9310086485402 EA
BSC0130  BOLT/N CUPMTRC HDG M10X130 BX50 9310086904392 1 BOX | 9310086485419 EA
BSC0140  BOLT/N CUPMTRC HDG M10X140 BX50 9310086904408 1 BOX | 9310086485426 EA
BSC0150  BOLT/N CUPMTRC HDG M10X150 BX50 9310086904415 1 BOX | 9310086485433 EA
BSC0170  BOLT/N CUPMTRC HDG M10X170 BX50 9310086904422 1 BOX | 9310086485440 EA
BSC0180  BOLT/N CUPMTRC HDG M10X180 BX25 9310086904439 1 BOX | 9310086485457 EA
BSC0200 BOLT/N CUPMTRC HDG M10X200 BX25 9310086904446 1 BOX | 9310086485464 EA
BSC0220  BOLT/N CUPMTRC HDG M10X220 BX25 9310086904453 1 BOX | 9310086485488 EA
BSC0240  BOLT/N CUPMTRC HDG M10X240 BX25 9310086904460 1 BOX | 9310086485495 EA
BSC0260  BOLT/N CUPMTRC HDG M10X260 BX25 9310086904477 1 BOX | 9310086485518 EA
BSC0300 BOLT/N CUPMTRC HDG M10X300 BX25 9310086904484 1 BOX | 9310086485532 EA

@37aNN9 — SA0Y 3AYIYHL ® 3IX09 — SHIHSYM ‘SLNN ‘SL109

1



BOLTS, NUTS, WASHERS — BOXED & THREADED RODS - BUNDLED

12

1. Place orders in “order quantity multiples”.

Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED
M12 CUP HEAD - HOT DIP GALV — AS 1390
BSD0065 BOLT/N CUPMTRC HDG M12X65 BX25 9310086904507 1 BOX | 9310086485556 EA
BSD0075 BOLT/N CUPMTRC HDG M12X75 BX25 9310086904514 1 BOX | 9310086494442 EA
BSD0090  BOLT/N CUPMTRC HDG M12X90 BX25 9310086904538 1 BOX | 9310086485563 EA
BSD0100  BOLT/N CUPMTRC HDG M12X100 BX25 9310086904545 1 BOX | 9310086485570 EA
BSD0120  BOLT/N CUPMTRC HDG M12X120 BX25 9310086904552 1 BOX | 9310086485587 EA
BSD0130  BOLT/N CUPMTRC HDG M12X130 BX25 9310086904569 1 BOX | 9310086485594 EA
BSD0140  BOLT/N CUPMTRC HDG M12X140 BX25 9310086904576 1 BOX | 9310086485600 EA
BSD0150 BOLT/N CUPMTRC HDG M12X150 BX25 9310086904583 1 BOX | 9310086485617 EA
BSD0170  BOLT/N CUPMTRC HDG M12X170 BX25 9310086904590 1 BOX | 9310086485624 EA
BSD0180  BOLT/N CUPMTRC HDG M12X180 BX25 9310086904606 1 BOX | 9310086485631 EA
BSD0200  BOLT/N CUPMTRC HDG M12X200 BX25 9310086904613 1 BOX | 9310086485655 EA
BSD0220  BOLT/N CUPMTRC HDG M12X220 BX25 9310086904620 1 BOX | 9310086485662 EA
BSD0240  BOLT/N CUPMTRC HDG M12X240 BX25 9310086904637 1 BOX | 9310086485679 EA
BSD0260  BOLT/N CUPMTRC HDG M12X260 BX25 9310086904644 1 BOX | 9310086485686 EA
BSD0300  BOLT/N CUPMTRC HDG M12X300 BX25 9310086904675 1 BOX | 9310086485709 EA
M16 CUP HEAD - HOT DIP GALV — AS 1390
BSE0065  BOLT/N CUPMTRC HDG M16X65 BX20 9310086904705 1 BOX | 9310086494428 EA
BSE0100  BOLT/N CUPMTRC HDG M16X100 BX20 9310086904712 1 BOX | 9310086485730 EA
BSE0120  BOLT/N CUPMTRC HDG M16X120 BX20 9310086904729 1 BOX | 9310086485747 EA
BSE0150  BOLT/N CUPMTRC HDG M16X150 BX20 9310086904736 1 BOX | 9310086485754 EA
BSE0180  BOLT/N CUPMTRC HDG M16X180 BX20 9310086904743 1 BOX | 9310086485761 EA
BSE0200  BOLT/N CUPMTRC HDG M16X200 BX20 9310086904750 1 BOX | 9310086485778 EA
BSE0260  BOLT/N CUPMTRC HDG M16X260 BX20 9310086904774 1 BOX | 9310086485808 EA
M6 HEX HEAD — HOT DIP GALV - AS 1111
BTA0020  BOLT/N HEXMTRC HDG M6X20 BX50 9310086904798 1 BOX | 9310086361546 EA
BTA0025  BOLT/N HEXMTRC HDG M6X25 BX50 9310086904804 1 BOX | 9310086361621 EA
BTA0040  BOLT/N HEXMTRC HDG M6X40 BX50 9310086904811 1 BOX | 9310086361638 EA
BTA0050  BOLT/N HEXMTRC HDG M6X50 BX50 9310086904828 1 BOX | 9310086361706 EA
BTA0060  BOLT/N HEXMTRC HDG M6X60 BX50 9310086904842 1 BOX | 9310086361737 EA
BTA0075  BOLT/N HEXMTRC HDG M6X75 BX50 9310086904859 1 BOX | 9310086361843 EA
BTA0100  BOLT/N HEXMTRC HDG M6X100 BX50 9310086904873 1 BOX | 9310086361942 EA
BTA0150  BOLT/N HEXMTRC HDG M6X150 BX50 9310086904897 1 BOX | 9310086364882 EA
M8 HEX HEAD — HOT DIP GALV - AS 1111
BTB0020  BOLT/N HEXMTRC HDG M8X20 BX50 9310086904903 1 BOX | 9310086365346 EA
BTB0025  BOLT/N HEXMTRC HDG M8X25 BX50 9310086904910 1 BOX | 9310086365766 EA
BTB0040  BOLT/N HEXMTRC HDG M8X40 BX50 9310086904927 1 BOX | 9310086485839 EA
BTB0050  BOLT/N HEXMTRC HDG M8X50 BX50 9310086904934 1 BOX | 9310086365803 EA
BTB00O60  BOLT/N HEXMTRC HDG M8X60 BX50 9310086904941 1 BOX | 9310086365810 EA
BTB0075  BOLT/N HEXMTRC HDG M8X75 BX50 9310086904958 1 BOX | 9310086485846 EA
BTB0O090  BOLT/N HEXMTRC HDG M8X90 BX50 9310086904965 1 BOX | 9310086365933 EA
BTB0100  BOLT/N HEXMTRC HDG M8X100 BX50 9310086904989 1 BOX | 9310086485853 EA
BTB0120  BOLT/N HEXMTRC HDG M8X120 BX50 9310086904996 1 BOX | 9310086485860 EA
BTBO150  BOLT/N HEXMTRC HDG M8X150 BX50 9310086905016 1 BOX | 9310086367982 EA



ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE muLT' BARCODE

BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED

<IN

M10 HEX HEAD - HOT DIP GALV - AS 1111

BTC0040  BOLT/N HEXMTRC HDG M10X40 BX50 9310086905030 1 BOX | 9310086494459 EA
BTC0050  BOLT/N HEXMTRC HDG M10X50 BX50 9310086905047 1 BOX |9310086485877 EA
BTC0060  BOLT/N HEXMTRC HDG M10X60 BX50 9310086905054 1 BOX | 9310086485884 EA
BTC0075 BOLT/N HEXMTRC HDG M10X75 BX50 9310086905061 1 BOX | 9310086485891 EA
BTC0O100  BOLT/N HEXMTRC HDG M10X100 BX50 9310086905078 1 BOX |9310086485914 EA
BTC0120  BOLT/N HEXMTRC HDG M10X120 BX50 9310086905085 1 BOX | 9310086485921 EA
BTCO130  BOLT/N HEXMTRC HDG M10X130 BX50 9310086905092 1 BOX | 9310086485938 EA
BTC0150  BOLT/N HEXMTRC HDG M10X150 BX50 9310086905108 1 BOX | 9310086485969 EA
M12 HEX HEAD - HOT DIP GALV - AS 1111

BTD0050  BOLT/N HEXMTRC HDG M12X50 BX25 9310086905115 1 BOX | 9310086485976 EA
BTD0075 BOLT/N HEXMTRC HDG M12X75 BX25 9310086905122 1 BOX |9310086485983 EA
BTD0100  BOLT/N HEXMTRC HDG M12X100 BX25 9310086905139 1 BOX | 9310086485990 EA
BTD0120  BOLT/N HEXMTRC HDG M12X120 BX25 9310086905146 1 BOX | 9310086484559 EA
BTD0130  BOLT/N HEXMTRC HDG M12X130 BX25 9310086905153 1 BOX | 9310086484566 EA
BTD0150  BOLT/N HEXMTRC HDG M12X150 BX25 9310086905177 1 BOX | 9310086484580 EA
BTD0180  BOLT/N HEXMTRC HDG M12X180 BX25 9310086905184 1 BOX | 9310086484597 EA
BTD0200  BOLT/N HEXMTRC HDG M12X200 BX25 9310086905191 1 BOX |9310086484603 EA
M16 HEX HEAD - HOT DIP GALV - AS 1111

BTE0065  BOLT/N HEXMTRC HDG M16X65 BX25 9310086905214 1 BOX | 9310086484627 EA
BTE0075  BOLT/N HEXMTRC HDG M16X75 BX25 9310086905221 1 BOX |9310086484634 EA
BTE0100  BOLT/N HEXMTRC HDG M16X100 BX20 9310086905238 1 BOX | 9310086484641 EA
BTE0120  BOLT/N HEXMTRC HDG M16X120 BX20 9310086905245 1 BOX | 9310086484658 EA
BTEO150  BOLT/N HEXMTRC HDG M16X150 BX20 9310086905252 1 BOX |9310086484672 EA
BTE0200  BOLT/N HEXMTRC HDG M16X200 BX20 9310086905269 1 BOX | 9310086484689 EA
M20 HEX HEAD - HOT DIP GALV - AS 1111

BTF0150  BOLT/N HEXMTRC HDG M20X150 BX20 9310086905290 1 BOX | 9310086484733 EA
BTF0200  BOLT/N HEXMTRC HDG M20X200 BX20 9310086905306 1 BOX | 9310086484740 EA
BTFO300  BOLT/N HEXMTRC HDG M20X300 BX20 9310086905320 1 BOX | 9310086484764 EA
M6 COACH SCREW — HOT DIP GALV - AS 1393

BUA0025 COACH SCW MTRC HDG M6X25 BX50 9310086905344 1 BOX |9310086368651 EA
BUA0040 COACH SCW MTRC HDG M6X40 BX50 9310086905351 1 BOX | 9310086368705 EA
BUA0050  COACH SCW MTRC HDG M6X50 BX50 9310086905368 1 BOX | 9310086368736 EA
BUA0075 COACH SCW MTRC HDG M6X75 BX50 9310086905382 1 BOX | 9310086369542 EA
BUA0090 COACH SCW MTRC HDG M6X90 BX50 9310086905399 1 BOX | 9310086369559 EA
BUA0100  COACH SCW MTRC HDG M6X100 BX50 9310086905405 1 BOX | 9310086369566 EA
M8 COACH SCREW — HOT DIP GALV - AS 1393

BUB0040 COACH SCW MTRC HDG M8X40 BX50 9310086905412 1 BOX | 9310086369573 EA
BUB0050 COACH SCW MTRC HDG M8X50 BX50 9310086905429 1 BOX | 9310086369597 EA
BUB0060 COACH SCW MTRC HDG M8X60 BX50 9310086905436 1 BOX | 9310086369610 EA
BUB0075 COACH SCW MTRC HDG M8X75 BX50 9310086905443 1 BOX | 9310086484795 EA
BUB0090  COACH SCW MTRC HDG M8X90 BX50 9310086905450 1 BOX |9310086484801 EA
BUB0100 COACH SCW MTRC HDG M8X100 BX50 9310086905467 1 BOX | 9310086484818 EA
BUB0120  COACH SCW MTRC HDG M8X120 BX50 9310086905481 1 BOX | 9310086484825 EA
BUB0130 COACH SCW MTRC HDG M8X130 BX50 9310086905498 1 BOX |9310086484849 EA

1. Place orders in “order quantity multiples”.

@37aNN9 — SA0Y 3AYIYHL ® 3IX09 — SHIHSYM ‘SLNN ‘SL109

13



BOLTS, NUTS, WASHERS — BOXED & THREADED RODS - BUNDLED

14

1. Place orders in “order quantity multiples”.

Zeaigs 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
BOLTS, NUTS, WASHERS — BOXED & THREADED RODS — BUNDLED
[ | M10 COACH SCREW — HOT DIP GALV - AS 1393
BUC0040 COACH SCW MTRC HDG M10X40 BX50 9310086905511 1 BOX | 9310086484856 EA
BUC0050 COACH SCW MTRC HDG M10X50 BX50 9310086905528 1 BOX |[9310086484863 EA
BUC0060 COACH SCW MTRC HDG M10X60 BX50 9310086905535 1 BOX [9310086484870 EA
- BUC0075 COACH SCW MTRC HDG M10X75 BX50 9310086905542 1 BOX | 9310086484887 EA
=}
% BUC0090 COACH SCW MTRC HDG M10X90 BX50 9310086905559 1 BOX | 9310086484894 EA
=1
é: BUC0100 COACH SCW MTRC HDG M10X100 BX50 9310086905566 1 BOX | 9310086484900 EA
L
2, BUC0130 COACH SCW MTRC HDG M10X130 BX50 9310086905573 1 BOX |[9310086484917 EA
é BUC0150 COACH SCW MTRC HDG M10X150 BX50 9310086905580 1 BOX | 9310086484924 EA
2
% M12 COACH SCREW — HOT DIP GALV - AS 1393
BUD0050 COACH SCW MTRC HDG M12X50 BX25 9310086905597 1 BOX | 9310086494404 EA
BUD0075 COACH SCW MTRC HDG M12X75 BX25 9310086905603 1 BOX | 9310086484931 EA
BUDO100 COACH SCW MTRC HDG M12X100 BX25 9310086905610 1 BOX |9310086484948 EA
BUD0130 COACH SCW MTRC HDG M12X130 BX25 9310086905627 1 BOX | 9310086484955 EA
BUD0150 COACH SCW MTRC HDG M12X150 BX25 9310086905634 1 BOX | 9310086484962 EA
BUD0200 COACH SCW MTRC HDG M12X200 BX25 9310086905658 1 BOX | 9310086484986 EA
FLAT WASHERS — HOT DIP GALV
CEA0006  WASHER FLAT MTRC HDG M6 BX800 9310086569638 1 BOX | 9310086369634 EA
CEA0008 WASHER FLAT MTRC HDG M8 BX396 9310086684997 1 BOX | 9310086484993 EA
CEA0010  WASHER FLAT MTRC HDG M10 BX346 9310086685000 1 BOX | 9310086485006 EA
CEA0012  WASHER FLAT MTRC HDG M12 BX270 9310086685017 1 BOX |[9310086485013 EA
CEA0016 ~ WASHER FLAT MTRC HDG M16 BX180 9310086685031 1 BOX | 9310086485037 EA
CEA0020  WASHER FLAT MTRC HDG M20 BX150 9310086685048 1 BOX | 9310086485044 EA
HEXAGON NUTS - HOT DIP GALV - AS 1112
BRA0006  NUT HEX MTRC HDG M6 BX50 9310086904033 1 BOX 9310086369627 EA
BRA0008 NUT HEX MTRC HDG M8 BX50 9310086904057 1 BOX | 9310086485051 EA
BRA0010  NUT HEX MTRC HDG M10 BX50 9310086904064 1 BOX | 9310086485068 EA
BRA0012  NUT HEX MTRC HDG M12 BX50 9310086904071 1 BOX | 9310086485075 EA
BRA0016  NUT HEX MTRC HDG M16 BX20 9310086904088 1 BOX |9310086486010 EA
BRA0020 NUT HEX MTRC HDG M20 BX20 9310086904095 1 BOX | 9310086486027 EA
THREADED ROD - HOT DIP GALV
ATG1008 ROD THREADED HDG MTRC M8X1M 9310086360921 10 ROD | 9310086560925 ROD
ATG1010  ROD THREADED HDG MTRC M10X1M 9310086360938 10 ROD | 9310086560932 ROD
ATG1012  ROD THREADED HDG MTRC M12X1M 9310086360945 5 ROD | 9310086560949 ROD
ATG1016  ROD THREADED HDG MTRC M16X1M 9310086360952 5 ROD | 9310086560956 ROD
ATG1020 ROD THREADED HDG MTRC M20X1M 9310086360969 5 ROD | 9310086560963 ROD
ATG1208 ROD THREADED HDG MTRC M8X1.2M 9310086360976 10 ROD | 9310086560970 ROD
ATG1210 ROD THREADED HDG MTRC M10X1.2M 9310086360983 5 ROD | 9310086560987 ROD
ATG1212 ROD THREADED HDG MTRC M12X1.2M 9310086360990 5 ROD | 9310086560994 ROD
ATG1216  ROD THREADED HDG MTRC M16X1.2M 9310086361003 5 ROD | 9310086561007 ROD
\ COUPLERS - HOT DIP GALV
~ AMA0040 COUPLER GALV M10 X 40 BX50 9310086959118 1 BOX | 9310086859111 EA
\ AMB0040 COUPLER GALV M12 X 40 BX40 9310086959132 1 BOX | 9310086859135 EA
AMCO0050 COUPLER GALV M16 X 50 BX20 9310086959149 1 BOX |9310086859142 EA
SQUARE WASHERS - HOT DIP GALV
O ANA3838 SQWASHER GALV M10 38X38X3 BX80 9310086959156 1 BOX |9310086859159 EA
ANA5050 SQWASHER GALV M10 50X50X3 BX50 9310086959163 1 BOX | 9310086859166 EA
ANB5050 SQWASHER GALV M12 50X50X3 BX50 9310086959170 1 BOX | 9310086859173 EA
ANC5050 SQWASHER GALV M16 50X50X5 BX30 9310086959187 1 BOX [ 9310086859180 EA



2020

<IN

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT BARCODE
BOLTS, NUTS & WASHERS - POLYBOX
BOLTS & NUTS METRIC THREAD — FOR TREATED PINE
M10 CUP HEAD - TECH-SHIELD - AS 1390
BDCO075 BOLT/N CUPMTRC TS M10X75 BX50 9310086954144 1 BOX | 9310086854147 EA
BDCO100 BOLT/N CUPMTRC TS M10X100 BX50 9310086954151 1 BOX | 9310086854154 EA
M12 CUP HEAD — TECH-SHIELD - AS 1390
BDD0120  BOLT/N CUPMTRC TS M12X120 BX25 9310086954267 1 BOX | 9310086854260 EA
BDD0150 BOLT/N CUPMTRC TS M12X150 BX25 9310086954281 1 BOX |9310086854284 EA
BDD0200 BOLT/N CUPMTRC TS M12X200 BX25 9310086954304 1 BOX | 9310086854307 EA
M10 COACH SCREW — TECH-SHIELD - AS 1393
BVC0050 COACH SCW MTRC TS M10X50 BX50 9310086954526 1 BOX | 9310086854529 EA
BVC0075 COACH SCW MTRC TS M10X75 BX50 9310086954533 1 BOX | 9310086854536 EA
M12 COACH SCREW — TECH-SHIELD - AS 1393
BVD0100 COACH SCW MTRC TS M12X100 BX25 9310086954601 1 BOX | 9310086854604 EA
BVD0150 COACH SCW MTRC TS M12X150 BX25 9310086954618 1 BOX | 9310086854611 EA
FLAT WASHERS - TECH-SHIELD
CEBO010  WASHER FLAT MTRC TS M10 BX346 9310086954649 1 BOX | 9310086854642 EA
CEB0012  WASHER FLAT MTRC TS M12 BX270 9310086954656 1 BOX | 9310086854659 EA
HEXAGON NUTS — TECH-SHIELD — AS 1112
BRB0010  NUT HEX MTRC TS M10 BX50 9310086954670 1 BOX |9310086854673 EA
BRB0012  NUT HEX MTRC TS M12 BX50 9310086954687 1 BOX | 9310086854680 EA
BOLTS & NUTS METRIC THREAD — STAINLESS STEEL
M10 CUP HEAD — STAINLESS STEEL - DIN 603
BWC0075 BOLT/N CUPMTRC SS M10X75 BX20 9310086955196 1 BOX | 9310086854703 EA
BWC0100 BOLT/N CUPMTRC SS M10X100 BX20 9310086955202 1 BOX | 9310086854710 EA
M12 CUP HEAD — STAINLESS STEEL - DIN 603
BWD0120 BOLT/N CUPMTRC SS M12X120 BX20 9310086955288 1 BOX | 9310086854796 EA
BWDO0150 BOLT/N CUPMTRC SS M12X150 BX20 9310086955295 1 BOX | 9310086854802 EA

1. Place orders in “order quantity multiples”.

X09A10d — SHIHSYM 8 S1NN ‘S1109

15



2020

BOLTS, NUTS & WASHERS - POLYBOX

16

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
BOLTS, NUTS & WASHERS - POLYBOX

M10 HEX HEAD - STAINLESS STEEL - DIN 931
BXC0075  BOLT/N HEXMTRC SS M10X75 BX20 9310086955301 BOX | 9310086854819 EA
BXC0100  BOLT/N HEXMTRC SS M10X100 BX20 9310086955318 BOX | 9310086854826 EA
M12 HEX HEAD - STAINLESS STEEL - DIN 931
BXD0120  BOLT/N HEXMTRC SS M12X120 BX20 9310086955363 BOX | 9310086854888 EA
BXD0150  BOLT/N HEXMTRC SS M12X150 BX20 9310086955387 BOX | 9310086854895 EA
M10 COACH SCREW — STAINLESS STEEL - DIN 571
BZC0050 COACH SCW MTRC SS M10X50 BX20 9310086955448 BOX | 9310086854956 EA
BZC0075 COACH SCW MTRC SS M10X75 BX20 9310086955455 BOX | 9310086854963 EA
M12 COACH SCREW — STAINLESS STEEL - DIN 571

=

Z BZD0100 COACH SCW MTRC SS M12X100 BX20 9310086955516 BOX | 9310086855021 EA

-

%; BZD0150 COACH SCW MTRC SS M12X150 BX20 9310086955523 BOX | 9310086855038 EA

g

==

—

=

=

<
FLAT WASHERS — STAINLESS STEEL
CEC0010  WASHER FLAT MTRC SS M10 BX200 9310086955554 BOX | 9310086855052 EA
CEC0012  WASHER FLAT MTRC SS M12 BX100 9310086955561 BOX | 9310086855076 EA
HEXAGON NUTS — STAINLESS STEEL — DIN 934
BRCO010  NUT HEX MTRC SS M10 BX40 9310086955578 BOX | 9310086855083 EA
BRC0012  NUT HEX MTRC SS M12 BX40 9310086955585 BOX | 9310086855090 EA

1. Place orders in “order quantity multiples”.




Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT! BARCODE
BOLTS & NUTS — COUNTERSUNK & ROUND HEAD
COUNTERSUNK — PHILLIPS DRIVE — ZINC PLATED & SOLID BRASS
@ 'x\\\\\\\\\\\\\\\\\\\w1§.\\\\\\\\\\\\\\\\
EAH1212  BOLT & NUT ZP CS 1/8 X 12 SP30 9310086509610 5 PAC |9310086509610  PAC
EAH1616  BOLT & NUT ZP CS 3/16 X 15 SP25 9310086509665 5 PAC | 9310086509665  PAC
EAH1620  BOLT & NUT ZP CS 3/16 X 18 SP20 9310086509672 5 PAC |9310086509672  PAC
EAH1820  BOLT & NUT ZP CS 1/4 X 18 SP15 9310086509771 5 PAC | 9310086509771  PAC
EAH1225  BOLT & NUT ZP CS 1/8 X 25 SP25 9310086509788 5 PAC | 9310086509788  PAC
EAH1425 BOLT & NUT ZP CS 5/32 X 25 SP20 9310086509795 5 PAC |9310086509795  PAC
EAH1625 BOLT & NUT ZP CS 3/16 X 25 SP18 9310086509801 5 PAC |9310086509801  PAC
EAH1825 BOLT & NUT ZP CS 1/4 X 25 SP12 9310086509863 5 PAC |9310086509863  PAC
EAH1440  BOLT & NUT ZP CS 5/32 X 38 SP18 9310086509870 5 PAC |9310086509870  PAC
EAH1640  BOLT & NUT ZP CS 3/16 X 38 SP15 9310086509924 5 PAC |9310086509924  PAC
EAH1840  BOLT & NUT ZP CS 1/4 X 38 SP10 9310086509948 5 PAC |9310086509948  PAC
EAH1650  BOLT & NUT ZP CS 3/16 X 50 SP10 9310086509955 5 PAC |9310086509955  PAC
EAH1850  BOLT & NUT ZP CS 1/4 X 50 SP8 9310086509986 5 PAC |9310086509986  PAC
EAI1620  BOLT & NUT BR CS 3/16 X 18 SP8 9310086510005 5 PAC |9310086510005  PAC
EAI1225  BOLT & NUT BR CS 1/8 X 25 SP12 9310086510029 5 PAC |9310086510029  PAC
EAI1625  BOLT & NUT BR CS 3/16 X 25 SP6 9310086510036 5 PAC |9310086510036  PAC
EAI1440  BOLT & NUT BR CS 5/32 X 38 SP6 9310086510043 5 PAC |9310086510043  PAC
EAI1650  BOLT & NUT BR CS 3/16 X 50 SP4 9310086510067 5 PAC | 9310086510067  PAC
ROUND HEAD - SLOTTED / PHILLIPS DRIVE — ZINC PLATED & SOLID BRASS
@ @W EAJ1212  BOLT & NUT ZP RN 1/8 X 12 SP30 9310086510081 5 PAC |9310086510081  PAC
EAJ1616  BOLT & NUT ZP RN 3/16 X 15 SP25 9310086510135 5 PAC |9310086510135  PAC
EAJ1620  BOLT & NUT ZP RN 3/16 X 18 SP20 9310086510142 5 PAC |9310086510142  PAC
EAJ1820  BOLT & NUT ZP RN 1/4 X 18 SP15 9310086510180 5 PAC |9310086510180  PAC
EAJ1225  BOLT & NUT ZP RN 1/8 X 25 SP25 9310086510203 5 PAC |9310086510203  PAC
EAJ1425  BOLT & NUT ZP RN 5/32 X 25 SP20 9310086510234 5 PAC |9310086510234  PAC
EAJ1625 BOLT & NUT ZP RN 3/16 X 25 SP18 9310086510241 5 PAC |9310086510241  PAC
EAJ1825 BOLT & NUT ZP RN 1/4 X 25 SP12 9310086510258 5 PAC |9310086510258  PAC
EAJ1440  BOLT & NUT ZP RN 5/32 X 38 SP18 9310086510265 5 PAC |9310086510265  PAC
EAJ1640  BOLT & NUT ZP RN 3/16 X 38 SP15 9310086510289 5 PAC |9310086510289  PAC
EAJ1840  BOLT & NUT ZP RN 1/4 X 38 SP10 9310086510296 5 PAC |9310086510296  PAC
EAJ1650  BOLT & NUT ZP RN 3/16 X 50 SP10 9310086510302 5 PAC |9310086510302  PAC
EAJ1850  BOLT & NUT ZP RN 1/4 X 50 SP8 9310086510319 5 PAC |9310086510319  PAC
EAK1620  BOLT & NUT BR RN 3/16 X 20 SP8 9310086510326 5 PAC |9310086510326  PAC
EAK1225  BOLT & NUT BR RN 1/8 X 25 SP12 9310086510333 5 PAC |9310086510333  PAC
EAK1625  BOLT & NUT BR RN 3/16 X 25 SP6 9310086510340 5 PAC |9310086510340  PAC
EAK1440  BOLT & NUT BR RN 5/32 X 38 SP6 9310086510357 5 PAC |9310086510357  PAC
EAK1650  BOLT & NUT BR RN 3/16 X 50 SP4 9310086510371 5 PAC | 9310086510371  PAC

1. Place orders in “order quantity multiples”.




Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
ROUND & COUNTERSUNK HEAD — PHILLIPS DRIVE — 302 STAINLESS STEEL
@ 'Y///l//////////////l///IiV/l/////////////
EBU8625 BOLT & NUT SS CS 3/16 X 25 SP4 9310086510395 5 PAC |9310086510395  PAC
EBU8825  BOLT & NUT SS CS 1/4 X 25 SP2 9310086510401 5 PAC |9310086510401  PAC
EBU8650  BOLT & NUT SS CS 3/16 X 50 SP3 9310086510418 5 PAC |9310086510418  PAC
EBU8850  BOLT & NUT SS CS 1/4 X 50 SP2 9310086510425 5 PAC | 9310086510425  PAC
@ @W EBV8225 BOLT & NUT SS RN 1/8 X 25 SP6 9310086510449 5 PAC |9310086510449  PAC
EBV8625 BOLT & NUT SS RN 3/16 X 25 SP4 9310086510456 5 PAC |9310086510456  PAC
EBV8825  BOLT & NUT SS RN 1/4 X 25 SP2 9310086510463 5 PAC |9310086510463  PAC
EBV8650  BOLT & NUT SS RN 3/16 X 50 SP3 9310086510470 5 PAC |9310086510470  PAC
EBV8850  BOLT & NUT SS RN 1/4 X 50 SP2 9310086510487 5 PAC |9310086510487  PAC
BOLTS & NUTS — COUNTERSUNK HEAD — STAINLESS STEEL 316
@ )V//////////////////////EV///////////////
EBU1212  BOLT & NUT $$316 CSK M5 X 12 SP5 9310086981294 5 PAC |9310086981294  PAC
EBU1219  BOLT & NUT $$316 CSK M5 X 19 SP4 9310086981300 5 PAC |9310086981300  PAC
EBU1225 BOLT & NUT S$316 CSK M5 X 25 SP4 9310086981317 5 PAC |9310086981317  PAC
EBU1232  BOLT & NUT $$316 CSK M5 X 32 SP3 9310086981324 5 PAC |9310086981324  PAC
EBU1238  BOLT & NUT SS316 CSK M5 X 38 SP3 9310086981331 5 PAC |9310086981331  PAC
EBU1250  BOLT & NUT SS316 CSK M5 X 50 SP3 9310086981348 5 PAC |9310086981348  PAC
EBU1312  BOLT & NUT S$316 CSK M6 X 12 SP5 9310086981355 5 PAC |9310086981355  PAC
EBU1319  BOLT & NUT S$316 CSK M6 X 19 SP4 9310086981362 5 PAC |9310086981362  PAC
EBU1325 BOLT & NUT S$316 CSK M6 X 25 SP4 9310086981379 5 PAC |9310086981379  PAC
EBU1332  BOLT & NUT $S316 CSK M6 X 32 SP3 9310086981386 5 PAC |9310086981386  PAC
EBU1338  BOLT & NUT 55316 CSK M6 X 38 SP3 9310086981393 5 PAC |9310086981393  PAC
EBU1350  BOLT & NUT $S316 CSK M6 X 50 SP3 9310086981409 5 PAC |9310086981409  PAC
BOLTS & NUTS — ROUND HEAD — STAINLESS STEEL 316
@ @W EBV1012  BOLT & NUT SS316 RN M3X12 SP8 9310086981614 5 PAC |9310086981614  PAC
EBV1025 BOLT & NUT 5316 RN M3X25 SP6 9310086981621 5 PAC |9310086981621  PAC
EBV1212  BOLT & NUT $5316 RN M5X12 SP6 9310086981560 5 PAC |9310086981560  PAC
EBV1220  BOLT & NUT $S316 RN M5X20 SP6 9310086981577 5 PAC | 9310086981577  PAC
EBV1225  BOLT & NUT $S316 RN M5X25 SP5 9310086981584 5 PAC |9310086981584  PAC
EBV1235  BOLT & NUT SS316 RN M5X35 SP4 9310086981591 5 PAC |9310086981591  PAC
EBV1250  BOLT & NUT SS316 RN M5X50 SP4 9310086981607 5 PAC |9310086981607  PAC
EBV1312  BOLT & NUT SS316 RN M6X12 SP6 9310086981515 5 PAC |9310086981515  PAC
EBV1320  BOLT & NUT SS316 RN M6X20 SP6 9310086981522 5 PAC |9310086981522  PAC
EBV1325  BOLT & NUT $S316 RN M6X25 SP5 9310086981539 5 PAC |9310086981539  PAC
EBV1335  BOLT & NUT 5316 RN M6X35 SP4 9310086981546 5 PAC |9310086981546  PAC
EBV1350  BOLT & NUT SS316 RN M6X50 SP4 9310086981553 5 PAC |9310086981553  PAC
BOLTS & NUTS — MUSHROOM HEAD & HEX HEAD
@ MUSHROOM HEAD — SLOTTED / PHILLIPS DRIVE — ZINC PLATED
a H EAG1612  BOLT & NUT MUSH ZP 3/16 X 12 SP25 9310086510517 5 PAC |9310086510517  PAC
CWR1212 BOLT & NUT MUSH ZP 3/16X 12 PBX100 9310086531475 5 PBX |9310086531475  PBX
EAG1812  BOLT & NUT MUSH ZP 1/4 X 12 SP16 9310086510524 5 PAC |9310086510524  PAC
CWR1812 BOLT & NUT MUSH ZP 1/4 X 12 PBX50 9310086531550 5 PBX |9310086531550  PBX
EAG1616  BOLT & NUT MUSH ZP 3/16 X 15 SP25 9310086510548 5 PAC |9310086510548  PAC
CWR1215 BOLT & NUT MUSH ZP 3/16 X 15 PBX100 9310086981416 5 PBX |9310086981416  PBX
CWR1815 BOLT & NUT MUSH ZP 1/4 X 15 PBX50 9310086981423 5 PBX |9310086981423  PBX
EAG1816  BOLT & NUT MUSH ZP 1/4 X 16 SP15 9310086510579 5 PAC |9310086510579  PAC
EAG1620 BOLT & NUT MUSH ZP 3/16 X 18 SP22 9310086510593 5 PAC |9310086510593  PAC
CWR1220 BOLT & NUT MUSH ZP 3/16X 18 PBX100 9310086531482 5 PBX |9310086531482  PBX
EAG1820 BOLT & NUT MUSH ZP 1/4 X 18 SP14 9310086510609 5 PAC |9310086510609  PAC
CWR1820 BOLT & NUT MUSH ZP 1/4 X 18 PBX50 9310086531567 5 PBX |9310086531567  PBX
EAG1625 BOLT & NUT MUSH ZP 3/16 X 25 SP20 9310086510616 5 PAC |9310086510616  PAC

1. Place orders in “order quantity multiples”.




1. Place orders in “order quantity multiples”.

Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT! BARCODE
@ g H MUSHROOM HEAD — SLOTTED / PHILLIPS DRIVE — ZINC PLATED (cont.)
CWR1225 BOLT & NUT MUSH ZP 3/16 X 25 PBX100 9310086531499 5 PBX |9310086531499  PBX
EAG1825 BOLT & NUT MUSH ZP 1/4 X 25 SP12 9310086510630 5 PAC |9310086510630  PAC
CWR1825 BOLT & NUT MUSH ZP 1/4 X 25 PBX50 9310086531581 5 PBX |9310086531581  PBX
EAG1630 BOLT & NUT MUSH ZP 3/16 X 30 SP18 9310086510661 5 PAC | 9310086510661  PAC
CWR1230 BOLT & NUT MUSH ZP 3/16 X 30 PBX50 9310086531505 5 PBX |9310086531505  PBX
EAG1830 BOLT & NUT MUSH ZP 1/4 X 30 SP10 9310086510692 5 PAC | 9310086510692  PAC
CWR1830 BOLT & NUT MUSH ZP 1/4 X 30 PBX25 9310086531598 5 PBX |9310086531598  PBX
EAG1640 BOLT & NUT MUSH ZP 3/16 X 38 SP16 9310086510715 5 PAC |9310086510715  PAC
CWR1240 BOLT & NUT MUSH ZP 3/16 X 38 PBX50 9310086531512 5 PBX |9310086531512  PBX
EAG1840 BOLT & NUT MUSH ZP 1/4 X 38 SP10 9310086510739 5 PAC |9310086510739  PAC
CWR1840 BOLT & NUT MUSH ZP 1/4 X 38 PBX25 9310086531611 5 PBX |9310086531611  PBX
EAG1650 BOLT & NUT MUSH ZP 3/16 X 50 SP14 9310086510746 5 PAC |9310086510746  PAC
CWR1250 BOLT & NUT MUSH ZP 3/16 X 50 PBX50 9310086531529 5 PBX |9310086531529  PBX
EAG1850  BOLT & NUT MUSH ZP 1/4 X 50 SP10 9310086510753 5 PAC |9310086510753  PAC
CWR1850 BOLT & NUT MUSH ZP 1/4 X 50 PBX25 9310086531628 5 PBX |9310086531628  PBX
EAG1660 BOLT & NUT MUSH ZP 3/16 X 60 SP12 9310086510760 5 PAC |9310086510760  PAC
CWR1260 BOLT & NUT MUSH ZP 3/16 X 60 PBX50 9310086531536 5 PBX |9310086531536  PBX
EAG1860 BOLT & NUT MUSH ZP 1/4 X 60 SP8 9310086510777 5 PAC |9310086510777  PAC
CWR1860 BOLT & NUT MUSH ZP 1/4 X 60 PBX25 9310086531635 5 PBX |9310086531635  PBX
EAG1675 BOLT & NUT MUSH ZP 3/16 X 75 SP10 9310086510784 5 PAC |9310086510784  PAC
CWR1275 BOLT & NUT MUSH ZP 3/16X 75 PBX25 9310086594470 5 PBX | 9310086594470  PBX
EAG1875 BOLT & NUT MUSH ZP 1/4 X 75 SP6 9310086510791 5 PAC |9310086510791  PAC
CWR1875 BOLT & NUT MUSH ZP 1/4 X 75 PBX25 9310086594487 5 PBX |9310086594487  PBX
BOLTS & NUTS — HEX HEAD — NYLON
@ @mﬂ@mﬂm EAN1325  BOLT & NUT NYLON HEX M6X25 PBX17 9310086981232 5 PBX |9310086981232  PBX
EAN1440  BOLT & NUT NYLON HEX M8X40 PBX11 9310086981249 5 PBX |9310086981249  PBX
EAN1525  BOLT & NUT NYLON HEX M10X25 PBX16 9310086981256 5 PBX |9310086981256  PBX
EAN1540  BOLT & NUT NYLON HEX M10X40 PBX10 9310086981263 5 PBX |9310086981263  PBX
EAN1550  BOLT & NUT NYLON HEX M10X50 PBX6 9310086981270 5 PBX |9310086981270  PBX
EAN1650  BOLT & NUT NYLON HEX M12X50 PBX6 9310086981287 5 PBX |9310086981287  PBX
WHITWORTH & METRIC NUTS & WASHERS
WHITWORTH — HEX HALF — ZINC PLATED - ZINC DIE CAST NUTS
EBA1003  NUT HEX HALF ZP 1/8 SP50 9310086510821 5 PAC |9310086510821  PAC
EBA1004  NUT HEX HALF ZP 5/32 SP50 9310086510937 5 PAC |9310086510937  PAC
EBA1005  NUT HEX HALF ZP 3/16 SP45 9310086511002 5 PAC |9310086511002  PAC
EBA1006  NUT HEX HALF ZP 1/4 SP30 9310086511040 5 PAC |9310086511040  PAC
WHITWORTH — WING — ZINC DIE CAST NUTS
Q;@ EBE1004 NUT WING DIECAST 5/32 SP10 9310086511057 5 PAC |9310086511057  PAC
EBE1005 NUT WING DIECAST 3/16 SP8 9310086511071 5 PAC [9310086511071  PAC
EBE1006  NUT WING DIECAST 1/4 SP6 9310086511118 5 PAC |9310086511118  PAC
EBE1008  NUT WING DIECAST 5/16 SP4 9310086511163 5 PAC | 9310086511163  PAC
EBE1010  NUT WING DIECAST 3/8 SP3 9310086511187 5 PAC |9310086511187  PAC



2020

0 DO @ O

©

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE

CODE DESCRIPTION BARCODE MuLT! BARCODE
WHITWORTH — DOME — CHROME PLATED
EBH1005 NUT DOME CP STEEL 3/16 SP16 9310086511217 5  PAC [9310086511217  PAC
EBH1006  NUT DOME CP STEEL 1/4 SP12 9310086511224 5  PAC [9310086511224  PAC
EBH1008  NUT DOME CP STEEL 5/16 SP9 9310086511231 5  PAC [9310086511231  PAC
EBH1010  NUT DOME CP STEEL 3/8 SP6 9310086511248 5  PAC |9310086511248  PAC
WHITWORTH — DOME — NYLOC - ZINC PLATED NUTS
EBC1005  NUT NYLOC ZP 3/16 SP25 9310086511255 5  PAC [9310086511255  PAC
EBC1006  NUT NYLOC ZP 1/4 SP20 9310086511262 5  PAC |9310086511262  PAC
EBC1008  NUT NYLOC ZP 5/16 SP15 9310086511279 5  PAC [9310086511279  PAC
EBC1010  NUT NYLOC ZP 3/8 SP10 9310086511286 5  PAC |9310086511286  PAC
EBC1012  NUT NYLOC ZP 1/2 SP4 9310086511293 5  PAC | 9310086511293  PAC
WHITWORTH — DOME — CHROME PLATED ON BRASS
EBH3006  NUT DOME CP M6 SP12 9310086983960 5  PAC [9310086983960  PAC
EBH3008  NUT DOME CP M8 SP9 9310086983977 5  PAC |9310086983977  PAC
EBH3010  NUT DOME CP M10 SP6 9310086983984 5  PAC |9310086983984  PAC
WHITWORTH — DOME — STAINLESS STEEL 316
EBQ1005 NUT DOME SS316 3/16 SP5 9310086981638 5  PAC [9310086981638  PAC
EBQ1006  NUT DOME SS316 1/4 SP4 9310086981645 5  PAC [9310086981645  PAC
EBQ1010  NUT DOME SS316 3/8 SP5 9310086981652 5  PAC |9310086981652  PAC
EBQ2005 NUT DOME SS316 M5 SP5 9310086981669 5  PAC |9310086981669  PAC
EBQ2006  NUT DOME SS316 M6 SP5 9310086981676 5  PAC |9310086981676  PAC
EBQ2010  NUT DOME SS316 M10 SP5 9310086981683 5  PAC | 9310086981683  PAC
WHITWORTH — FLAT WASHERS - ZINC PLATED & BRASS
EBD1005 WASHER FLAT ZP 3/16 X 9/16 SP35 9310086511330 5  PAC [9310086511330  PAC
CDE1005 WASHER FLAT ZP 3/16 PBX200 9310086555167 5  PBX |9310086555167  PBX
EBD1006  WASHER FLAT ZP 1/4 X 3/4 SP30 9310086511354 5  PAC |9310086511354  PAC
CDE1006 WASHER FLAT ZP 1/4 PBX100 9310086556423 5  PBX |9310086556423  PBX
EBD1008 WASHER FLAT ZP 5/16 X 7/8 SP22 9310086511361 5  PAC [9310086511361  PAC
CDE1008  WASHER FLAT ZP 5/16 PBX50 9310086556522 5  PBX |9310086556522  PBX
EBD1010  WASHER FLAT ZP 3/8 X 1 SP18 9310086511385 5  PAC |9310086511385  PAC
CDE1010  WASHER FLAT ZP 3/8 PBX50 9310086556553 5  PBX | 9310086556553  PBX
EBD1012  WASHER FLAT ZP 1/2X 1 1/4 SP8 9310086511446 5  PAC |9310086511446  PAC
CDE1012  WASHER FLAT ZP 1/2 PBX20 9310086556591 5  PBX |9310086556591  PBX
EBG4003  WASHER FLAT BR 1/8 SP35 9310086511606 5  PAC |9310086511606  PAC
EBG4004 WASHER FLAT BR 5/32 SP30 9310086511613 5  PAC |9310086511613  PAC
EBG4005 WASHER FLAT BR 3/16 SP25 9310086511620 5  PAC |9310086511620  PAC
EBG4006 WASHER FLAT BR 1/4 SP12 9310086511637 5  PAC |9310086511637  PAC
EBG4008 WASHER FLAT BR 5/16 SP10 9310086511644 5  PAC |9310086511644  PAC
WHITWORTH — MACHINE WASHERS - ZINC PLATED & BRASS
EBL1003  WASHER MAC. ZP 1/8 SP60 9310086511460 5  PAC [9310086511460  PAC
EBL1004 WASHER MAC. ZP 5/32 SP50 9310086511477 5  PAC [9310086511477  PAC
EBL1005 WASHER MAC. ZP 3/16 SP50 9310086511491 5  PAC |9310086511491  PAC
EBL1006  WASHER MAC. ZP 1/4 SP45 9310086511521 5  PAC | 9310086511521  PAC
EBM4005 WASHER MAC. BR 3/16 SP25 9310086511668 5  PAC | 9310086511668  PAC
EBM4006 WASHER MAC. BR 1/4 SP10 9310086511675 5  PAC |9310086511675  PAC

1. Place orders in “order quantity multiples”.




®

2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT' BARCODE
FIBRE WASHERS
@ EBI1005  FIBRE WASHER 3/16 & M5 SP50 9310086981980 5  PAC 9310086981980  PAC
~— EBI1006  FIBRE WASHER 1/4 & M6 SP40 9310086981997 5  PAC 9310086981997  PAC
EBI1008  FIBRE WASHER 5/16 & M8 SP30 9310086982000 5  PAC |9310086982000  PAC
EBI1010  FIBRE WASHER 3/8 & M10 SP30 9310086982017 5  PAC | 9310086982017  PAC
EBI012  FIBRE WASHER 1/2 & M12 SP20 9310086982024 5  PAC |9310086982024  PAC
FLAT WASHERS — STAINLESS STEEL 316
@ EBM5003  FLAT WASHER SS316 1/8 & M3 SP35 9310086982031 5  PAC |9310086982031  PAC
~—~ EBM5005 FLAT WASHER SS316 3/16 &M5 SP25 9310086982048 PAC |9310086982048  PAC
EBM5006  FLAT WASHER SS316 1/4 & M6 SP12 9310086982055 5  PAC |9310086982055  PAC
NYLON WASHERS
@ EBM6006  NYLON WASHER 1/4 & M6 SP50 9310086982062 5  PAC [9310086982062  PAC
~—~ EBM6008 NYLON WASHER 5/16 & M8 SP40 9310086982079 5  PAC [9310086982079  PAC
EBM6010  NYLON WASHER 3/8 & M10 SP30 9310086982086 5  PAC |9310086982086  PAC
EBM6012  NYLON WASHER 1/2 & M12 SP20 9310086982093 5  PAC [9310086982093  PAC
RUBBER WASHERS
EBM7006 RUBBER WASHER 1/4 & M6 SP50 9310086982109 5  PAC |9310086982109  PAC
~—r EBM7008 RUBBER WASHER 5/16 & M8 SP40 9310086982116 5  PAC 9310086982116  PAC
EBM7010 RUBBER WASHER 3/8 & M10 SP30 9310086982123 5  PAC |9310086982123  PAC
EBM7012 RUBBER WASHER 1/2 & M12 SP20 9310086982130 5  PAC | 9310086982130  PAC
WASHER SCREW CUPS — CHROME PLATED
EBZ1004 WASHER SCREW CUP CP 4G SP20 9310086981942 5  PAC 9310086981942  PAC
EBZ1006 WASHER SCREW CUP CP 6G SP20 9310086981959 5  PAC |9310086981959  PAC
EBZ1008 WASHER SCREW CUP CP 8G SP20 9310086981966 5  PAC 9310086981966  PAC
EBZ1010  WASHER SCREW CUP CP 10G SP20 9310086981973 5  PAC | 9310086981973  PAC
L2242, EXTERNAL STAR WASHERS - ZINC PLATED
E‘Q EBO1000  STARWASHER EXTERNAL M3-6 ASSORT SP8 9310086982154 5  PAC [9310086982154  PAC
NS EB02000  STARWASHER EXTERNAL M8-12 ASSORT SP6 9310086982161 PAC | 9310086982161  PAC
EB03000  STARWASHER EXTERNAL M14-16 ASSORT SP6 9310086982178 PAC | 9310086982178  PAC
INTERNAL STAR WASHERS — ZINC PLATED
é’% EBO1001  STARWASHER INTERNAL M3-6 ASSORT SP8 9310086982185 PAC |9310086982185  PAC
EB02002  STARWASHER INTERNAL M8-12 ASSORT SP6 9310086982192 PAC |9310086982192  PAC
EB03003  STARWASHER INTERNAL M14-16 ASSORT SP6 9310086982208 5  PAC |9310086982208  PAC
SPRING WASHERS — ZINC PLATED
@ EBN1003  WASHER SPRING ZP 1/8 SP75 9310086511699 5  PAC 9310086511699  PAC
EBN1005 WASHER SPRING ZP 3/16 SP65 9310086511859 5  PAC 9310086511859  PAC
EBN1006 WASHER SPRING ZP 1/4 SP55 9310086511903 5  PAC [9310086511903  PAC
EBN1008  WASHER SPRING ZP 5/16 SP40 9310086511934 5  PAC | 9310086511934  PAC
EBN1010  WASHER SPRING ZP 3/8 SP30 9310086511958 5  PAC [9310086511958  PAC
EBN1012  WASHER SPRING ZP 1/2 SP15 9310086512047 5  PAC | 9310086512047  PAC
MUDGUARD WASHERS - ZINC PLATED
EBP1006  WASHER MUDGUARD ZP 1/4 SP12 9310086512054 5  PAC 9310086512054  PAC
~— EBP1008  WASHER MUDGUARD ZP 5/16 SP10 9310086512078 5  PAC |9310086512078  PAC
EBP1010  WASHER MUDGUARD ZP 3/8 SP10 9310086512092 5  PAC 9310086512092  PAC
EBP1012  WASHER MUDGUARD ZP 3/8 PBX10 9310086982147 5  PBX |9310086982147  PBX

1. Place orders in “order quantity multiples”.




Zenith 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
SPLIT PINS
SPLIT PINS - ZINC & BRASS PLATED
% EBF1025  PIN SPLIT ZP 1.6 X 25MM SP35 9310086512115 5 PAC | 9310086512115  PAC
EBF1032  PIN SPLIT ZP 2.5 X 32MM SP25 9310086512122 5 PAC | 9310086512122  PAC
EBF1140  PIN SPLIT ZP 3.2 X 40MM SP20 9310086512139 5 PAC | 9310086512139  PAC
EBF1440  PIN SPLIT ZP 4.0 X 40MM SP15 9310086512177 5 PAC |9310086512177  PAC
EBF1245  PIN SPLIT ZP 3.6 X 45MM SP15 9310086512214 5 PAC | 9310086512214  PAC
EBF1000  PIN SPLIT ZP ASSORTED SP25 9310086512245 5 PAC | 9310086512245  PAC
EBF4000  PIN SPLIT BR ASSORTED SP10 9310086512276 5 PAC |9310086512276  PAC
SPLIT PINS — STAINLESS STEEL 316
M EBY1025  PIN SPLIT S$316 1.6X25MM SP8 9310086981867 5 PAC |9310086981867  PAC
EBY1032  PIN SPLIT $S316 2.2X25MM SP6 9310086981874 5 PAC |9310086981874  PAC
EBY1140  PIN SPLIT S$316 2.5X40MM SP4 9310086981881 5 PAC | 9310086981881 PAC
EBY1240  PIN SPLIT S$316 3.2X40MM SP4 9310086981898 5 PAC | 9310086981898  PAC
EBY1425  PIN SPLIT $S316 4.0X25MM SP4 9310086981904 5 PAC |9310086981904  PAC
EBY1440  PIN SPLIT S$316 4.0X40MM SP3 9310086981911 5 PAC | 9310086981911  PAC
EBF5000  PIN SPLIT S$316 ASSORTED SP6 9310086981928 5 PAC | 9310086981928  PAC
METRIC BOLTS & NUTS
BOLT & NUT — ROUND HEAD — ZINC PLATED — METRIC
&S i
ECA1015  SCW BOLT & NUT ZP RN M3 X 15 SP30 9310086512313 5 PAC | 9310086512313  PAC
ECA1025 SCW BOLT & NUT ZP RN M3 X 25 SP25 9310086512351 5 PAC | 9310086512351 PAC
ECA1115  SCW BOLT & NUT ZP RN M4 X 15 SP25 9310086512382 5 PAC |9310086512382  PAC
ECA1120  SCW BOLT & NUT ZP RN M4 X 20 SP22 9310086512405 5 PAC | 9310086512405  PAC
ECA1215  SCW BOLT & NUT ZP RN M5 X 15 SP18 9310086512412 5 PAC |9310086512412  PAC
ECA1220 SCW BOLT & NUT ZP RN M5 X 20 SP14 9310086512429 5 PAC |9310086512429  PAC
ECA1225 SCW BOLT & NUT ZP RN M5 X 25 SP12 9310086512474 5 PAC | 9310086512474  PAC
ECA1320  SCW BOLT & NUT ZP RN M6 X 20 SP12 9310086512504 5 PAC | 9310086512504  PAC
ECA1325  SCW BOLT & NUT ZP RN M6 X 25 SP10 9310086512511 5 PAC |9310086512511  PAC
BOLTS & NUTS — MUSHROOM HEAD — STAINLESS STEEL 316
&S i
EAW1212  BOLT & NUT MUSH $S316 M5X12 SP5 9310086981430 5 PAC |9310086981430  PAC
EAW1215 BOLT & NUT MUSH $S316 M5X15 SP5 9310086981447 5 PAC |9310086981447  PAC
EAW1250 BOLT & NUT MUSH $S316 M5X50 SP3 9310086981454 5 PAC |9310086981454  PAC
EAW1275 BOLT & NUT MUSH SS316 M5X75 SP3 9310086981461 5 PAC | 9310086981461 PAC
EAW1312  BOLT & NUT MUSH $S316 M6X12 SP5 9310086981478 5 PAC |9310086981478  PAC
EAW1315 BOLT & NUT MUSH $S316 M6X15 SP5 9310086981485 5 PAC |9310086981485  PAC
EAW1330 BOLT & NUT MUSH SS316 M6X30 SP3 9310086981492 5 PAC | 9310086981492  PAC
EAW1375 BOLT & NUT MUSH $S316 M6X75 SP3 9310086981508 5 PAC |9310086981508  PAC
SET SCREWS — HEX HEAD - ZINC PLATED — METRIC
@ :Wmmmm ECB1120 SCW SET HH 8.8 ZP M4 X 20 SP18 9310086512573 5 PAC |9310086512573  PAC
ECB1225 SCW SET HH 8.8 ZP M5 X 25 SP12 9310086512610 5 PAC |9310086512610  PAC
ECB1235 SCW SET HH 8.8 ZP M5 X 35 SP10 9310086512627 5 PAC |9310086512627  PAC
ECB1320  SCW SET HH 8.8 ZP M6 X 20 SP12 9310086512658 5 PAC | 9310086512658  PAC
ECB1325 SCW SET HH 8.8 ZP M6 X 25 SP10 9310086512665 5 PAC | 9310086512665  PAC
ECB1340 SCW SET HH 8.8 ZP M6 X 40 SP6 9310086512719 5 PAC |9310086512719  PAC
ECB1425 SCW SET HH 8.8 ZP M8 X 25 SP5 9310086512955 5 PAC | 9310086512955  PAC
ECB1435 SCW SET HH 8.8 ZP M8 X 35 SP5 9310086513037 5 PAC |9310086513037  PAC
ECB1450 SCW SET HH 8.8 ZP M8 X 50 SP4 9310086513099 5 PAC |9310086513099  PAC

1. Place orders in “order quantity multiples”.




®

1. Place orders in “order quantity multiples”.

2020
ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT' BARCODE
SOCKET HEAD SCREWS — ZINC PLATED — METRIC
@ %MMMMMM ECD1210  SCW CAP SOCK.HD ZP M5 X 10 SP8 9310086513112 5  PAC 9310086513112  PAC
ECD1315 SCW CAP SOCK.HD ZP M6 X 15 SP8 9310086513129 5  PAC 9310086513129  PAC
ECD1325 SCW CAP SOCK.HD ZP M6 X 25 SP6 9310086513143 5  PAC |9310086513143  PAC
ECD1420  SCW CAP SOCK.HD ZP M8 X 20 SP4 9310086513150 5  PAC | 9310086513150  PAC
NYLON LOCK — ZINC PLATED — METRIC
ECF1004  NUT NYLON LOCK ZP M4 SP16 9310086513174 5  PAC 9310086513174  PAC
ECF1005  NUT NYLON LOCK ZP M5 SP15 9310086513181 5  PAC |9310086513181  PAC
ECF1006  NUT NYLON LOCK ZP M6 SP12 9310086513198 5  PAC 9310086513198  PAC
ECF1008  NUT NYLON LOCK ZP M8 SP10 9310086513259 5  PAC | 9310086513259  PAC
ECF1010  NUT NYLON LOCK ZP M10 SP6 9310086513327 5  PAC | 9310086513327  PAC
NYLON LOCK — ZINC PLATED — WHITWORTH
% CDD1005  NUT NYLOC ZP 3/16 PBX100 9310086551282 5  PBX 9310086551282  PBX
CDD1006  NUT NYLOC ZP 1/4 PBX100 9310086551305 5  PBX |9310086551305  PBX
CDD1008  NUT NYLOC ZP 5/16 PBX75 9310086552142 5  PBX 9310086552142  PBX
CDD1010  NUT NYLOC ZP 3/8 PBX50 9310086552159 5  PBX |9310086552159  PBX
CDD1012  NUT NYLOC ZP 1/2 PBX20 9310086552289 5  PBX |9310086552289  PBX
HEXAGON HALF — ZINC PLATED - METRIC
ECE1003  NUT HEXAGON ZP M3 SP40 9310086513426 5  PAC 9310086513426  PAC
ECE1004  NUT HEXAGON ZP M4 SP30 9310086513433 5  PAC |9310086513433  PAC
ECE1005  NUT HEXAGON ZP M5 SP25 9310086513457 5  PAC 9310086513457  PAC
ECE1006  NUT HEXAGON ZP M6 SP20 9310086513471 5  PAC | 9310086513471  PAC
ECE1008  NUT HEXAGON ZP M8 SP12 9310086513488 5  PAC | 9310086513488  PAC
ECE1010  NUT HEXAGON ZP M10 SP8 9310086513495 5  PAC [9310086513495  PAC
SERRATED FLANGE NUTS — GALVANISED
EBW1006 NUT SERATED FLANGE GAL M6 SP10 9310086981720 5  PAC 9310086981720  PAC
EBW1008 NUT SERATED FLANGE GAL M8 SP10 9310086981737 5  PAC 9310086981737  PAC
EBW1010 NUT SERATEDFLANGE GAL M10 SP10 9310086981744 5  PAC |9310086981744  PAC
EBW1012 NUT SERATED FLANGE GAL M12 SP6 9310086981751 5  PAC | 9310086981751  PAC
=\ /=  WING NUTS - NYLON - METRIC
s/ﬁ@ ECH1006  NUT WING NYLON M6 SP3 9310086981829 5  PAC |9310086981829  PAC
D ECH1008  NUT WING NYLON M8 SP3 9310086981836 5  PAC |9310086981836  PAC
ECH1010  NUT WING NYLON M10 SP2 9310086981843 5  PAC 9310086981843  PAC
ECH1012  NUT WING NYLON M12 SP2 9310086981850 5  PAC | 9310086981850  PAC
= /7=  WING NUTS - ZINC PLATED - METRIC
Q/ﬁ@ EBE1003  NUT WING FORGED ZP 1/8 SP6 9310086981768 5  PAC [9310086981768  PAC
S EBE1012  NUT WING FORGED ZP 1/2 SP2 9310086981775 5  PAC |9310086981775  PAC
ECG1003  NUT WING FORGED ZP M3 SP6 9310086981782 5  PAC |9310086981782  PAC
ECG1004 NUT WING FORGED ZP M4 SP4 9310086981799 5  PAC [9310086981799  PAC
ECG1005 NUT WING FORGED ZP M5 SP6 9310086513501 5  PAC | 9310086513501  PAC
ECG1006  NUT WING FORGED ZP M6 SP5 9310086513518 5  PAC | 9310086513518  PAC
ECG1008  NUT WING FORGED ZP M8 SP3 9310086513532 5  PAC |9310086513532  PAC
ECG1010  NUT WING FORGED ZP M10 SP2 9310086981805 5  PAC |9310086981805  PAC
ECG1012  NUT WING FORGED ZP M12 SP2 9310086981812 5  PAC |9310086981812  PAC



2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

SPECIALTY FASTENERS

(72)
oo
LL
—
Ll
—
2
Ll
t
—
=
(<]
LU
Q.
()

WING SCREWS — ZINC PLATED

ECJ1006  WING SCREW ZP M6X50 SP6 9310086982215 5  PAC [9310086982215  PAC
ECJ1008  WING SCREW ZP M8X25 SP6 9310086982222 5  PAC | 9310086982222  PAC
ECJ1010  WING SCREW ZP M10X25 SP4 9310086982239 5  PAC | 9310086982239  PAC
ECJ1011  WING SCREW ZP M10X50 SP2 9310086982246 5  PAC |9310086982246  PAC
SNAP FASTENERS

NICKEL PLATED BRASS

WSK1010  SNAP FAST/SCW BR/NP 8 SETS 9310086657984 5  PAC |9310086657984  PAC
WSK2010  SNAP FASTENER BR/NP 15 SETS 9310086658004 5  PAC |9310086658004  PAC
WSK1000 SNAP FAST/SCW KIT BR/NP 8 SETS 9310086657977 5  PAC |9310086657977  PAC
WSK2000 SNAP FASTENER KIT BR/NP 15 SETS 9310086657991 5  PAC | 9310086657991  PAC

1. Place orders in “order quantity multiples”.



2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

SCREWS in Snap-pacs® (SP), Polyboxes (PBX) & Boxed (BX)

WOOD SCREWS
COUNTERSUNK HEAD — PHILLIPS DRIVE — ZINC PLATED

@ E EAA1216  W/SCW PHL ZP CS 6G X 15 SP50

9310086500044 5  PAC |9310086500044  PAC

EAA1220  W/SCW PHL ZP CS 6G X 18 SP45 9310086500051 5  PAC | 9310086500051  PAC
EAA1420  W/SCW PHL ZP CS 8G X 18 SP40 9310086500075 5  PAC | 9310086500075  PAC
EAA1425  W/SCW PHL ZP CS 8G X 25 SP35 9310086500099 5  PAC | 9310086500099  PAC
EAA1625  W/SCW PHL ZP CS 106 X 25 SP30 9310086500105 5  PAC | 9310086500105  PAC
EAA1430  W/SCW PHL ZP CS 8G X 30 SP30 9310086500112 5  PAC | 9310086500112  PAC
EAA1630  W/SCW PHL ZP CS 10G X 30 SP25 9310086500129 5  PAC | 9310086500129  PAC
EAA1440  W/SCW PHL ZP CS 8G X 38 SP20 9310086500211 5  PAC | 9310086500211  PAC
EAA1640  W/SCW PHL ZP CS 10G X 38 SP18 9310086500228 5  PAC |9310086500228  PAC
EAAI740  W/SCW PHL ZP CS 126 X 38 SP15 9310086500235 5  PAC |9310086500235  PAC
EAAI650  W/SCW PHL ZP CS 106 X 50 SP15 9310086500297 5  PAC |9310086500207  PAC
EAA1750  W/SCW PHL ZP CS 126 X 50 SP12 9310086500303 5  PAC |9310086500303  PAC
EAAI660  W/SCW PHL ZP CS 106 X 60 SP12 9310086500310 5  PAC |9310086500310  PAC
EAAI760  W/SCW PHL ZP CS 126 X 60 SP10 9310086500327 5  PAC |9310086500327  PAC
EAA1675  W/SCW PHL ZP CS 106 X 75 SP10 9310086500365 5  PAC | 9310086500365  PAC
COUNTERSUNK HEAD — PHILLIPS DRIVE — SOLID BRASS

() =g EAC4012  W/SCW PHL BR CS 4G X 12 SP30 9310086500396 5  PAC |9310086500396  PAC
EAC4020  W/SCW PHL BR CS 4G X 18 SP30 9310086500464 5  PAC | 9310086500464  PAC
EAC4220  W/SCW PHL BR CS 66 X 18 SP20 9310086500488 5  PAC | 9310086500488  PAC
EAC4225  W/SCW PHL BR CS 66 X 25 SP15 9310086500518 5  PAC | 9310086500518  PAC
EACA4425  W/SCW PHL BR CS 8G X 25 SP12 9310086500525 5  PAC | 9310086500525  PAC
EAC4430  W/SCW PHL BR CS 8G X 30 SP12 9310086500549 5  PAC | 9310086500549  PAC
EAC4630  W/SCW PHL BR CS 10G X 30 SP10 9310086500556 5  PAC | 9310086500556  PAC
EAC4440  W/SCW PHL BR CS 8G X 38 SP10 9310086500570 5  PAC | 9310086500570  PAC
EAC4640  W/SCW PHL BR CS 10G X 38 SP8 9310086500587 5  PAC |9310086500587  PAC
EAC4760 W/SCW PHL BR CS 126 X 60 SP4 9310086500624 5  PAC | 9310086500624  PAC
EAC4675 W/SCW PHL BR CS 10G X 75 SP4 9310086500655 5  PAC | 9310086500655  PAC
ROUND HEAD - PHILLIPS / SLOTTED — SOLID BRASS

ch e EAB4016  W/SCW SPH BR RN 4G X 15 SP20 9310086500877 PAC | 9310086500877  PAC
EAB4220  W/SCW SPH BR RN 6G X 18 SP15 9310086501027 PAC | 9310086501027  PAC
EAB4425 W/SCW SPH BR RN 8G X 25 SP9 9310086501058 PAC | 9310086501058  PAC
RAISED HEAD W/CUP WASHER — NICKEL PLATED SOLID BRASS

& m EAB5220  W/SCW SPH NB RS 6G X 18 SP10 9310086500808 5  PAC [9310086500808  PAC
EAB5425  W/SCW SPH NB RS 8G X 25 SP8 9310086500846 5  PAC | 9310086500846  PAC
*CAB5425 W/SCW SPH NB RS 8G X 25 PBX50 9310086951334 5  PBX |9310086951334  PBX
EAB5430  W/SCW SPH NB RS 86 X 30 SP6 9310086500853 5  PAC | 9310086500853  PAC
*CAB5430 W/SCW SPH NB RS 8G X 30 PBX50 9310086951358 5  PBX |9310086951358  PBX

** Export only lines
1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT BARCODE
SCREWS |
LONGTHREADS
COUNTERSUNK HEAD - PHILLIPS DRIVE — ZINC PLATED
EAE1012  L/THR PHL ZP CS 4G X 12 SP50 9310086501089 5 PAC | 9310086501089 PAC
CWL1012 L/THR PHL ZP CS 4G X 12 PBX100 9310086530362 5 PBX | 9310086530362 PBX
EAE1116  L/THR PHL ZP CS 5G X 16 SP50 9310086501164 5 PAC | 9310086501164 PAC
CWL1116  L/THR PHL ZP CS 5G X 16 PBX100 9310086530393 5 PBX | 9310086530393 PBX
EAE1216  L/THR PHL ZP CS 6G X 16 SP45 9310086501171 5 PAC | 9310086501171 PAC
CWL1216 L/THR PHL ZP CS 6G X 16 PBX100 9310086530409 5 PBX | 9310086530409 PBX
CWL1416 L/THR PHL ZP CS 8G X 16 PBX100 9310086532656 5 PBX | 9310086532656 PBX
CWL1020 L/THR PHL ZP CS 4G X 20 PBX100 9310086530416 5 PBX | 9310086530416 PBX
EAE1220  L/THR PHL ZP CS 6G X 20 SP45 9310086501188 5 PAC | 9310086501188 PAC
EAE1420  L/THR PHL ZP CS 8G X 20 SP35 9310086501195 5 PAC | 9310086501195 PAC
CWL1420 L/THR PHL ZP CS 8G X 20 PBX100 9310086530461 5 PBX | 9310086530461 PBX
EAE1225 L/THR PHL ZP CS 6G X 25 SP35 9310086501201 5 PAC [ 9310086501201 PAC
CWL1225 L/THR PHL ZP CS 6G X 25 PBX100 9310086530478 5 PBX | 9310086530478 PBX
EAE1325 L/THRPHL ZP CS 7G X 25 SP35 9310086501218 5 PAC | 9310086501218 PAC
CWL1325 L/THR PHL ZP CS 7G X 25 PBX100 9310086530485 5 PBX | 9310086530485 PBX
EAE1425 L/THR PHL ZP CS 8G X 25 SP30 9310086501379 5 PAC | 9310086501379 PAC
CWL1425 L/THR PHL ZP CS 8G X 25 PBX100 9310086530492 5 PBX | 9310086530492 PBX
EAE1625 L/THRPHL ZP CS 10G X 25 SP25 9310086501553 5 PAC | 9310086501553 PAC
EAE1230 L/THR PHL ZP CS 6G X 30 SP35 9310086501744 5 PAC | 9310086501744 PAC
CWL1230 L/THR PHL ZP CS 6G X 30 PBX100 9310086530515 5 PBX | 9310086530515 PBX
EAE1330 L/THR PHL ZP CS 7G X 30 SP35 9310086501751 5 PAC | 9310086501751 PAC
EAE1430 L/THR PHL ZP CS 8G X 30 SP30 9310086501782 5 PAC | 9310086501782 PAC
CWL1430 L/THR PHL ZP CS 8G X 30 PBX100 9310086530522 5 PBX | 9310086530522 PBX
EAE1630 L/THR PHL ZP CS 10G X 30 SP25 9310086501799 5 PAC | 9310086501799 PAC
CWL1630 L/THR PHL ZP CS 10G X 30 PBX100 9310086530539 5 PBX | 9310086530539 PBX
EAE1240  L/THR PHL ZP CS 6G X 40 SP25 9310086501805 5 PAC | 9310086501805 PAC
CWL1240 L/THR PHL ZP CS 6G X 40 PBX100 9310086530546 5 PBX | 9310086530546 PBX
EAE1440  L/THR PHL ZP CS 8G X 40 SP25 9310086501812 5 PAC | 9310086501812 PAC
CWL1440 L/THR PHL ZP CS 8G X 40 PBX100 9310086530553 5 PBX | 9310086530553 PBX
EAE1640 L/THR PHL ZP CS 10G X 40 SP22 9310086501829 5 PAC | 9310086501829 PAC
CWL1640 L/THR PHL ZP CS 10G X 40 PBX50 9310086530560 5 PBX | 9310086530560 PBX
EAE1450  L/THR PHL ZP CS 8G X 50 SP18 9310086501836 5 PAC | 9310086501836 PAC
CWL1450 L/THR PHL ZP CS 8G X 50 PBX50 9310086530584 5 PBX |9310086530584 PBX
EAE1650  L/THR PHL ZP CS 10G X 50 SP15 9310086501843 5 PAC | 9310086501843 PAC
CWL1650 L/THR PHL ZP CS 10G X 50 PBX50 9310086530607 5 PBX | 9310086530607 PBX
CWL1660 L/THR PHL ZP CS 10G X 60 PBX50 9310086532687 5 PBX | 9310086532687 PBX
COUNTERSUNK HEAD - PHILLIPS DRIVE — FLORENTINE BRONZE
@ H> EAE2116  L/THR PHL FB CS 5G X 16 SP50 9310086502444 5 PAC | 9310086502444 PAC
EAE2220  L/THR PHL FB CS 6G X 20 SP40 9310086502499 5 PAC | 9310086502499 PAC
EAE2425 L/THR PHL FB CS 8G X 25 SP25 9310086502505 5 PAC | 9310086502505 PAC
CWL2425 L/THR PHL FB CS 8G X 25 PBX100 9310086530720 5 PBX | 9310086530720 PBX
EAE2430  L/THR PHL FB CS 8G X 30 SP25 9310086502512 5 PAC | 9310086502512 PAC
CWL2430 L/THR PHL FB CS 8G X 30 PBX100 9310086530744 5 PBX | 9310086530744 PBX
EAE2440  L/THR PHL FB CS 8G X 40 SP20 9310086502529 5 PAC | 9310086502529 PAC

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

COUNTERSUNK HEAD - PHILLIPS DRIVE — BRASS PLATED

EAE3012  L/THR PHL BP CS 4G X 12 SP50 9310086501911 5 PAC | 9310086501911 PAC
CWL3012 L/THR PHL BP CS 4G X 12 PBX100 9310086530799 5 PBX | 9310086530799 PBX
EAE3016  L/THR PHL BP CS 4G X 16 SP45 9310086501928 5 PAC | 9310086501928 PAC
CWL3016  L/THR PHL BP CS 4G X 16 PBX100 9310086530805 5 PBX | 9310086530805 PBX
EAE3116  L/THR PHL BP CS 5G X 16 SP45 9310086501942 5 PAC | 9310086501942 PAC
EAE3216  L/THR PHL BP CS 6G X 16 SP40 9310086501966 5 PAC | 9310086501966 PAC
CWL3216 L/THR PHL BP CS 6G X 16 PBX100 9310086530829 5 PBX | 9310086530829 PBX
EAE3220  L/THR PHL BP CS 6G X 20 SP40 9310086501973 5 PAC | 9310086501973 PAC
CWL3220 L/THR PHL BP CS 6G X 20 PBX100 9310086530843 5 PBX | 9310086530843 PBX
EAE3420  L/THR PHL BP CS 8G X 20 SP30 9310086501980 5 PAC | 9310086501980 PAC
CWL3420 L/THR PHL BP CS 8G X 20 PBX100 9310086530867 5 PBX | 9310086530867 PBX
EAE3225 L/THR PHL BP CS 6G X 25 SP30 9310086502055 5 PAC | 9310086502055 PAC
EAE3425  L/THR PHL BP CS 8G X 25 SP25 9310086502062 5 PAC | 9310086502062 PAC
CWL3425 L/THR PHL BP CS 8G X 25 PBX100 9310086530898 5 PBX [ 9310086530898 PBX
EAE3430  L/THR PHL BP CS 8G X 30 SP25 9310086502178 5 PAC | 9310086502178 PAC
CWL3430 L/THR PHL BP CS 8G X 30 PBX100 9310086530911 5 PBX | 9310086530911 PBX
EAE3440 L/THR PHL BP CS 8G X 40 SP20 9310086502185 5 PAC | 9310086502185 PAC
CWL3440 L/THR PHL BP CS 8G X 40 PBX100 9310086530928 5 PBX [ 9310086530928 PBX
EAE3450  L/THR PHL BP CS 8G X 50 SP15 9310086502239 5 PAC | 9310086502239 PAC
CWL3450 L/THR PHL BP CS 8G X 50 PBX50 9310086530959 5 PBX [ 9310086530959 PBX
EAE3650 L/THR PHL BP CS 10G X 50 SP12 9310086502321 5 PAC | 9310086502321 PAC
CWL3650 L/THR PHL BP CS 10G X 50 PBX50 9310086532809 5 PBX | 9310086532809 PBX
COUNTERSUNK HEAD - PHILLIPS DRIVE - 304 STAINLESS STEEL
EBS8216  L/THR PHL SS CS 6G X 15 SP16 9310086502543 5 PAC | 9310086502543 PAC
EBS8220 L/THR PHL SS CS 6G X 18 SP14 9310086502550 5 PAC | 9310086502550 PAC
CWL8220 L/THR PHL SS CS 6G X 18 PBX100 9310086593855 5 PBX | 9310086593855 PBX
EBS8420 L/THR PHL SS CS 8G X 18 SP10 9310086502567 5 PAC | 9310086502567 PAC
CWL8420 L/THR PHL SS CS 8G X 18 PBX100 9310086593992 5 PBX | 9310086593992 PBX
EBS8225 L/THR PHL SS CS 6G X 25 SP12 9310086502581 5 PAC | 9310086502581 PAC
CWL8225 L/THR PHL SS CS 6G X 25 PBX100 9310086594043 5 PBX | 9310086594043 PBX
CWL8325 L/THR PHL SS CS 7G X 25 PBX100 9310086594180 5 PBX | 9310086594180 PBX
EBS8425 L/THR PHL SS CS 8G X 25 SP10 9310086502598 5 PAC | 9310086502598 PAC
CWL8425 L/THR PHL SS CS 8G X 25 PBX100 9310086594210 5 PBX | 9310086594210 PBX
CWL8330 L/THR PHL SS CS 7G X 30 PBX100 9310086594296 5 PBX | 9310086594296 PBX
EBS8430 L/THR PHL SS CS 8G X 30 SP8 9310086502611 5 PAC | 9310086502611 PAC
CWL8430 L/THR PHL SS CS 8G X 30 PBX100 9310086594357 5 PBX | 9310086594357 PBX
EBS8630 L/THR PHL SS CS 10G X 30 SP6 9310086502628 5 PAC | 9310086502628 PAC
EBS8640 L/THR PHL SS CS 10G X 38 SP5 9310086502635 5 PAC | 9310086502635 PAC
EBS8650 L/THR PHL SS CS 10G X 50 SP4 9310086502697 5 PAC | 9310086502697 PAC
HINGE SCREWS
COUNTERSUNK HEAD - PHILLIPS DRIVE — CHROME PLATED STEEL

@ ﬂ)xmm CWH5325 HGE/S PHL CP CS 7G X 25 PBX100 9310086928770 5 PBX | 9310086928770 PBX
CWH5425 HGE/S PHL CP CS 8G X 25 PBX100 9310086928800 5 PBX | 9310086928800 PBX
CWH5330 HGE/S PHL CP CS 7G X 30 PBX100 9310086928794 5 PBX | 9310086928794 PBX
CWH5430 HGE/S PHL CP CS 8G X 30 PBX100 9310086928824 5 PBX | 9310086928824 PBX
CWH5630 HGE/S PHL CP CS 10G X 30 PBX100 9310086928848 5 PBX | 9310086928848 PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

COUNTERSUNK HEAD - PHILLIPS DRIVE — SATIN CHROME PLATED STEEL

CWH4325 HGE/S PHL SC CS 7G X 25 PBX100 9310086928718 5 PBX | 9310086928718 PBX
CWH4425 HGE/S PHL SC CS 8G X 25 PBX100 9310086928732 5 PBX | 9310086928732 PBX
CWH4330 HGE/S PHL SC CS 7G X 30 PBX100 9310086928725 5 PBX | 9310086928725 PBX
CWH4430 HGE/S PHL SC CS 8G X 30 PBX100 9310086928749 5 PBX | 9310086928749 PBX
CWH4630 HGE/S PHL SC CS 10G X 30 PBX100 9310086928763 5 PBX | 9310086928763 PBX
CHIPBOARD SCREWS NEEDLE POINT

COUNTERSUNK RIBBED HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

EDA6420  SCW CHIP GP PHL 8-10 X 20 SP45 9310086508880 5 PAC | 9310086508880 PAC
CBC6420 SCW CHIP GP PHL 8-10 X 20 PBX100 9310086659759 5 PBX | 9310086659759 PBX
CCX6420  SCW CHIP GP PHL 8-10 X 20 BX500 9310086539846 1 BOX | 9310086539846 BOX
EDAG425 SCW CHIP GP PHL 8-10 X 25 SP40 9310086508910 5 PAC | 9310086508910 PAC
CBC6425 SCW CHIP GP PHL 8-10 X 25 PBX100 9310086659766 5 PBX | 9310086659766 PBX
CBD6425 SCW CHIP GP PHL 8-10 X 25 BX500 9310086659926 1 BOX | 9310086659926 BOX
EDA6428  SCW CHIP GP PHL 8-10X28 SP38 9310086503359 5 PAC | 9310086503359 PAC
CBC6428 SCW CHIP GP PHL 8-10X28 PBX100 9310086503373 5 PBX | 9310086503373 PBX
CBD6428 SCW CHIP GP PHL 8-10X28 BX500 9310086503380 1 BOX | 9310086503380 BOX
EDA6430  SCW CHIP GP PHL 8-10 X 30 SP35 9310086508927 5 PAC | 9310086508927 PAC
CBC6430 SCW CHIP GP PHL 8-10 X 30 PBX100 9310086659773 5 PBX | 9310086659773 PBX
CBD6430 SCW CHIP GP PHL 8-10 X 30 BX500 9310086659933 1 BOX | 9310086659933 BOX
CBAG430  SCW CHIP GP PHL 8-10 X 30 BX1000 9310086562516 1 BOX |9310086562516 BOX
EDAG6435 SCW CHIP GP PHL 8-10 X 35 SP30 9310086508934 5 PAC | 9310086508934 PAC
CBC6435 SCW CHIP GP PHL 8-10 X 35 PBX100 9310086659780 5 PBX | 9310086659780 PBX
CBD6435 SCW CHIP GP PHL 8-10 X 35 BX500 9310086659940 1 BOX | 9310086659940 BOX
EDAG440  SCW CHIP GP PHL 8-10 X 40 SP28 9310086508941 5 PAC | 9310086508941 PAC
CBC6440 SCW CHIP GP PHL 8-10 X 40 PBX100 9310086659797 5 PBX | 9310086659797 PBX
CBD6440  SCW CHIP GP PHL 8-10 X 40 BX500 9310086659957 1 BOX | 9310086659957 BOX
CBA6440 SCW CHIP GP PHL 8-10 X 40 BX1000 9310086562547 1 BOX |9310086562547 BOX
EDA6640  SCW CHIP GP PHL 10-8 X 40 SP22 9310086508958 5 PAC | 9310086508958 PAC
CBC6640 SCW CHIP GP PHL 10-8 X 40 PBX50 9310086562578 5 PBX [ 9310086562578 PBX
CBD6640  SCW CHIP GP PHL 10X40 BX500 9310086503427 1 BOX | 9310086503427 BOX
CBC6445 SCW CHIP GP PHL 8-10 X 45 PBX50 9310086659803 5 PBX | 9310086659803 PBX
CBD6445 SCW CHIP GP PHL 8-10 X 45 BX500 9310086659964 1 BOX | 9310086659964 BOX
EDA6450 SCW CHIP GP PHL 8-10 X 50 SP22 9310086509009 5 PAC | 9310086509009 PAC
CBC6450 SCW CHIP GP PHL 8-10 X 50 PBX50 9310086659810 5 PBX | 9310086659810 PBX
CBD6450 SCW CHIP GP PHL 8-10 X 50 BX500 9310086659971 1 BOX | 9310086659971 BOX
EDA6650 SCW CHIP GP PHL 10-8 X 50 SP20 9310086509016 5 PAC | 9310086509016 PAC
CBC6650 SCW CHIP GP PHL 10-8 X 50 PBX50 9310086659872 5 PBX | 9310086659872 PBX
CBD6650  SCW CHIP GP PHL 10-8 X 50 BX500 9310086660021 1 BOX | 9310086660021 BOX
EDA6460 SCW CHIP GP PHL 8-10 X 60 SP20 9310086509030 5 PAC | 9310086509030 PAC
CBC6460 SCW CHIP GP PHL 8-10 X 60 PBX50 9310086934016 5 PBX | 9310086934016 PBX
CBD6460 SCW CHIP GP PHL 8-10X60 BX500 9310086503397 1 BOX | 9310086503397 BOX
EDA6465 SCW CHIP GP PHL 8-10 X 65 SP18 9310086509122 5 PAC | 9310086509122 PAC
CBC6465 SCW CHIP GP PHL 8-10 X 65 PBX50 9310086659827 5 PBX | 9310086659827 PBX
CBD6465 SCW CHIP GP PHL 8-10 X 65 BX500 9310086659988 1 BOX | 9310086659988 BOX
EDA6665 SCW CHIP GP PHL 10-8 X 65 SP14 9310086509139 5 PAC | 9310086509139 PAC
CBC6665 SCW CHIP GP PHL 10-8 X 65 PBX50 9310086659896 5 PBX | 9310086659896 PBX
CBD6665 SCW CHIP GP PHL 10-8 X 65 BX500 9310086660045 1 BOX | 9310086660045 BOX
EDA6475 SCW CHIP GP PHL 8-10 X 75 SP16 9310086509146 5 PAC | 9310086509146 PAC
CBC6475 SCW CHIP GP PHL 8-10 X 75 PBX50 9310086562561 5 PBX | 9310086562561 PBX
CBD6475 SCW CHIP GP PHL 8-10X75 BX500 9310086503410 1 BOX |9310086503410 BOX
EDAG6675 SCW CHIP GP PHL 10-8 X 75 SP14 9310086509153 5 PAC | 9310086509153 PAC
CBC6675 SCW CHIP GP PHL 10-8 X 75 PBX50 9310086659902 5 PBX | 9310086659902 PBX
CBD6675 SCW CHIP GP PHL 10-8 X 75 BX500 9310086660052 1 BOX | 9310086660052 BOX
EDAG600 SCW CHIP GP PHL 10-8X100 SP10 9310086503366 5 PAC | 9310086503366 PAC
CBC6600 SCW CHIP GP PHL 10-8 X 100 PBX50 9310086615380 5 PBX |9310086615380 PBX
CBD6600 SCW CHIP GP PHL 10-8X100 BX500 9310086503434 1 BOX |9310086503434 BOX

1. Place orders in “order quantity multiples”.




2020

) Parann-

CODE

DESCRIPTION

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
BARCODE MuLT! BARCODE

EXTERNAL TIMBER SCREWS — PHILLIPS DRIVE — GALVANISED

EDA7425
CSC7425
CBD7425
EDA7430
CBD7430
CSC7430
CSC7435
EDA7440
CSC7440
CBD7440
EDA7445
CSC7445
CBD7445
EDA7450
CSC7450
CBD7450
EDA7650
CSC7650
CBD7650
EDA7460
CSC7460
CBD7460
EDA7665
CSC7665
CBD7665
EDA7675
CSC7675
CBD7675
EDA7600
CSC7600
CBD7600

SCW EXT TIMB GAL 8-10 X 25 SP30
SCW EXT TIMB GAL 8-10 X 25 PBX100
SCW EXT TIMB GL 8-10X25 BX500
SCW EXT TIMB GAL 8-10 X 30 SP30
SCW EXT TIMB GAL 8-10 X 30 BX500
SCW EXT TIMB GAL 8-10 X 30 PBX100
SCW EXT TIMB GAL 8-10 X 35 PBX100
SCW EXT TIMB GAL 8-10 X 40 SP20
SCW EXT TIMB GAL 8-10 X 40 PBX100
SCW EXT TIMB GAL 8-10 X 40 BX500
SCW EXT TIMB GAL 8-10 X 45 SP18
SCW EXT TIMB GAL 8-10 X 45 PBX50
SCW EXT TIMB GL 8-10X45 BX500
SCW EXT TIMB GAL 8-10 X 50 SP18
SCW EXT TIMB GAL 8-10 X 50 PBX50
SCW EXT TIMB GAL 8-10 X 50 BX500
SCW EXT TIMB GAL 10-8 X 50 SP15
SCW EXT TIMB GAL 10-8 X 50 PBX50
SCW EXT TIMB GAL 10-8 X 50 BX500
SCW EXT TIMB GAL 8-10 X 60 SP15
SCW EXT TIMB GAL 8-10 X 60 PBX50
SCW EXT TIMB GAL 8-10 X 60 BX500
SCW EXT TIMB GAL 10-8 X 65 SP10
SCW EXT TIMB GAL 10-8 X 65 PBX50
SCW EXT TIMB GAL 10-8 X 65 BX500
SCW EXT TIMB GAL 10-8 X 75 SP10
SCW EXT TIMB GAL 10-8 X 75 PBX50
SCW EXT TIMB GAL 10-8 X 75 BX500
SCW EXT TIM GL 10-8X100 SP8

SCW EXT TIM GAL 10-8 X 100 PBX50
SCW EXT TIM GAL 10-8 X 100 BX500

1. Place orders in “order quantity multiples”.

9310086952416
9310086952423
9310086503458
9310086952430
9310086952454
9310086952447
9310086962361
9310086952478
9310086952485
9310086952492
9310086962385
9310086962392
9310086503465
9310086952508
9310086952515
9310086952522
9310086952560
9310086952577
9310086952584
9310086952539
9310086952546
9310086952553
9310086952591
9310086952607
9310086952614
9310086952621
9310086952645
9310086952652
9310086503441
9310086952669
9310086952676

- o o = o o = O O = O o = g o = 0 g = o g = o o o o = o =< o u;

PAC
PBX
BOX
PAC
BOX
PBX
PBX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX

9310086952416
9310086952423
9310086503458
9310086952430
9310086952454
9310086952447
9310086962361
9310086952478
9310086952485
9310086952492
9310086962385
9310086962392
9310086503465
9310086952508
9310086952515
9310086952522
9310086952560
9310086952577
9310086952584
9310086952539
9310086952546
9310086952553
9310086952591
9310086952607
9310086952614
9310086952621
9310086952645
9310086952652
9310086503441
9310086952669
9310086952676

PAC
PBX
BOX
PAC
BOX
PBX
PBX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX
PAC
PBX
BOX




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

TREATED PINE SCREWS NEEDLE POINT
COUNTERSUNK RIBBED HEAD — PHILLIPS DRIVE - TUFCOTE®

EDD7425 SCW TPINE TC PHL 8-10 X 25 SP35 9310086509214 5 PAC | 9310086509214 PAC
CBC9425 SCW TPINE TC PHL 8-10 X 25 PBX100 9310086517134 5 PBX | 9310086517134 PBX
CCv9425 SCW TPINE TC PHL 8-10 X 25 BX500 9310086517844 1 BOX |9310086517844 BOX
EDD7430 SCW TPINE TC PHL 8-10 X 30 SP30 9310086509245 5 PAC | 9310086509245 PAC
CBC9430 SCW TPINE TC PHL 8-10 X 30 PBX100 9310086517141 5 PBX | 9310086517141 PBX
CVT9430  SCW TPINE TC PHL 8-10 X 30 BX500 9310086518308 1 BOX |9310086518308 BOX
EDD7435 SCW TPINE TC PHL 8-10 X 35 SP28 9310086509252 5 PAC | 9310086509252 PAC
CBC9435 SCW TPINE TC PHL 8-10 X 35 PBX100 9310086517530 5 PBX | 9310086517530 PBX
CCVv9435 SCW TPINE TC PHL 8-10 X 35 BX500 9310086517820 1 BOX |9310086517820 BOX
EDD7440 SCW TPINE TC PHL 8-10 X 40 SP25 9310086509269 5 PAC | 9310086509269 PAC
CBC9440 SCW TPINE TC PHL 8-10 X 40 PBX100 9310086517547 5 PBX | 9310086517547 PBX
CVT9440  SCW TPINE TC PHL 8-10 X 40 BX500 9310086518322 1 BOX |9310086518322 BOX
CBC9445 SCW TPINE TC PHL 8-10 X 45 PBX50 9310086517554 5 PBX | 9310086517554 PBX
CVT9445  SCW TPINE TC PHL 8-10 X 45 BX500 9310086518377 1 BOX |9310086518377 BOX
EDD7450 SCW TPINE TC PHL 8-10 X 50 SP20 9310086509306 5 PAC | 9310086509306 PAC
CBC9450 SCW TPINE TC PHL 8-10 X 50 PBX50 9310086517578 5 PBX [9310086517578 PBX
CVT9450  SCW TPINE TC PHL 8-10 X 50 BX500 9310086518384 1 BOX |9310086518384 BOX
EDD7460 SCW TPINE TC PHL 8-10 X 60 SP16 9310086509429 5 PAC | 9310086509429 PAC
CBC9460 SCW TPINE TC PHL 8-10 X 60 PBX50 9310086517585 5 PBX | 9310086517585 PBX
CVT9460  SCW TPINE TC PHL 8-10 X 60 BX500 9310086518391 1 BOX |9310086518391 BOX
EDD7665 SCW TPINE TC PHL 10-8 X 65 SP12 9310086509450 5 PAC | 9310086509450 PAC
CBC9665 SCW TPINE TC PHL 10-8 X 65 PBX50 9310086517738 5 PBX [9310086517738 PBX
CCv9665 SCW TPINE TC PHL 10-8 X 65 BX500 9310086517868 1 BOX |9310086517868 BOX
EDD7675 SCW TPINE TC PHL 10-8 X 75 SP10 9310086509481 5 PAC | 9310086509481 PAC
CBC9675 SCW TPINE TC PHL 10-8 X 75 PBX50 9310086517745 5 PBX | 9310086517745 PBX
CVT9675 SCW TPINE TC PHL 10-8 X 75 BX500 9310086518476 1 BOX |9310086518476 BOX
CBC9600 SCW TPINE TC PHL 10-8 X 100 PBX50 9310086517714 5 PBX | 9310086517714 PBX
CVT9600 SCW TPINE TC PHL 10-8 X 100 BX500 9310086518438 1 BOX |9310086518438 BOX
COUNTERSUNK RIBBED HEAD - SQUARE DRIVE — TUFCOTE®

EDZ7420 SCW TPINETC SQ 8-10 X 20 SP40 9310086503601 5 PAC | 9310086503601 PBX
€SC9420 SCW TPINE TC SQ 8-10X20 PBX100 9310086503748 5 PBX | 9310086503748 PBX
CST9420  SCW TPINE TC SQ 8-10X20 BX500 9310086503816 1 BOX | 9310086503816 BX

EDZ7425 SCW TPINE TC SQ 8-10 X 25 SP35 9310086503625 5 PAC | 9310086503625 PBX
€SC9425 SCW TPINE TC SQ 8-10X25 PBX100 9310086503755 5 PBX | 9310086503755 PBX
CST9425 SCW TPINE TC SQ 8-10X25 BX500 9310086503861 1 BOX |9310086503861 BX

EDZ7430 SCW TPINE TC SQ 8-10 X 30 SP30 9310086503632 5 PAC | 9310086503632 PBX
€SC9430 SCW TPINE TC SQ 8-10 X 30 PBX100 9310086517875 5 PBX | 9310086517875 PBX
CST9430  SCW TPINE TC SQ 8-10X30 BX500 9310086518032 1 BOX | 9310086518032 BX

EDZ7440 SCW TPINE TC SQ 8-10 X 40 SP25 9310086503649 5 PAC | 9310086503649 PBX
(SC9440 SCW TPINE TC SQ 8-10 X 40 PBX100 9310086517899 5 PBX | 9310086517899 PBX
CST9440 SCW TPINE TC SQ 8-10 X 40 BX500 9310086518179 1 BOX |9310086518179 BX

CSC9445 SCW TPINE TC SQ 8-10 X 45 PBX50 9310086517905 5 PBX | 9310086517905 PBX
CST9445 SCW TPINE TC SQ 8-10 X 45 BX500 9310086518186 1 BOX | 9310086518186 BOX
EDZ7450 SCW TPINETC SQ 8-10 X 50 SP20 9310086503656 5 PAC | 9310086503656 PBX
€SC9450  SCW TPINE TC SQ 8-10 X 50 PBX50 9310086517912 5 PBX | 9310086517912 PBX
CST9450  SCW TPINE TC SQ 8-10 X 50 BX500 9310086518216 1 BOX | 9310086518216 BX

EDZ7650 SCW TPINETC SQ 10-8 X 50 SP18 9310086500372 5 PAC | 9310086503694 PBX
CSC9650 SCW TPINE TC SQ 10-8X50 PBX50 9310086503762 5 PBX | 9310086503762 PBX
CST9650  SCW TPINE TC SQ 10-8X50 BX500 9310086503908 1 BOX | 9310086503908 BX

EDZ7460 SCW TPINETC SQ 8-10 X 60 SP16 9310086500013 5 PAC | 9310086503663 PBX

1. Place orders in “order quantity multiples”.




z&;i

2020
ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

COUNTERSUNK RIBBED HEAD — SQUARE DRIVE — TUFCOTE® (cont.)

(m) DA

CSC9460 SCW TPINE TC SQ 8-10 X 60 PBX50 9310086517936 5 PBX | 9310086517936 PBX
CST9460 SCW TPINE TC SQ 8-10 X 60 BX500 9310086518261 1 BOX | 9310086518261 BX
EDZ7665 SCW TPINE TC SQ 10-8 X 65 SP12 9310086500532 5 PAC | 9310086503717 PBX
€SC9665 SCW TPINE TC SQ 10-8X65 PBX50 9310086503793 5 PBX | 9310086503793 PBX
CST9665 SCW TPINE TC SQ 10-8X65 BX500 9310086583696 1 BOX | 9310086503939 BX
EDZ7675 SCW TPINETC SQ 10-8 X 75 SP10 9310086500686 5 PAC | 9310086503724 PBX
CSC9675 SCW TPINE TC SQ 10-8 X 75 PBX50 9314772017489 5 PBX | 9310086518025 PBX
CST9675 SCW TPINE TC SQ 10-8 X 75 BX500 9310086583702 1 BOX | 9310086518612 BX
EDZ7600 SCW TPINE TC SQ 10-8 X 100 SP8 9310086500198 5 PAC | 9310086503731 PBX
CSC9600 SCW TPINE TC SQ 10-8 X 100 PBX50 9310086517981 5 PBX | 9310086517981 PBX
CST9600 SCW TPINE TCSQ 10-8X100 BX500 9310086503946 1 BOX | 9310086503946 BX
TIMBER SCREWS TYPE 17 POINT
HEX WASHER HEAD W/SEAL — HEX DRIVE - CLASS 3

E%QW EDG7625 SCW T17 HX SL C3 10-12 X 25 SP15 9310086504042 5 PAC | 9310086504042 PAC
EDG7725 SCWT17 HX SL C3 12-11 X 25 SP15 9310086504066 5 PAC | 9310086504066 PAC
CVM7725 SCW T17 HX SL C3 12-11 X 25 PBX50 9310086614604 5 PBX | 9310086614604 PBX
CVM7825 SCW T17 HX SL C3 14-10 X 25 PBX50 9310086945135 5 PBX | 9310086945135 PBX
CBM7725 SCW T17 HX SL C3 12-11 X 25 BX100 9310086662582 1 BOX | 9310086662582 BOX
CBV7725 SCWT17 HX SL C3 12-11 X 25 BX500 9310086662681 1 BOX | 9310086662681 BOX
EDG7730 SCWT17 HXSL C3 12-11 X 30 SP10 9310086964808 5 PAC | 9310086964808 PAC
CVM7730 SCW T17 HX SL C3 12-11 X 30 PBX50 9310086945128 5 PBX | 9310086945128 PBX
EDG7745 SCWT17 HXSL C3 12-11 X 45 SP10 9310086504257 5 PAC | 9310086504257 PAC
CVM7745 SCW T17 HX SL C3 12-11 X 45 PBX50 9310086614611 5 PBX | 9310086614611 PBX
CBM7745 SCW T17 HX SL C3 12-11 X 45 BX100 9310086662605 1 BOX | 9310086662605 BOX
CBV7745 SCWT17 HX SL C3 12-11 X 45 BX500 9310086662698 1 BOX | 9310086662698 BOX
EDG7850 SCW T17 HX SL C3 14-10 X 50 SP6 9310086504318 5 PAC | 9310086504318 PAC
EDG7750 SCW T17 HX SL C3 12-11 X 50 SP8 9310086504264 5 PAC | 9310086504264 PAC
CVM7850 SCW T17 HX SL C3 14-10 X 50 PBX25 9310086614642 5 PBX |9310086614642 PBX
CVM7750 SCW T17 HX SL C3 12-11 X 50 PBX50 9310086614628 5 PBX | 9310086614628 PBX
CBM7750 SCW T17 HX SL C3 12-11 X 50 BX100 9310086662612 1 BOX | 9310086662612 BOX
CBV7750 SCW T17 HX SL C3 12-11 X 50 BX500 9310086662704 1 BOX |9310086662704 BOX
CBV7850 SCW T17 HX SL C3 14-10 X 50 BX500 9310086563162 1 BOX | 9310086563162 BOX
CBW7750 SCW T17 HX SL C3 12-11 X 50 BX1000 9310086563155 1 BOX | 9310086563155 BOX
EDG7765 SCW T17 HX SL C3 12-11 X 65 SP6 9310086504325 5 PAC | 9310086504325 PAC
CVM7865 SCW T17 HX SL C3 14-10 X 65 PBX25 9310086614697 5 PBX | 9310086614697 PBX
CVM7765 SCW T17 HX SL C3 12-11 X 65 PBX50 9310086614666 5 PBX | 9310086614666 PBX
CBM7865 SCW T17 HX SL C3 14-10 X 65 BX50 9310086662650 1 BOX |9310086662650 BOX
CBM7765 SCW T17 HX SL C3 12-11 X 65 BX100 9310086662629 1 BOX | 9310086662629 BOX
CBV7765 SCW T17 HX SL C3 12-11 X 65 BX500 9310086662711 1 BOX | 9310086662711 BOX
EDG7875 SCWT17 HX SL C3 14-10 X 75 SP5 9310086504349 5 PAC | 9310086504349 PAC
CVM7875 SCW T17 HX SL C3 14-10 X 75 PBX25 9310086614710 5 PBX |9310086614710 PBX
CBM7875 SCW T17 HX SL C3 14-10 X 75 BX50 9310086662667 1 BOX | 9310086662667 BOX
CBV7875 SCWT17 HX SL C3 14-10 X 75 BX250 9310086690615 1 BOX |9310086690615 BOX
CVM7890 SCW T17 HX SL C3 14-10 X 90 PBX25 9310086614734 5 PBX |9310086614734 PBX
CBM7890 SCW T17 HX SL C3 14-10 X 90 BX50 9310086690608 1 BOX | 9310086690608 BOX
CVM7800 SCW T17 HX SL C3 14-10 X 100 PBX25 9310086614758 5 PBX |9310086614758 PBX
CBM7800 SCW T17 HX SL C3 14-10 X 100 BX50 9310086662674 1 BOX | 9310086662674 BOX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

TOP LOCK W/SEAL — HEX DRIVE — CLASS 3

EDL7750 SCWT17 TL SLC3 12-11 X 50 SP8 9310086504356 5  PAC [9310086504356  PAC
CVL7750  SCWT17 TL SL C3 12-11 X 50 PBX50 9310086926561 5  PBX |9310086926561  PBX
CCL7750  SCWT17 TL SLC3 12-11 X 50 BX100 9310086535527 1 BOX |9310086535527  BOX
CCM7750 SCWT17 TL SL C3 12-11 X 50 BX500 9310086539198 1 BOX |9310086539198  BOX
EDL7765 SCWT17TLSLC3 12-11 X 65 SP6 9310086504387 5  PAC |9310086504387  PAC
CVL7765 SCWT17 TL SL C3 12-11 X 65 PBX50 9310086926578 5  PBX |9310086926578  PBX
CCM7865 SCW T17 TL SL C3 14-10 X 65 BX250 9310086964785 1 BOX |9310086964785  BOX
CCM7765 SCWT17 TL SL C3 12-11 X 65 BX500 9310086539266 1  BOX | 9310086539266  BOX
CVL7875 SCWT17 TL SLC3 14-10 X 75 PBX25 9310086964792 5  PBX |9310086964792  PBX
HEX WASHER HEAD NO SEAL - HEX DRIVE — CLASS 3

(=i CBP7625 SCW T17 HX C3 10-12 X 25 PBX50 9310086690622 5  PBX |9310086690622  PBX
CCP7625  SCW T17 HX €3 10-12 X 25 BX500 9310086538788 1  BOX | 9310086538788  BOX
EDH7725 SCWT17 HX C3 12-11 X 25 SP15 9310086504578 5  PAC |9310086504578  PAC
CCP7630  SCW T17 HX C3 10-12 X 30 BX500 9310086538795 1  BOX |9310086538795  BOX
CCP7740  SCWT17 HX C3 12-11 X 40 BX500 9310086538849 1 BOX |9310086538849  BOX
EDH7750 ~ SCW T17 HX C3 12-11 X 50 SP10 9310086504585 5  PAC |9310086504585  PAC
EDH7765 SCW T17 HX C3 12-11 X 65 SP8 9310086504639 5  PAC | 9310086504639  PAC
EDH7875 SCWT17 HX C3 14-10 X 75 SP5 9310086504646 5  PAC | 9310086504646  PAC
WAFER HEAD TIMBER SCREWS
WAFER HEAD - PHILLIPS DRIVE — GOLD PASSIVATED

ﬂtmm EDR6625  SCW T17 WF GP PHL 10-12 X 25 SP25 9310086505742 5  PAC |9310086505742  PAC
CBZ6625 SCW T17 WF GP PHL 10-12 X 25 PBX50 9310086934078 5  PBX |9310086934078  PBX
CBRE625  SCW T17 WF GP PHL 10-12 X 25 PBX100 9310086663350 5  PBX | 9310086663350  PBX
EDR6635  SCW T17 WF GP PHL 10-12 X 35 SP20 9310086505773 5  PAC | 9310086505773  PAC
CBR6635 SCW T17 WF GP PHL 10-12 X 35 PBX50 9310086663367 5  PBX | 9310086663367  PBX
EDR6645 SCW T17 WF GP PHL 10-12 X 45 SP15 9310086505834 5  PAC |9310086505834  PAC
CBRE645  SCW T17 WF GP PHL 10-12 X 45 PBX50 9310086663374 5  PBX | 9310086663374  PBX
WAFER HEAD — PHILLIPS DRIVE - CLASS 3

H}:W EDR7625 SCW T17 WF C3 PHL 10-12 X 25 SP22 9310086945562 5  PAC [9310086945562  PAC
CBR7625 SCW T17 WF C3 PHL10-12 X 25 PBX100 9310086945098 5  PBX |9310086945098  PBX
CBR7635 SCW T17 WF C3 PHL 10-12 X 35 PBX50 9310086945104 5  PBX |9310086945104  PBX
EDR7645 ~SCW T17 WF C3 PHL 10-12 X 45 SP13 9310086945586 5  PAC | 9310086945586  PAC
CBR7645 SCW T17 WF C3 PHL 10-12 X 45 PBX50 9310086945111 5  PBX |9310086945111  PBX
BUGLE HEAD BATTEN
BUGLE HEAD BATTEN — INT. HEX DRIVE — 304 STAINLESS STEEL

© [ CVU9850  SCW BAT IHX SS 14-10 X 50 PBX25 9310086909205 5  PBX |9310086909205  PBX
CBY9850  SCW BAT IHX SS 14-10 X 50 BX250 9310086909212 1 BOX |9310086909212  BOX
CVU9875  SCW BAT IHX SS 14-10 X 75 PBX25 9310086531666 5  PBX |9310086531666  PBX
CBY9875 ~ SCW BAT IHX SS 14-10 X 75 BX250 9310086532007 1 BOX |9310086532007  BOX
CVU9800  SCW BAT IHX SS 14-10 X 100 PBX25 9310086531895 5  PBX |9310086531895  PBX
CBY9800  SCW BAT IHX SS 14-10 X 100 BX250 9310086532014 1 BOX |9310086532014  BOX
CVU812  SCW BAT IHX SS 14-10 X 125 PBX25 9310086934085 5  PBX |9310086934085  PBX
CBY9812  SCW BAT IHX SS 14-10 X 125 BX50 9310086945319 1 BOX |9310086945319  BOX
CVU9B15 ~ SCW BAT IHX SS 14-10 X 150 PBX25 9310086934092 5  PBX |9310086934092  PBX
CBY9815  SCW BAT IHX SS 14-10 X 150 BX50 9310086948120 1 BOX |9310086948129  BOX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

@f=""""

@

BUGLE HEAD BATTEN - INT. HEX DRIVE - CLASS 3

EDM7850 SCW BAT IHX C3 14-10 X 50 SP8 9310086505841 5 PAC | 9310086505841 PAC
CVU7850 SCW BAT IHX C3 14-10 X 50 PBX25 9310086614888 5 PBX | 9310086614888 PBX
CBU7850 SCW BAT IHX C3 14-10 X 50 BX50 9310086614895 1 BOX | 9310086614895 BOX
CBY7850  SCW BAT IHX C3 14-10 X 50 BX500 9310086563216 1 BOX | 9310086563216 BOX
CVU7865 SCW BAT IHX C3 14 X 65 PBX25 9310086975200 5 PBX | 9310086975200 PBX
CBY7865 SCW BAT IHX C3 14 X 65 BX100 9310086975217 1 BOX | 9310086975217 BOX
EDM7875 SCW BAT IHX C3 14-10 X 75 SP6 9310086505889 5 PAC | 9310086505889 PAC
CVU7875 SCW BAT IHX C3 14-10 X 75 PBX25 9310086614901 5 PBX | 9310086614901 PBX
CBU7875 SCW BAT IHX C3 14-10 X 75 BX50 9310086614918 1 BOX | 9310086614918 BOX
CBB7875 SCW BAT IHX C3 14-10 X 75 BX100 9310086945142 1 BOX | 9310086945142 BOX
CBX7875 SCW BAT IHX C3 14-10X75 BX250 9310086503151 1 BOX |9310086503151 BOX
CBY7875 SCW BAT IHX C3 14-10 X 75 BX500 9310086563230 1 BOX | 9310086563230 BOX
CBU7885 SCW BAT IHX C3 14-10 X 85 BX50 9310086945166 1 BOX | 9310086945166 BOX
CVU7885 SCW BAT IHX C3 14-10 X 85 PBX25 9310086945159 5 PBX | 9310086945159 PBX
CBY7885 SCW BAT IHX C3 14-10 X 85 BX500 9310086945180 1 BOX | 9310086945180 BOX
CVU7800  SCW BAT IHX C3 14-10 X 100 PBX25 9310086614925 5 PBX | 9310086614925 PBX
CBU7800 SCW BAT IHX C3 14-10 X 100 BX50 9310086614932 1 BOX |9310086614932 BOX
CBB7800 SCW BAT IHX C3 14-10 X 100 BX100 9310086945197 1 BOX |9310086945197 BOX
CBY7800  SCW BAT IHX C3 14-10 X 100 BX250 9310086563247 1 BOX | 9310086563247 BOX
CBZ7800 SCW BAT IHX C3 14-10 X 100 BX500 9310086941533 1 BOX |9310086941533 BOX
CVU7812  SCW BAT IHX C3 14-10 X 125 PBX25 9310086926653 5 PBX | 9310086926653 PBX
CBU7925 SCW BAT IHX C3 14-10 X 125 BX50 9310086699663 1 BOX |9310086699663 BOX
CBY7925 SCW BAT IHX C3 14-10 X 125 BX250 9310086699687 1 BOX |9310086699687 BOX
CVU7815  SCW BAT IHX C3 14-10 X 150 PBX25 9310086926660 5 PBX [ 9310086926660 PBX
CBU7950 ~ SCW BAT IHX C3 14-10 X 150 BX50 9310086699670 1 BOX |9310086699670 BOX
CBY7950 SCW BAT IHX C3 14-10 X 150 BX250 9310086699847 1 BOX |9310086699847 BOX
Cvus017  SCW BAT IHX C3 14-10X175 PBX25 9310086997370 5 PBX | 9310086997370 PBX
CBB8017  SCW BAT IHX C3 14-10X175 BX100 9310086997387 1 BOX |9310086997387 BOX
CVU8120  SCW BAT IHX C3 14-10X200 PBX25 9310086997394 5 PBX | 9310086997394 PBX
CBB8120  SCW BAT IHX C3 14-10X200 BX100 9310086997400 1 BOX | 9310086997400 BOX
BUGLE HEAD BATTEN - INT. HEX DRIVE — GOLD PASSIVATED

CVU6850  SCW BAT IHX GP 14-10 X 50 PBX25 9310086926639 5 PBX | 9310086926639 PBX
CBU6850  SCW BAT IHX GP 14-10 X 50 BX50 9310086663244 1 BOX | 9310086663244 BOX
CBX6850 SCW BAT IHX GP 14-10 X 50 BX500 9310086539297 1 BOX | 9310086539297 BOX
CVU6875 SCW BAT IHX GP 14-10 X 75 PBX25 9310086926646 5 PBX | 9310086926646 PBX
CBU6875  SCW BAT IHX GP 14-10 X 75 BX50 9310086663251 1 BOX |9310086663251 BOX
CBY6875  SCW BAT IHX GP 14-10 X 75 BX500 9310086663299 1 BOX | 9310086663299 BOX
CVU6800  SCW BAT IHX GP 14-10 X 100 PBX25 9310086926622 5 PBX | 9310086926622 PBX
CBU6800  SCW BAT IHX GP 14-10 X 100 BX50 9310086663268 1 BOX |9310086663268 BOX
CBY6800 SCW BAT IHX GP 14-10 X 100 BX250 9310086563254 1 BOX | 9310086563254 BOX

1. Place orders in “order quantity multiples”.




CAMO

1. Place orders in “order quantity multiples”.

Ao BECK PASTENNG SYeTEn 2020
ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT ary  TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE
SCREWS |
DECKING SCREWS TYPE 17
. e DECKING SCREWS — SQUARE DRIVE - 304 STAINLESS STEEL
= CDH9440 SCW T17 DEK 304 SQ 8-10 X 40 PBX50 9310086926493 5 PBX | 9310086926493 PBX
CDK9440 SCW T17 DEK 304 SQ 8-10 X 40 BX250 9310086530126 1 BOX | 9310086530126 BOX
CDH9640 SCW T17 DEK 304 SQ 10-8 X 40 PBX50 9310086931749 5 PBX | 9310086931749 PBX
CDK9640 SCW T17 DEK 304 SQ 10-8 X 40 BX250 9310086931787 1 BOX | 9310086931787 BOX
CDL9440 SCW T17 DEK 304 SQ 8-10 X 40 BX500 9310086948136 1 BOX | 9310086948136 BOX
CDH9445 SCW T17 DEK 304 SQ 8-10 X 45 PBX50 9310086926509 5 PBX | 9310086926509 PBX
CDK9445 SCW T17 DEK 304 SQ 8-10 X 45 BX250 9310086530652 1 BOX | 9310086530652 BOX
CDK9645 SCW T17 DEK 304 SQ 10-8 X 45 BX250 9310086931794 1 BOX | 9310086931794 BOX
CDH9450 SCW T17 DEK 304 SQ 8-10 X 50 PBX50 9310086926516 5 PBX | 9310086926516 PBX
CDK9450 SCW T17 DEK 304 SQ 8-10 X 50 BX250 9310086530683 1 BOX | 9310086530683 BOX
CDL9450 SCW T17 DEK 304 SQ 8-10 X 50 BX500 9310086948143 1 BOX | 9310086948143 BOX
CDZ9450 SCW T17 DEK 304 SQ 8-10 X 50 BX1000 9310086975224 1 BOX | 9310086975224 BOX
CDH9650 SCW T17 DEK 304 SQ 10-8 X 50 PBX50 9310086931763 5 PBX | 9310086931763 PBX
CDK9650 SCW T17 DEK 304 SQ 10-8 X 50 BX250 9310086909175 1 BOX | 9310086909175 BOX
CDL9650 SCW T17 DEK 304 SQ 10-8 X 50 BX500 9310086948150 1 BOX |9310086948150 BOX
CDZ9650 SCW T17 DEK 304 SQ 10 X 50 BX1000 9310086975231 1 BOX | 9310086975231 BOX
CDH9465 SCW T17 DEK 304 SQ 8-10 X 65 PBX50 9310086926523 5 PBX | 9310086926523 PBX
CDK9465 SCW T17 DEK 304 SQ 8-10 X 65 BX250 9310086530775 1 BOX | 9310086530775 BOX
CDH9665 SCW T17 DEK 304 SQ 10-8 X 65 PBX50 9310086931770 5 PBX | 9310086931770 PBX
CDK9665 SCW T17 DEK 304 SQ 10-8 X 65 BX250 9310086909182 1 BOX | 9310086909182 BOX
QUICKSHOT™
SELF DRILLING DECKING SCREWS — SQUARE DRIVE - 304 STAINLESS STEEL
O PR
CDH9750 SCW SELF DRILL 304 12 X 50 PBX50 9310086969216 5 PBX | 9310086969216 PBX
CDL9750 SCW SELF DRILL 304 12 X 50 BX500 9310086969230 1 BOX | 9310086969230 BOX
CDH9765 SCW SELF DRILL 304 12 X 65 PBX50 9310086969223 5 PBX | 9310086969223 PBX
CDL9765 SCW SELF DRILL 304 12 X 65 BX500 9310086969247 1 BOX | 9310086969247 BOX
CAMO HIDDEN DECK FASTENING SYSTEM™
MARKSMAN PRO TOOLS
345015-AU CAMO PROTOOL HD — NARROW BOARD 42928162842 1 CRD | 42928162842 CRD
345001-AU CAMO PROTOOL HD — WIDE BOARD 42928162828 1 CRD | 42928162828 CRD
CAMO DRIVER BITS
8E==——""=345099-AU TOR X DRIVE BIT 15 PK2 42928162866 10 CRD | 42928162866 CRD
G r—= 345089-AU TOR X DRIVE BIT GROOVED 15 PK2 42928162859 10 CRD | 42928162859 CRD
HIDDEN DECK FASTENERS - STAR DRIVE - PROTECH
Prrer——s 345128-AU CAMO SCW PT 7 X 48 BX350 42928162903 1 BOX | 42928162903 BOX
345124-AU CAMO SCW PT 7 X 48 BX700 42928162897 1 BOX | 42928162897 BOX
345119-AU CAMO SCW PT 7 X 48 BX1750 42928162873 1 BOX | 42928162873 BOX
345148-AU CAMO SCW PT 7 X 60 BX350 42928162941 1 BOX | 42928162941 BOX
345144-AU CAMO SCW PT 7 X 60 BX700 42928162934 1 BOX | 42928162934 BOX



MO

HIDDEN DECK FASTENING SYSTEM

2020

RETAIL UNIT

PACK RETAIL
UNIT ary TYPE UNIT
CODE DESCRIPTION BARCODE MuLT BARCODE

HIDDEN DECK FASTENERS — STAR DRIVE - 316 STAINLESS STEEL

ORDER UNIT
ORDER ORDER

PACK
TYPE

(172 5 S— % e )
3452285-A0 CAMO SCW SS 7 X 48 BX350 42928162972 1 BOX |42928162972 BOX
3452245-AU CAMO SCW SS 7 X 48 BX700 42928162065 1 BOX | 42928162965 BOX
3452195-AU CAMO SCW SS 7 X 48 BX1750 42928162958 1 BOX |42928162958 BOX
COMPOSITE DECKING SCREWS — TOP FIX — STAR DRIVE — PROTECH

(Rt
0349255-AU COMPS 10 X 64 BX500 DARK BROWN | 4292816943 1 BOX |4292816943 BOX
CAMO STAND UP DRIVE TOOL
345060  CAMO STAND UP DRIVE TOOL |42928178836 1 BOX | 42928178836 BOX
CAMO COLLATED SCREWS FOR USE WITH CAMO DRIVE TOOL
HIDDEN DECK FASTENERS — STAR DRIVE — PROTECH

I3tvys smmm v wnuny
395010  CAMO COLSCW PT #7 X 60 BX1000 |42928178843 1 BOX | 42928178843 BOX
FACE FIX DECK FASTENERS — STAR DRIVE — PROTECH

I 395040  CAMO COLSCW PT 10GX76MM BX1000 |42928178874 1 BOX |42928178874 BOX
CAMO EDGE CLIP
344354 CAMO JOIST EDGECLIP BX90 42928178942 1 BOX | 42928178942 BOX
344359 CAMO JOIST EDGECLIP BX450 42928178935 1 BOX | 42928178935 BOX
CAMO EDGE CLIP X - FOR BREAKER BOARDS & ANGULAR JOISTS
344554 CAMO JOIST EDGECLIP-X BX90 42928178973 1 BOX |42928178973 BOX
TYPE 17 TIMBER SCREWS
COUNTERSUNK HEAD — PHILLIPS DRIVE — CLASS 3

@ ﬂ;mmm ” EDI7425  SOWT17 CS 3 PHL 6-15 X 25 SP30 9310086945630 5  PAC |9310086945630  PAC
EDI7630  SCWT17 CS C3 PHL 10-12 X 30 SP22 9310086945647 5  PAC [9310086945647  PAC
CBO7630 SCW T17 CS C3 PHL 10-12 X 30 PBX50 9310086926424 5  PBX |9310086926424  PBX
EDI7640  SCWT17 CS C3 PHL 10-12 X 40 SP18 9310086945661 5  PAC | 9310086945661  PAC
CBO7640 SCW T17 CS C3 PHL 10-12 X 40 PBX50 9310086926431 5  PBX |9310086926431  PBX
EDI7650  SCWT17 CS C3 PHL 10-12 X 50 SP14 9310086945678 5  PAC [9310086945678  PAC
CBO7650 SCW T17 CS C3 PHL 10-12 X 50 PBX50 9310086926448 5  PBX |9310086926448  PBX
EDI7675  SCWT17 CS C3 PHL 10-12X 75 SP10 9310086945685 5  PAC |9310086945685  PAC
CBQ7675 SCW T17 CS C3 PHL 10-12 X 75 PBX50 9310086945302 5  PBX [9310086945302  PBX
COUNTERSUNK HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

@ ﬂ;@@m CBO6220 SCW T17 CS GP PHL 6-20 X 20 PBX100 9310086563278 5  PBX |9310086563278  PBX
EDI6425  SCWT17 CS GP PHL 8-15 X 25 SP35 9310086504752 5  PAC [9310086504752  PAC
CBO6425 SCWT17 CS GP PHL 8-15 X 25 PBX100 9310086663138 5  PBX |9310086663138  PBX
EDI6630  SCWT17 CS GP PHL 10-12 X 30 SP25 9310086504868 5  PAC [9310086504868  PAC
CBO6630  SCW T17 CS GP PHL 10-12 X 30 PBX100 9310086663152 5  PBX |9310086663152  PBX
EDIB640  SCWT17 CS GP PHL 10-12 X 40 SP20 9310086505049 5  PAC | 9310086505049  PAC
CBO6640  SCW T17 CS GP PHL 10-12 X 40 PBX50 9310086663169 5  PBX |9310086663169  PBX
EDIB650  SCW T17 CS GP PHL 10-12 X 50 SP16 9310086505230 5  PAC [9310086505230  PAC
CBO6650 SCW T17 CS GP PHL 10-12 X 50 PBX50 9310086663176 5  PBX |9310086663176  PBX
CBO6675 SCW T17 CS GP PHL 10-12 X 75 PBX50 9310086690677 5  PBX |9310086690677  PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

COUNTERSUNK RIBBED HEAD - PHILLIPS DRIVE - CLASS 3

EDT7430 SCW T17 CR C3 PHL 8-15 X 30 SP30 9310086945593 5 PAC | 9310086945593 PAC
CBN7430 SCW T17 CR C3 PHL 8-15 X 30 PBX100 9310086945258 5 PBX | 9310086945258 PBX
EDT7440 SCWT17 CR C3 PHL 8-15 X 40 SP25 9310086945609 5 PAC | 9310086945609 PAC
CBN7440 SCW T17 CR C3 PHL 8-15 X 40 PBX100 9310086945265 5 PBX | 9310086945265 PBX
CBN7645 SCW T17 CR C3 PHL10-12 X 45 PBX50 9310086945272 5 PBX | 9310086945272 PBX
TIMBER SCREWS TYPE 17 POINT WITH EPDM DOME WASHER

HEX WASHER HEAD - HEX DRIVE — CLASS 3 FINISH — FOR POLYCARBONATE SHEET

CVMO0750 SCW T17 POLYC C3 12-11 X 50 PBX50 9310086658707 5 PBX | 9310086658707 PBX
CBV0750 SCW T17 POLYC C3 12-11 X 50 BX250 9310086658714 1 BOX | 9310086658714 BOX
DOME WASHERS — EPDM

FOR POLYCARBONATE & FIBREGLASS ROOFING

CVR0000 WASHER EPDM DOME PBX50 9310086658738 5 PBX | 9310086658738 PBX
CVRO001  NEO WASHER GREY 12G PBX50 9310086971424 5 PBX | 9310086971424 PBX
TIMBER SCREWS STITCHING NEEDLE POINT

BUTTON HEAD - PHILLIPS DRIVE - CLASS 3

EDS7415 SCW STITCH C3 PHL 8-15 X 15 SP35 9310086945692 5 PAC | 9310086945692 PAC
CBZ7415 SCW STITCH C3 PHL 8-15 X 15 PBX100 9310086926455 5 PBX | 9310086926455 PBX
EDS7420 SCW STITCH C3 PHL 8-15 X 20 SP30 9310086945708 5 PAC | 9310086945708 PAC
CBZ7420 SCW STITCH C3 PHL 8-15 X 20 PBX100 9310086926462 5 PBX | 9310086926462 PBX
EDS7425 SCW STITCH C3 PHL 8-15 X 25 SP28 9310086945715 5 PAC | 9310086945715 PAC
CBZ7425 SCW STITCH C3 PHL 8-15 X 25 PBX100 9310086926479 5 PBX | 9310086926479 PBX
EDS7430 SCW STITCH C3 PHL 8-15 X 30 SP25 9310086945722 5 PAC | 9310086945722 PAC
CBZ7430 SCW STITCH C3 PHL 8-15 X 30 PBX100 9310086926486 5 PBX | 9310086926486 PBX
BUTTON HEAD — PHILLIPS DRIVE - GOLD PASSIVATED

EDS6415 SCW STITCH GP PHL 8-15 X 15 SP40 9310086505575 5 PAC | 9310086505575 PAC
CBZ6415 SCW STITCH GP PHL 8-15 X 15 BX500 9310086562585 5 BOX | 9310086562585 BOX
CCz6415  SCW STITCH GP PHL 8-15 X 15 BX1000 9310086539778 1 BOX | 9310086539778 BOX
CBZ6420 SCW STITCH GP PHL 8-15 X 20 PBX100 9310086926691 5 PBX [ 9310086926691 PBX
EDS6425 SCW STITCH GP PHL 8-15 X 25 SP30 9310086505605 5 PAC | 9310086505605 PAC
CBZ6425 SCW STITCH GP PHL 8-15 X 25 PBX100 9310086562608 5 PBX | 9310086562608 PBX
CCZ6425 SCW STITCH GP PHL 8-15 X 25 BX500 9310086539785 1 BOX | 9310086539785 BOX
EDS6430 SCW STITCH GP PHL 8-15 X 30 SP25 9310086505711 5 PAC | 9310086505711 PAC
CBz6430 SCW STITCH GP PHL 8-15 X 30 PBX100 9310086562622 5 PBX | 9310086562622 PBX
CCZ6430 SCW STITCH GP PHL 8-15 X 30 BX1000 9310086539792 1 BOX | 9310086539792 BOX

1. Place orders in “order quantity multiples”.




zgﬁi 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT BARCODE
SCREWS |
SELF TAPPING SCREWS
PAN HEAD - SLOTTED / PHILLIPS DRIVE - ZINC PLATED
@ W EAF1006  S/TAP SPH ZP PH 4G X 6 SP50 9310086502710 5 PAC | 9310086502710 PAC
EAF1010  S/TAP SPH ZP PH 4G X 9 SP50 9310086502727 5 PAC | 9310086502727 PAC
CWS1010  S/TAP SPH ZP PH 4G X 9 PBX100 9310086531192 5 PBX | 9310086531192 PBX
EAF1210  S/TAP SPH ZP PH 6G X 9 SP40 9310086502734 5 PAC | 9310086502734 PAC
EAF1410  S/TAP SPH ZP PH 8G X 9 SP35 9310086502758 5 PAC | 9310086502758 PAC
CWS1410 S/TAP SPH ZP PH 8G X 9 PBX100 9310086532816 5 PBX | 9310086532816 PBX
EAF1212  S/TAP SPH ZP PH 6G X 12 SP40 9310086502765 5 PAC | 9310086502765 PAC
CWS1212  S/TAP SPH ZP PH 6G X 12 PBX100 9310086531215 5 PBX | 9310086531215 PBX
EAF1412  S/TAP SPH ZP PH 8G X 12 SP35 9310086502772 5 PAC | 9310086502772 PAC
CWS1412  S/TAP SPH ZP PH 8G X 12 PBX100 9310086531222 5 PBX | 9310086531222 PBX
CWS1612 S/TAP SPH ZP PH 10G X 12 PBX100 9310086531239 5 PBX | 9310086531239 PBX
EAF1612  S/TAP SPH ZP PH 10G X 12 SP30 9310086502789 5 PAC | 9310086502789 PAC
EAF1216  S/TAP SPH ZP PH 6G X 15 SP40 9310086502796 5 PAC | 9310086502796 PAC
CWS1216 S/TAP SPH ZP PH 6G X 15 PBX100 9310086531253 5 PBX [ 9310086531253 PBX
EAF1416  S/TAP SPH ZP PH 8G X 15 SP35 9310086502833 5 PAC | 9310086502833 PAC
CWS1416 S/TAP SPH ZP PH 8G X 15 PBX100 9310086531277 5 PBX [ 9310086531277 PBX
EAF1616  S/TAP SPH ZP PH 10G X 15 SP30 9310086502857 5 PAC | 9310086502857 PAC
CWS1616  S/TAP SPH ZP PH 10G X 15 PBX100 9310086531284 5 PBX | 9310086531284 PBX
EAF1220  S/TAP SPH ZP PH 6G X 18 SP35 9310086502864 5 PAC | 9310086502864 PAC
CWS1220 S/TAP SPH ZP PH 6G X 18 PBX100 9310086531291 5 PBX [9310086531291 PBX
EAF1420  S/TAP SPH ZP PH 8G X 18 SP30 9310086502871 5 PAC | 9310086502871 PAC
CWS1420 S/TAP SPH ZP PH 8G X 18 PBX100 9310086531307 5 PBX [ 9310086531307 PBX
EAF1620  S/TAP SPH ZP PH 10G X 18 SP25 9310086502895 5 PAC | 9310086502895 PAC
CWS1620 S/TAP SPH ZP PH 10G X 18 PBX100 9310086531314 5 PBX | 9310086531314 PBX
EAF1720  S/TAP SPH ZP PH 12G X 18 SP20 9310086502949 5 PAC | 9310086502949 PAC
CWS1820 S/TAP SPH ZP PH 14G X 18 PBX100 9310086531338 5 PBX [ 9310086531338 PBX
EAF1225  S/TAP SPH ZP PH 6G X 25 SP35 9310086503021 5 PAC | 9310086503021 PAC
CWS1225 S/TAP SPH ZP PH 6G X 25 PBX100 9310086531345 5 PBX [ 9310086531345 PBX
EAF1425  S/TAP SPH ZP PH 8G X 25 SP30 9310086503038 5 PAC | 9310086503038 PAC
CWS1425 S/TAP SPH ZP PH 8G X 25 PBX100 9310086531352 5 PBX | 9310086531352 PBX
EAF1625  S/TAP SPH ZP PH 10G X 25 SP25 9310086503045 5 PAC | 9310086503045 PAC
CWS1625 S/TAP SPH ZP PH 10G X 25 PBX100 9310086531369 5 PBX [ 9310086531369 PBX
EAF1825  S/TAP SPH ZP PH 14G X 25 SP12 9310086503052 5 PAC | 9310086503052 PAC
EAF1230  S/TAP SPH ZP PH 6G X 30 SP30 9310086503120 5 PAC | 9310086503120 PAC
EAF1430  S/TAP SPH ZP PH 8G X 30 SP25 9310086503205 5 PAC | 9310086503205 PAC
CWS1430 S/TAP SPH ZP PH 8G X 30 PBX100 9310086531383 5 PBX |9310086531383 PBX
EAF1630  S/TAP SPH ZP PH 10G X 30 SP22 9310086503236 5 PAC | 9310086503236 PAC
CWS1630 S/TAP SPH ZP PH 10G X 30 PBX100 9310086531390 5 PBX | 9310086531390 PBX
CWS1730  S/TAP SPH ZP PH 12G X 30 PBX50 9310086531406 5 PBX |9310086531406 PBX
EAF1440  S/TAP SPH ZP PH 8G X 38 SP18 9310086503403 5 PAC | 9310086503403 PAC
CWS1440 S/TAP SPH ZP PH 8G X 38 PBX100 9310086531413 5 PBX |9310086531413 PBX
CWS1640 S/TAP SPH ZP PH 10G X 38 PBX50 9310086531420 5 PBX |9310086531420 PBX
EAF1740  S/TAP SPH ZP PH 12G X 38 SP12 9310086503533 5 PAC | 9310086503533 PAC
EAF1450  S/TAP SPH ZP PH 8G X 50 SP18 9310086503595 5 PAC | 9310086503595 PAC
EAF1650  S/TAP SPH ZP PH 10G X 50 SP14 9310086503618 5 PAC | 9310086503618 PAC
CWS1650 S/TAP SPH ZP PH 10G X 50 PBX50 9310086531468 5 PBX | 9310086531468 PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

PAN HEAD - SLOTTED / PHILLIPS DRIVE — 304 STAINLESS STEEL
@ Q““““! EBT8212  S/TAP SPH SS PH 6G X 12 SP16

9310086503700 5 PAC | 9310086503700 PAC

CWS8212  S/TAP SPH SS PH 6G X 12 PBX100 9310086633971 5 PBX | 9310086633971 PBX
EBT8412  S/TAP SPH SS PH 8G X 12 SP14 9310086503779 5 PAC | 9310086503779 PAC
CWS8412 S/TAP SPH SS PH 8G X 12 PBX100 9310086633988 5 PBX | 9310086633988 PBX
EBT8216  S/TAP SPH SS PH 6G X 15 SP14 9310086503786 5 PAC | 9310086503786 PAC
EBT8416  S/TAP SPH SS PH 8G X 15 SP12 9310086503809 5 PAC | 9310086503809 PAC
EBT8616  S/TAP SPH SS PH 10G X 15 SP9 9310086503823 5 PAC | 9310086503823 PAC
CWS8616 S/TAP SPH SS PH 10G X 15 PBX100 9310086634060 5 PBX | 9310086634060 PBX
EBT8220  S/TAP SPH SS PH 6G X 18 SP12 9310086503830 5 PAC | 9310086503830 PAC
EBT8420  S/TAP SPH SS PH 8G X 18 SP10 9310086503847 5 PAC | 9310086503847 PAC
CWS8420 S/TAP SPH SS PH 8G X 18 PBX100 9310086634091 5 PBX | 9310086634091 PBX
EBT8620  S/TAP SPH SS PH 10G X 18 SP8 9310086503854 5 PAC | 9310086503854 PAC
EBT8425  S/TAP SPH SS PH 8G X 25 SP10 9310086503885 5 PAC | 9310086503885 PAC
CWS8425  S/TAP SPH SS PH 8G X 25 PBX100 9310086634138 5 PBX [ 9310086634138 PBX
EBT8625 S/TAP SPH SS PH 10G X 25 SP8 9310086503915 5 PAC | 9310086503915 PAC
CWS8625 S/TAP SPH SS PH 10G X 25 PBX100 9310086634152 5 PBX [ 9310086634152 PBX
EBT8725  S/TAP SPH SS PH 126G X 25 SP6 9310086503922 5 PAC | 9310086503922 PAC
EBT8430  S/TAP SPH SS PH 8G X 30 SP8 9310086503953 5 PAC | 9310086503953 PAC
CWS8430 S/TAP SPH SS PH 8G X 30 PBX100 9310086634183 5 PBX |9310086634183 PBX
EBT8630  S/TAP SPH SS PH 10G X 30 SP8 9310086503960 5 PAC | 9310086503960 PAC
EBT8730  S/TAP SPH SS PH 126G X 30 SP6 9310086503991 5 PAC | 9310086503991 PAC
EBT8440  S/TAP SPH SS PH 8G X 38 SP8 9310086504004 5 PAC | 9310086504004 PAC
CWS8440 S/TAP SPH SS PH 8G X 38 PBX100 9310086634206 5 PBX | 9310086634206 PBX
CXS8438  S/TAP SPH SS PH 8GX38 BX500 9310086503502 1 BOX |9310086503502 BOX
EBT8640 S/TAP SPH SS PH 10G X 38 SP8 9310086504011 5 PAC | 9310086504011 PAC
CWS8640 S/TAP SPH SS PH 10G X 38 PBX50 9310086634213 5 PBX | 9310086634213 PBX
EBT8650  S/TAP SPH SS PH 10G X 50 SP4 9310086504028 5 PAC | 9310086504028 PAC
POLYBOX — COUNTERSUNK — PHILLIPS DRIVE — 304 STAINLESS STEEL

@ W CWT8425 S/TAP PHL SS CS 8G X 25 PBX50 9310086934177 5 PBX | 9310086934177 PBX
CWT8625 S/TAP PHL SS CS 10G X 25 PBX50 9310086934207 5 PBX | 9310086934207 PBX
CWT8432 S/TAP PHL SS CS 8G X 32 PBX50 9310086934184 5 PBX | 9310086934184 PBX
CWT8632 S/TAP PHL SS CS 10G X 32 PBX50 9310086934214 5 PBX | 9310086934214 PBX
CWT8450 S/TAP PHL SS CS 8G X 50 PBX50 9310086934191 5 PBX | 9310086934191 PBX
METAL SCREWS DRILL POINT
HEX WASHER HEAD W/SEAL - HEX DRIVE — CLASS 3

@@m@m@ EDB7616 SCW MT HX SL C3 10-16 X 16 SP20 9310086506053 5 PAC | 9310086506053 PAC
CBG7616  SCW MT HX SL C3 10-16 X 16 PBX100 9310086662087 5 PBX | 9310086662087 PBX
CVW7616 SCW MT HX SL C3 10-16 X 16 BX500 9310086662131 1 BOX |9310086662131 BOX
CW7616  SCW MT HX SL C3 10-16 X 16 BX1000 9310086562943 1 BOX | 9310086562943 BOX
EDB7720 SCW MT HX SL C3 12-14 X 20 SP15 9310086506060 5 PAC | 9310086506060 PAC
CVG7720 SCW MT HX SL C3 12-14 X 20 PBX50 9310086615052 5 PBX | 9310086615052 PBX
CBG7720 SCW MT HX SL C3 12-14 X 20 BX100 9310086662094 1 BOX | 9310086662094 BOX
CVW7720 SCW MT HX SL C3 12-14 X 20 BX500 9310086662148 1 BOX | 9310086662148 BOX
EDB7725 SCW MT HX SL C3 12-14 X 25 SP10 9310086964754 5 PAC | 9310086964754 PAC
EDB7625 SCW MT HX SL C3 10-16 X 25 SP15 9310086506091 5 PAC | 9310086506091 PAC
CBG7625 SCW MT HX SL C3 10-16 X 25 PBX50 9310086562950 5 PBX | 9310086562950 PBX
CVG7725 SCW MT HX SL C3 12-14 X 25 PBX50 9310086964761 5 PBX | 9310086964761 PBX
EDB7735 SCW MT HX SL C3 12-14 X 35 SP10 9310086506107 5 PAC | 9310086506107 PAC
CVG7735 SCW MT HX SL C3 12-14 X 35 PBX50 9310086615069 5 PBX | 9310086615069 PBX
CBG7735 SCW MT HX SL C3 12-14 X 35 BX100 9310086662100 1 BOX |9310086662100 BOX

1. Place orders in “order quantity multiples”.




zgﬁi 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

HEX WASHER HEAD W/SEAL — HEX DRIVE - CLASS 3 (cont.)

@] CVW7735 SCW MT HX SL C3 12-14 X 35 BX500 9310086662155

1 BOX |[9310086662155  BOX
EDB7745 SCW MT HX SL C3 12-14 X 45 SP8 9310086506244 5  PAC |9310086506244  PAC
CVG7745 ~ SCW MT HX SL C3 12-14 X 45 PBX50 9310086615076 5  PBX |9310086615076  PBX
CBG7745 SCW MT HX SL C3 12-14 X 45 BX100 9310086662117 1 BOX |9310086662117  BOX
CVW7745 SCW MT HX SL C3 12-14 X 45 BX500 9310086662179 1 BOX |9310086662179  BOX
CCD7850  SCW MT HX SL C3 14-10 X 50 BX100 9310086531772 1 BOX |9310086531772  BOX
EDB7765 SCW MT HX SL C3 12-14 X 65 SP6 9310086507531 5  PAC |9310086507531  PAC
CVG7765 SCW MT HX SL C3 12-14 X 65 PBX50 9310086615083 5  PBX |9310086615083  PBX
CBG7765 SCW MT HX SL C3 12-14 X 65 BX100 9310086615090 1 BOX |9310086615090  BOX
CVG7765 SCW MT HX SL C3 12-14 X 65 PBX50 9310086615083 5  PBX |9310086615083  PBX
CBG7765 SCW MT HX SL C3 12-14 X 65 BX100 9310086615090 1 BOX |9310086615090  BOX
TOP LOCK W/SEAL — HEX DRIVE - CLASS 3
L CCR7735 SCW MTTL SL C3 12-14 X 35 BX500 9310086538269 1 BOX |9310086538269  BOX
CCD7765 SCW MTTL SL C312-14 X 65 BX100 9310086532168 1  BOX | 9310086532168  BOX
HEX WASHER HEAD NO SEAL — HEX DRIVE - CLASS 3
=i EDC7412  SCW MT HX C3 8-18 X 12 SP30 9310086949522 5  PAC |9310086949522  PAC
CBH7412  SCW MT HX C3 8-18 X 12 PBX100 9310086562905 5  PBX | 9310086562905  PBX
EDC7616  SCW MT HX C3 10-16 X 16 SP25 9310086507623 5  PAC |9310086507623  PAC
CBH7616 SCW MT HX C3 10-16 X 16 PBX100 9310086690424 5  PBX |9310086690424  PBX
CVB7616  SCW MT HX C3 10-16 X 16 BX500 9310086690462 1 BOX |9310086690462  BOX
EDC7720  SCW MT HX C3 12-14 X 20 SP15 9310086507722 5  PAC |9310086507722  PAC
CVH7720  SCW MT HX C3 12-14 X 20 PBX50 9310086615106 5  PBX |9310086615106  PBX
CVB7720  SCW MT HX C3 12-14 X 20 BX500 9310086690479 1 BOX |9310086690479  BOX
EDC7822  SCW MT HX C3 14-10 X 22 SP8 9310086508095 5  PAC |9310086508095  PAC
CVH7822  SCW MT HX C3 14-20 X 22 PBX50 9310086615113 5  PBX |9310086615113  PBX
EDC7625 SCW MT HX C3 10-16 X 25 SP20 9310086508354 5  PAC |9310086508354  PAC
CBH7625 SCW MT HX C3 10-16 X 25 PBX50 9310086562020 5  PBX |9310086562029  PBX
EDC7735 SCW MT HX C3 12-14 X 35 SP12 9310086508361 5  PAC |9310086508361  PAC
CVH7735  SCW MT HX C3 12-14 X 35 PBX50 9310086615120 5  PBX |9310086615120  PBX
CVH7745 ~ SCW MT HX C3 12-14 X 45 PBX50 9310086926530 5  PBX |9310086926530  PBX
CVH7765 SCW MT HX C3 12-14 X 65 PBX50 9310086926554 5  PBX |9310086926554  PBX
HEX WASHER HEAD NO SEAL — HEX DRIVE — GOLD PASSIVATED
L EDC6616  SCW MT HX GP 10-16 X 16 SP30 9310086507609 5  PAC | 9310086507609  PAC
CBI6B16  SCW MT HX GP 10-16 X 16 PBX50 9310086926219 5  PBX |9310086926219  PBX
CBI6720  SCW MT HX GP 12-14 X 20 PBX50 9310086926226 5  PBX |9310086926226  PBX
WAFER HEAD - PHILLIPS DRIVE — CLASS 3
H}W‘W@ CBL7412  SCW MT WF C38-18 X 12 PBX100 9310086934054 5  PBX |9310086934054  PBX
EDF7616  SCW MT WF C3 10-16 X 16 SP30 9310086507548 5  PAC |9310086507548  PAC
CBL7616  SCW MT WF C3 10-16 X 16 PBX100 9310086690561 5  PBX | 9310086690561  PBX
EDF7622  SCW MT WF C3 10-16 X 22 SP25 9310086507555 5  PAC |9310086507555  PAC
CBL7622 SCW MT WF C3 10-16 X 22 PBX100 9310086690578 5  PBX |9310086690578  PBX
CBL7425 ~ SCW MT WF C3 8-18 X 25 PBX100 9310086934061 5  PBX |9310086934061  PBX
EDF7630  SCW MT WF C3 10-16 X 30 SP20 9310086949515 5  PAC |9310086949515  PAC
CBL7630 SCW MT WF C3 10-16 X 30 PBX50 9310086563049 5  PBX |9310086563049  PBX
WAFER HEAD - PHILLIPS DRIVE - GOLD PASSIVATED
H}mmmm@ CBL6616  SCW MT WF GP 10-16 X 16 PBX100 9310086563094 5  PBX | 9310086563094  PBX
CBL6622  SCW MT WF GP 10-16 X 22 PBX100 9310086563100 5  PBX |9310086563100  PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

BUTTON HEAD - PHILLIPS DRIVE - CLASS 3

EDN7412 SCW MT BN C3 8-18 X 12 SP35 9310086945449 5 PAC | 9310086945449 PAC
CVS7412  SCW MT BN C3 8-18 X 12 PBX100 9310086945012 5 PBX | 9310086945012 PBX
EDN7416 SCW MT BN C3 8-18 X 16 SP32 9310086945456 5 PAC | 9310086945456 PAC
EDN7420 SCW MT BN C3 8-18 X 20 SP30 9310086945463 5 PAC | 9310086945463 PAC
CVS7420  SCW MT BN C3 8-18 X 20 PBX100 9310086945029 5 PBX | 9310086945029 PBX
EDN7432 SCW MT BN C3 8-18 X 32 SP25 9310086945494 5 PAC | 9310086945494 PAC
CVS7432  SCW MT BN C3 8-18 X 32 PBX100 9310086945043 5 PBX | 9310086945043 PBX
COUNTERSUNK HEAD — PHILLIPS DRIVE - CLASS 3

EDE7425 SCW MT CS C3 8-18 X 25 SP30 9310086945500 5 PAC | 9310086945500 PAC
EDE7430 SCW MT CS C3 8-18 X 30 SP25 9310086945524 5 PAC | 9310086945524 PAC
CBJ7430 SCW MT CS C3 8-18 X 30 PBX50 9310086926257 5 PBX | 9310086926257 PBX
EDE7630 SCW MT CS C3 10-24 X 30 SP20 9310086508682 5 PAC | 9310086508682 PAC
CBJ7630 SCW MT CS C3 10-24 X 30 PBX50 9310086926271 5 PBX | 9310086926271 PBX
CBJ7435 SCW MT CS C3 8-18 X 35 PBX50 9310086926264 5 PBX | 9310086926264 PBX
EDE7640 SCW MT CS C3 10-24 X 40 SP15 9310086508743 5 PAC | 9310086508743 PAC
CBJ7640  SCW MT CS C3 10-24 X 40 PBX50 9310086926288 5 PBX | 9310086926288 PBX
EDE7650 SCW MT CS C3 10-24 X 50 SP12 9310086508750 5 PAC | 9310086508750 PAC
CBJ7650 SCW MT CS C3 10-24 X 50 PBX50 9310086926295 5 PBX | 9310086926295 PBX
CBJ7665 SCW MT CS C3 10-24 X 65 PBX50 9310086934030 5 PBX | 9310086934030 PBX
COUNTERSUNK HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

CBJ6630  SCW MT CS GP 10-24 X 30 PBX50 9310086690516 5 PBX | 9310086690516 PBX
CBJ6640  SCW MT CS GP 10-24 X 40 PBX50 9310086662445 5 PBX | 9310086662445 PBX
CBJ6650  SCW MT CS GP 10-24 X 50 PBX50 9310086662452 5 PBX | 9310086662452 PBX
CBJ6665 SCW MT CS GP 10-24 X 65 PBX50 9310086615236 5 PBX | 9310086615236 PBX
COUNTERSUNK RIBBED HEAD - PHILLIPS DRIVE - CLASS 3

EDW7420 SCW MT CR C3 8-18 X 20 SP35 9310086508767 5 PAC | 9310086508767 PAC
CBK7420 SCW MT CR C3 8-18 X 20 PBX100 9310086934047 5 PBX | 9310086934047 PBX
EDW7430 SCW MT CR C3 8-18 X 30 SP25 9310086508774 5 PAC | 9310086508774 PAC
CBK7430 SCW MT CR C3 8-18 X 30 PBX100 9310086945081 5 PBX | 9310086945081 PBX
EDW7435 SCW MT CR C3 8-18 X 35 SP22 9310086945555 5 PAC | 9310086945555
COUNTERSUNK RIBBED HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

CBK6420 SCW MT CR GP 8-18 X 20 PBX100 9310086662513 5 PBX | 9310086662513 PBX
CBK6430 SCW MT CR GP 8-18 X 30 PBX100 9310086662520 5 PBX | 9310086662520 PBX
COUNTERSUNK HEAD W-WINGS — PHILLIPS DRIVE — GOLD PASSIVATED

CBK6250  SCW MWG CS GP 6-20 X 50 PBX50 9310086690554 5 PBX | 9310086690554 PBX
COUNTERSUNK RIBBED HEAD W-WINGS — PHILLIPS DRIVE — CLASS 3

CBK7630 SCW MWG CR C3 10-24 X 30 PBX50 9310086926301 5 PBX | 9310086926301 PBX
EDY7435 SCW MWG CR C3 8-18 X 35 SP20 9310086508798 5 PAC | 9310086508798 PAC
CVN7435 SCW MWG CR C3 8-18 X 35 PBX100 9310086945050 5 PBX | 9310086945050 PBX
CV07435 SCW MWG CR C3 8-18 X 35 BX500 9310086538566 1 BOX | 9310086538566 BOX
EDY7440 SCW MWG CR C3 8-18 X 40 SP18 9310086508804 5 PAC | 9310086508804 PAC
CBK7640 SCW MWG CR C3 10-24 X 40 PBX50 9310086926318 5 PBX | 9310086926318 PBX
Cv07640 SCW MWG CR C3 10-16 X 40 BX250 9310086538580 1 BOX | 9310086538580 BOX
EDY7645 SCW MWG CR C3 10-16 X 45 SP12 9310086508811 5 PAC [ 9310086508811 PAC
CBK7645 SCW MWG CR C3 10-16 X 45 PBX50 9310086945074 5 PBX | 9310086945074 PBX
CV07645 SCW MWG CR C3 10-16 X 45 BX250 9310086538603 1 BOX | 9310086538603 BOX

1. Place orders in “order quantity multiples”.




zgﬁi 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

(4) |-

COUNTERSUNK RIBBED HEAD W-WINGS — PHILLIPS DRIVE - GLASS 3 (cont.)

CvQ7645 SCW MWG CR C3 10-16 X 45 BX500 9310086931800 1 BOX | 9310086931800 BOX
CBK7650 SCW MWG CR C3 10-24 X 50 PBX50 9310086926325 5 PBX | 9310086926325 PBX
CV07655 SCW MWG CR C3 10-16 X 55 BX250 9310086538665 1 BOX | 9310086538665 BOX
CBK7660 SCW MWG CR C3 10-24 X 60 PBX50 9310086926332 5 PBX | 9310086926332 PBX
COUNTERSUNK RIBBED HEAD W-WINGS — PHILLIPS DRIVE — GOLD PASSIVATED

CVN6435 SCW MWG CR GP 8-18 X 35 PBX100 9310086615250 5 PBX | 9310086615250 PBX
CVN6440 SCW MWG CR GP 8-18 X 40 PBX100 9310086615267 5 PBX | 9310086615267 PBX
CBK6645 SCW MWG CR GP 10-16 X 45 PBX50 9310086662537 5 PBX | 9310086662537 PBX
CVN6655 SCW MWG CR GP 10-16 X 55 PBX50 9310086615281 5 PBX | 9310086615281 PBX
CVN6675 SCW MWG CR GP 10-16 X 75 PBX50 9310086615298 5 PBX | 9310086615298 PBX
BUTTON HEAD - PHILLIPS DRIVE — GOLD PASSIVATED

CvS6412  SCW MT BN GP 8-18 X 12 PBX100 9310086615304 PBX | 9310086615304 PBX
CVS6420 SCW MT BN GP 8-18 X 20 PBX100 9310086615311 PBX | 9310086615311 PBX
CvS6432  SCW MT BN GP 8-18 X 32 PBX100 9310086615328 PBX | 9310086615328 PBX
PLASTERBOARD SCREWS NEEDLE POINT

BUGLE HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

EDP6220 SCW PLAS BU GP 6-18 X 20 SP50 9310086509504 5 PAC | 9310086509504 PAC
CBE6220  SCW PLAS BU GP 6-18 X 20 PBX100 9310086661479 5 PBX | 9310086661479 PBX
EDP6225 SCW PLAS BU GP 6-18 X 25 SP45 9310086509511 5 PAC | 9310086509511 PAC
CBE6225 SCW PLAS BU GP 6-18 X 25 PBX100 9310086661486 5 PBX | 9310086661486 PBX
CBF6225 SCW PLAS BU GP 6-18 X 25 BX500 9310086661684 1 BOX | 9310086661684 BOX
CB06225 SCW PLAS BU GP 6-18 X 25 BX1000 9310086562646 1 BOX | 9310086562646 BOX
EDP6325 SCW PLAS BU GP 7-16 X 25 SP40 9310086509559 5 PAC | 9310086509559 PAC
CBE6325 SCW PLAS BU GP 7-16 X 25 PBX100 9310086661578 5 PBX | 9310086661578 PBX
CBE6425 SCW PLAS BU GP 8-15 X 25 PBX100 9310086690387 5 PBX | 9310086690387 PBX
EDP6230 SCW PLAS BU GP 6-18 X 30 SP40 9310086509528 5 PAC | 9310086509528 PAC
CBE6230  SCW PLAS BU GP 6-18 X 30 PBX100 9310086661509 5 PBX | 9310086661509 PBX
CBF6230 SCW PLAS BU GP 6-18 X 30 BX500 9310086661691 1 BOX | 9310086661691 BOX
CB06230 SCW PLAS BU GP 6-18 X 30 BX1000 9310086562653 1 BOX | 9310086562653 BOX
EDP6330  SCW PLAS BU GP 7-16 X 30 SP35 9310086509566 5 PAC | 9310086509566 PAC
CBE6330  SCW PLAS BU GP 7-16 X 30 PBX100 9310086661585 5 PBX | 9310086661585 PBX
CBE6430 SCW PLAS BU GP 8-15 X 30 PBX100 9310086690394 5 PBX | 9310086690394 PBX
EDP6240  SCW PLAS BU GP 6-18 X 40 SP35 9310086509535 5 PAC | 9310086509535 PAC
CBE6240  SCW PLAS BU GP 6-18 X 40 PBX100 9310086661530 5 PBX | 9310086661530 PBX
CBF6240 SCW PLAS BU GP 6-18 X 40 BX500 9310086661714 1 BOX | 9310086661714 BOX
CBE6340 SCW PLAS BU GP 7-16 X 40 PBX100 9310086661592 5 PBX | 9310086661592 PBX
EDP6440 SCW PLAS BU GP 8-15 X 40 SP30 9310086509573 5 PAC | 9310086509573 PAC
CBE6440 SCW PLAS BU GP 8-15 X 40 PBX100 9310086690400 5 PBX | 9310086690400 PBX
CBE6250 SCW PLAS BU GP 6-18 X 50 PBX100 9310086661554 5 PBX | 9310086661554 PBX
CBE6350 SCW PLAS BU GP 7-16 X 50 PBX100 9310086661615 5 PBX |9310086661615 PBX
EDP6450 SCW PLAS BU GP 8-15 X 50 SP25 9310086509580 5 PAC | 9310086509580 PAC
CBE6450 SCW PLAS BU GP 8-15 X 50 PBX50 9310086661639 5 PBX | 9310086661639 PBX
EDP6465 SCW PLAS BU GP 8-15 X 65 SP20 9310086509597 5 PAC | 9310086509597 PAC
CBE6465 SCW PLAS BU GP 8-15 X 65 PBX50 9310086661646 5 PBX | 9310086661646 PBX
CBE6475 SCW PLAS BU GP 8-15 X 75 PBX50 9310086661653 5 PBX | 9310086661653 PBX
CBE6600 SCW PLAS BU GP 10-10 X 100 PBX50 9310086615335 5 PBX |9310086615335 PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

PLASTERBOARD SCREWS DRILL POINT
BUGLE HEAD — PHILLIPS DRIVE — GOLD PASSIVATED

CBI6225  SCW PLAS/M BU GP 6-18 X 25 PBX100 9310086662414 5 PBX | 9310086662414 PBX
CVI6225  SCW PLAS/M BU GP 6-18 X 25 BX500 9310086690509 1 BOX | 9310086690509 BOX
CVI6230  SCW PLAS/M BU GP 6-18 X 30 BX500 9310086539914 1 BOX | 9310086539914 BOX
CBI6245  SCW PLAS/M BU GP 6-18 X 45PBX100 9310086690486 5 PBX | 9310086690486 PBX

D.I.Y. SQUARE BUCKET ASSORTMENT - TIMBER SCREWS — ALL PURPOSE NEEDLE POINT
COUNTERSUNK HEAD — PHILLIPS DRIVE — GOLD PASSIVATED - 4 SIZES ASSORTED

CXC1001  SCW TIM NP CS GP AS/4 BKT440 | 9310086690103 1 BKT | 9310086690103 BKT

COUNTERSUNK HEAD — PHILLIPS DRIVE — CLASS 3 FINISH — 4 SIZES ASSORTED

CXC1002 SCW TIM NP CS C3 AS/4 BKT400 | 9310086690110 1 BKT | 9310086690110 BKT
WALL PLUGS

SNAP-PAC® - WALL PLUGS - PLASTIC - SUITS 4G THROUGH 18G SCREWS

EAU0225 WALL PLUG WHITE 3/16 X 25 SP50 9310086513556 5 PAC | 9310086513556 PAC
EAU0525 WALL PLUG RED 7/32 X 25 SP45 9310086513563 5 PAC | 9310086513563 PAC
EAU0540 WALL PLUG RED 7/32 X 40 SP30 9310086513600 5 PAC | 9310086513600 PAC
EAU0725 WALL PLUG GREEN 1/4 X 25 SP40 9310086513624 5 PAC | 9310086513624 PAC
EAUO740 WALL PLUG GREEN 1/4 X 40 SP25 9310086513631 5 PAC | 9310086513631 PAC
EAU0750 WALL PLUG GREEN 1/4 X 50 SP20 9310086513648 5 PAC | 9310086513648 PAC
EAU0825 WALL PLUG BLUE 5/16 X 25 SP30 9310086513655 5 PAC | 9310086513655 PAC
EAU0850 WALL PLUG BLUE 5/16 X 50 SP15 9310086513662 5 PAC | 9310086513662 PAC
EAU0960 WALL PLUG ORANGE 3/8 X 60 SP10 9310086513709 5 PAC | 9310086513709 PAC

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT' BARCODE

BLIND RIVETS

BLIND RIVETS in Snap-pacs®, Polyboxes & Plastic Boxes

OPEN ALUMINIUM / ZINGC PLATED STEEL MANDREL — RED LABEL

G—D ARR0005  RIV41 AL/OP 1/8 D-1/16G PBX100 9310086542242 5 PBX | 9310086542242 PBX
ERR0010  RIV42 AL/OP 1/8 D-1/8G SP25 9310086940512 5 PAC | 9310086940512 PAC
ARR0010  RIV42 AL/OP 1/8 D-1/8G PBX100 9310086542259 5 PBX | 9310086542259 PBX
ARE1010  RIV42 AL/OP 1/8 D-1/8G BX1000 9310086630888 1 BOX | 9310086630888 BOX
ERR0020  RIV43 AL/OP 1/8 D-3/16G SP25 9310086940529 5 PAC | 9310086940529 PAC
ARR0020  RIV43 AL/OP 1/8 D-3/16G PBX100 9310086542266 5 PBX | 9310086542266 PBX
ARE1020  RIV43 AL/OP 1/8 D-3/16G BX1000 9310086630895 1 BOX | 9310086630895 BOX
ERR0024  RIV44 AL/OP 1/8 D-1/4G SP25 9310086940536 5 PAC | 9310086940536 PAC
ARR0024  RIV44 AL/OP 1/8 D-1/4G PBX100 9310086542280 5 PBX | 9310086542280 PBX
ARE1024  RIV44 AL/OP 1/8 D-1/4G BX1000 9310086630918 1 BOX | 9310086630918 BOX
ERR0030  RIV45 AL/OP 1/8 D-5/16G SP25 9310086940543 5 PAC | 9310086940543 PAC
ARR0030  RIV45 AL/OP 1/8 D-5/16G PBX100 9310086542297 5 PBX | 9310086542297 PBX
ERR0032  RIV46 AL/OP 1/8 D-3/8G SP25 9310086940550 5 PAC | 9310086940550 PAC
ARR0032  RIV46 AL/OP 1/8 D-3/8G PBX100 9310086542310 5 PBX | 9310086542310 PBX
ARR0033  RIV48 AL/OP 1/8 D-1/2G PBX100 9310086542327 5 PBX | 9310086542327 PBX
ERR0035 RIV52 AL/OP 5/32D-1/8G SP25 9310086940567 5 PAC | 9310086940567 PAC
ARR0035  RIV52 AL/OP 5/32D-1/8G PBX100 9310086542334 5 PBX | 9310086542334 PBX
ERR0036  RIV53 AL/OP 5/32D-3/16G SP25 9310086940574 5 PAC | 9310086940574 PAC
ARR0036  RIV53 AL/OP 5/32D-3/16G PBX100 9310086542341 5 PBX | 9310086542341 PBX IE
ERR0038  RIV54 AL/OP 5/32D-1/4G SP25 9310086940581 5 PAC [ 9310086940581 PAC E
ARR0038  RIV54 AL/OP 5/32D-1/4G PBX100 9310086542358 5 PBX | 9310086542358 PBX =
ARR0037  RIV55 AL/OP 5/32D-5/16G PBX100 9310086542365 5 PBX [ 9310086542365 PBX 2
ERR0039  RIV56 AL/OP 5/32D-3/8G SP25 9310086940598 5 PAC | 9310086940598 PAC ﬁ
ARR0039  RIV56 AL/OP 5/32D-3/8G PBX100 9310086542372 5 PBX [ 9310086542372 PBX c_’;
ARR0041  RIV58 AL/OP 5/32D-1/2G PBX100 9310086542389 5 PBX | 9310086542389 PBX
ERR0043  RIV62 AL/OP 3/16D-1/8G SP25 9310086940611 5 PAC | 9310086940611 PAC
ARR0043  RIV62 AL/OP 3/16D-1/8G PBX100 9310086542396 5 PBX | 9310086542396 PBX
ERR0040  RIV63 AL/OP 3/16D-3/16G SP25 9310086940604 5 PAC [ 9310086940604 PAC
ARR0040  RIV63 AL/OP 3/16D-3/16G PBX100 9310086542402 5 PBX | 9310086542402 PBX
ERR0050  RIV64 AL/OP 3/16D-1/4G SP25 9310086940628 5 PAC | 9310086940628 PAC
ARR0050  RIV64 AL/OP 3/16D-1/4G PBX100 9310086542419 5 PBX | 9310086542419 PBX
ARE1050 RIV64 AL/OP 3/16D-1/4G BX1000 9310086630949 1 BOX | 9310086630949 BOX
ERR0060  RIV66 AL/OP 3/16D-3/8G SP25 9310086940635 5 PAC | 9310086940635 PAC
ARR0060  RIV66 AL/OP 3/16D-3/8G PBX100 9310086542426 5 PBX [ 9310086542426 PBX
ARR0065 RIV68 AL/OP 3/16D-1/2G PBX75 9310086542433 5 PBX | 9310086542433 PBX
OPEN STEEL / STEEL MANDREL — ZINC PLATED — GREEN LABEL
@: ERS0070  RIV42 ST/OP 1/8 D-1/8G SP25 9310086940659 5 PAC | 9310086940659 PAC
ARS0070  RIV42 ST/OP 1/8 D-1/8G PBX100 9310086542464 5 PBX | 9310086542464 PBX
ERS0080  RIV43 ST/OP 1/8 D-3/16G SP25 9310086940666 5 PAC | 9310086940666 PAC
ARS0080 RIV43 ST/OP 1/8 D-3/16G PBX100 9310086542471 5 PBX | 9310086542471 PBX
ERS0090  RIV44 ST/OP 1/8 D-1/4G SP25 9310086940673 5 PAC | 9310086940673 PAC
ARS0090 RIV44 ST/OP 1/8 D-1/4G PBX100 9310086542488 5 PBX | 9310086542488 PBX
ARS0095 RIV45 ST/OP 1/8 D-5/16G PBX100 9310086542495 5 PBX | 9310086542495 PBX
ARS0098  RIV46 ST/OP 1/8 D-3/8G PBX100 9310086542501 5 PBX | 9310086542501 PBX
ARS0099 RIV48 ST/OP 1/8 D-1/2G PBX100 9310086542518 5 PBX | 9310086542518 PBX
ARS0094  RIV52 ST/OP 5/32 D-1/8G PBX100 9310086542525 5 PBX | 9310086542525 PBX
ARS0112  RIV54 ST/OP 5/32 D-1/4G PBX100 9310086542532 5 PBX | 9310086542532 PBX
ARS0114  RIV56 ST/OP 5/32 D-3/8G PBX100 9310086542549 5 PBX | 9310086542549 PBX
ARS0115  RIV58 ST/OP 5/32 D-1/2G PBX100 9310086542556 5 PBX | 9310086542556 PBX
ARS0116  RIV62 ST/OP 3/16 D-1/8G PBX100 9310086542563 5 PBX | 9310086542563 PBX

1. Place orders in “order quantity multiples”.




2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT! BARCODE

BLIND RIVETS

(72)
-
L
=
o
(=]
=
—
(aa]

OPEN STEEL / STEEL MANDREL — ZINC PLATED — GREEN LABEL (cont.)

ERSO100  RIV64 ST/OP 3/16 D-1/4G SP25 9310086940680 5  PAC [9310086940680  PAC
ARS0100  RIV64 ST/OP 3/16 D-1/4G PBX100 9310086542570 5  PBX |9310086542570  PBX
ERS0110  RIV65 ST/OP 3/16 D-5/16G SP25 9310086940697 5  PAC |9310086940697  PAC
ARSO110  RIVE5 ST/OP 3/16 D-5/16G PBX100 9310086542594 5  PBX |9310086542594  PBX
ARSO118  RIVE6 ST/OP 3/16 D-3/8G PBX100 9310086542600 5  PBX |9310086542600  PBX
ARS0119  RIV68 ST/OP 3/16 D-1/2G PBX75 9310086542624 5  PBX | 9310086542624  PBX
OPEN STAINLESS STEEL / STAINLESS MANDREL — 304 GRADE — BLUE LABEL

ERV0250  RIV42 SS/OP 1/8D-1/8G SP25 9310086940703 5  PAC |9310086940703  PAC
ARV0250  RIV42 SS/OP 1/8D-1/8G PBX100 9310086626249 5  PBX |9310086626249  PBX
ERV0260  RIV43 SS/OP 1/8 D-3/16G SP25 9310086940710 5  PAC [9310086940710  PAC
ARV0260  RIV43 SS/OP 1/8 D-3/16G PBX100 9310086626256 5  PBX | 9310086626256  PBX
ERV0270  RIV44 SS/OP 1/8 D-1/4G SP25 9310086940727 5  PAC | 9310086940727  PAC
ARV0270  RIV44 SS/OP 1/8 D-1/4G PBX100 9310086626270 5  PBX |9310086626270  PBX
ERV0280  RIV46 SS/OP 1/8 D-3/8G SP25 9310086940734 5  PAC | 9310086940734  PAC
ARV0280  RIV46 SS/OP 1/8 D-3/8G PBX100 9310086626287 5  PBX |9310086626287  PBX
ARV0290  RIV54 SS/OP 5/32 D-1/4G PBX100 9310086626204 5  PBX | 9310086626294  PBX
ERV0300  RIV64 SS/OP 3/16 D-1/4G SP25 9310086940741 5  PAC |9310086940741  PAC
ARV0300  RIV64 SS/OP 3/16 D-1/4G PBX100 9310086626300 5  PBX |9310086626300  PBX
ERVO310  RIV65 SS/OP 3/16 D-5/16G SP25 9310086940758 5  PAC |9310086940758  PAC
ARV0320  RIVE6 SS/OP 3/16 D-3/8G PBX100 9310086626317 5  PBX |9310086626317  PBX
SEALED ALUMINIUM / STEEL MANDREL — PURPLE LABEL

ARUO170  RIV42 AL/SL 1/8 D-1/8 G PBX100 9310086542716 5  PBX |9310086542716  PBX
ARUO180  RIV43 AL/SL 1/8 D-3/16G PBX100 9310086542723 5  PBX |9310086542723  PBX
ARUO190  RIV44 AL/SL 1/8 D-1/4 G PBX100 9310086542730 5  PBX |9310086542730  PBX
ARU0200  RIV64 AL/SL 3/16D-1/4 G PBX100 9310086542792 5  PBX |9310086542792  PBX
ARU0210  RIV66 AL/SL 3/16D-3/8 G PBX100 9310086542808 5  PBX |9310086542808  PBX
MULTI-GRIP — OPEN ALUMINIUM / STEEL MANDREL — PAINTED — YELLOW LABEL

X049638  RIVET M-GRIP DUNE PBX100 9310086949633 5  PBX |9310086949638  PBX
X049652  RIVET M-GRIP SHALE GREY PBX100 9310086949652 5  PBX |9310086949652  PBX
X049676  RIVET M-GRIP WINDSPRAY PBX100 9310086949676 5  PBX |9310086949676  PBX
X049744  RIVET M-GRIP WHITE PBX100 9310086949744 5  PBX |9310086949744  PBX
X051349  RIVET M-GRIP NIGHT SKY PBX100 9313901051349 5  PBX |9313901051349  PBX
X051387  RIVET M-GRIP COTAGE GRN PBX100 9313901051387 5  PBX |9313001051387  PBX
X051448  RIVET M-GRIP MANOR RED PBX100 9313901051448 5  PBX |9313001051448  PBX
X051486  RIVET M-GRIP PAPERBARK PBX100 9313901051486 5  PBX |9313001051486  PBX
X051509  RIVET M-GRIP PALEUCLYPT PBX100 9313901051509 5  PBX |9313901051509  PBX
X051523  RIVET M-GRIP DEEP OCEAN PBX100 9313901051523 5  PBX |9313901051523  PBX
X051547  RIVET M-GRIP SURFMIST PBX100 9313901051547 5  PBX |9313901051547  PBX
X051585  RIVET M-GRIP WILDERNESS PBX100 9313901051585 5  PBX |9313901051585  PBX
X051622  RIVET M-GRIP CLASICREAM PBX100 9313901051622 5  PBX |9313901051622  PBX
X051646  RIVET M-GRIP WODLNDGREY PBX100 9313901051646 5  PBX |9313901051646  PBX
RIVET ASSORTMENT KIT

ARK0002  RIVET KIT 300 PCE ASST 9310086682443 1  BOX | 9310086682443  BOX

1. Place orders in “order quantity multiples”.



7 Paslode 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

PASLODE LOOSE NAILS

PASLODE LOOSE NAILS in Snap-pac® 100g, Polyboxes 500g, Pastic Boxes 1,2,5kg & Plastic Pails 15kg

Lo

BULLET HEAD NAILS
BULLET HEAD — BRIGHT STEEL - AS 2334

N906112  NL BLT HD BRT 12X1.0 100G
N906129  NL BLT HD BRT 15X1.0 100G
N906136  NL BLT HD BRT 20X1.25 100G
N918351  NL BLT HD BRT 20X1.25 500G
N906150  NL BLT HD BRT 25X1.25 100G
N906167  NL BLT HD BRT 25X1.6 100G
N906242  NL BLT HD BRT 25X1.6 500G
N906174  NL BLT HD BRT 30X1.6 100G
N906259  NL BLT HD BRT 30X1.6 500G
N906181  NL BLT HD BRT 30X2.0 100G
N906266  NL BLT HD BRT 30X2.0 500G
N906198  NL BLT HD BRT 40X1.6 100G
N906273  NL BLT HD BRT 40X1.6 500G
N906204  NL BLT HD BRT 40X2.0 100G
N906297  NL BLT HD BRT 40X2.0 500G
N906556  NL BLT HD BRT 40X2.0 2KG
N925885  NL BLT HD BRT 45X2.0 500G
N906228  NL BLT HD BRT 50X2.0 100G
N906327  NL BLT HD BRT 50X2.0 500G
N925892  NL BLT HD BRT 50X2.5 500G
N906235 NL BLT HD BRT 50X2.8 100G
N906341  NL BLT HD BRT 50X2.8 500G
N906600  NL BLT HD BRT 50X2.8 2KG
N906686 NL BLT HD BRT 50X2.8 5KG
N906358  NL BLT HD BRT 65X2.8 500G
N906617  NL BLT HD BRT 65X2.8 2KG
N906693  NL BLT HD BRT 65X2.8 5KG
N925915  NL BLT HD BRT 65X3.15 500G
N906372  NL BLT HD BRT 75X3.15 500G
N925939  NL BLT HD BRT 75X3.15 2KG
N925953  NL BLT HD BRT 75X3.15 5KG
N919297  NL BLT HD BRT 75X3.75 100G
N906389  NL BLT HD BRT 75X3.75 500G
N906655 NL BLT HD BRT 75X3.75 2KG
N906723  NL BLT HD BRT 75X3.75 5KG
N906778  NL BLT HD BRT 75X3.75 15KG BKT
N906396  NL BLT HD BRT 100X3.75 500G
N906662  NL BLT HD BRT 100X3.75 2KG
N906402  NL BLT HD BRT 100X4.5 500G
N906679  NL BLT HD BRT 100X4.5 2KG
N906747  NL BLT HD BRT 100X4.5 5KG
N906419  NL BLT HD BRT 125X5.6 500G
N906426  NL BLT HD BRT 150X5.6 500G

1. Place orders in “order quantity multiples”.

9310086906112
9310086906129
9310086906136
9310086918351
9310086906150
9310086906167
9310086906242
9310086906174
9310086906259
9310086906181
9310086906266
9310086906198
9310086906273
9310086906204
9310086906297
9310086906556
9310086925885
9310086906228
9310086906327
9310086925892
9310086906235
9310086906341
9310086906600
9310086906686
9310086906358
9310086906617
9310086906693
9310086925915
9310086906372
9310086925939
9310086925953
9310086919297
9310086906389
9310086906655
9310086906723
9310086906778
9310086906396
9310086906662
9310086906402
9310086906679
9310086906747
9310086906419
9310086906426

oo = NN o= =N oo =N oo = N o= N OO oo oo N ool gl oo gl oo ool ool ool

PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
BOX
PAC
PAC
PAC
PAC
PAC
PAC
BOX
BOX
PAC
BOX
BOX
PAC
PAC
BOX
BOX
PAC
PAC
BOX
BOX
BKT
PAC
BOX
PAC
BOX
BOX
PAC
PAC

9310086906112
9310086906129
9310086906136
9310086918351
9310086906150
9310086906167
9310086906242
9310086906174
9310086906259
9310086906181
9310086906266
9310086906198
9310086906273
9310086906204
9310086906297
9310086906556
9310086925885
9310086906228
9310086906327
9310086925892
9310086906235
9310086906341
9310086906600
9310086906686
9310086906358
9310086906617
9310086906693
9310086925915
9310086906372
9310086925939
9310086925953
9310086919297
9310086906389
9310086906655
9310086906723
9310086906778
9310086906396
9310086906662
9310086906402
9310086906679
9310086906747
9310086906419
9310086906426

PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
PAC
BOX
PAC
PAC
PAC
PAC
PAC
PAC
BOX
BOX
PAC
BOX
BOX
PAC
PAC
BOX
BOX
PAC
PAC
BOX
BOX
BKT
PAC
BOX
PAC
BOX
BOX
PAC
PAC

-
>
w
oy
(=)
=)
m
oy
(=]
(=]
w
m
—
=
[
(7]




P Paslode

2020
ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE UNIT TYPE
CODE DESGRIPTION BARCODE MuLT! BARCODE

PASLODE LOOSE NAILS

(7]
—
<
—
T
(72}
(=)
(=)
=
m
(=]
(=)
—
2
Q.

BULLET HEAD — GALVANISED STEEL — AS2334

N916944  NL BLT HD GAL 30X2.0 100G 9310086916944 5 PAC | 9310086916944 PAC
N906785 NL BLT HD GAL 30X2.0 500G 9310086906785 5 PAC | 9310086906785 PAC
N916951  NL BLT HD GAL 40X2.0 100G 9310086916951 5 PAC | 9310086916951 PAC
N906792  NL BLT HD GAL 40X2.0 500G 9310086906792 5 PAC | 9310086906792 PAC
N906969  NL BLT HD GAL 40X2.0 2KG 9310086906969 2 BOX | 9310086906969 BOX
N919679 NL BLT HD GAL 50X2.8 100G 9310086919679 5 PAC | 9310086919679 PAC
N906808  NL BLT HD GAL 50X2.8 500G 9310086906808 5 PAC | 9310086906808 PAC
N906976 NL BLT HD GAL 50X2.8 2KG 9310086906976 2 BOX | 9310086906976 BOX
N907041  NL BLT HD GAL 50X2.8 5KG 9310086907041 1 BOX | 9310086907041 BOX
N906815  NL BLT HD GAL 65X2.8 500G 9310086906815 5 PAC | 9310086906815 PAC
N906983  NL BLT HD GAL 65X2.8 2KG 9310086906983 2 BOX | 9310086906983 BOX
N907058 NL BLT HD GAL 65X2.8 5KG 9310086907058 1 BOX | 9310086907058 BOX
N925960 NL BLT HD GAL 65X3.15 500G 9310086925960 5 PAC | 9310086925960 PAC
N925991  NL BLT HD GAL 65X3.15 2KG 9310086925991 2 BOX |9310086925991 BOX
N925977  NL BLT HD GAL 75X3.15 500G 9310086925977 5 PAC | 9310086925977 PAC
N926004 NL BLT HD GAL 75X3.15 2KG 9310086926004 2 BOX |9310086926004 BOX
N906846  NL BLT HD GAL 75X3.75 500G 9310086906846 5 PAC | 9310086906846 PAC
N907010  NL BLT HD GAL 75X3.75 2KG 9310086907010 2 BOX |9310086907010 BOX
N907072  NL BLT HD GAL 75X3.75 5KG 9310086907072 1 BOX |9310086907072 BOX
N925984  NL BLT HD GAL 100X3.75 500G 9310086925984 5 PAC | 9310086925984 PAC
N926011  NL BLT HD GAL 100X3.75 2KG 9310086926011 2 BOX |9310086926011 BOX
N906860  NL BLT HD GAL 100X4.5 500G 9310086906860 5 PAC | 9310086906860 PAC
N907034  NL BLT HD GAL 100X4.5 2KG 9310086907034 2 BOX |9310086907034 BOX
N907102  NL BLT HD GAL 100X4.5 5KG 9310086907102 1 BOX |9310086907102 BOX
N919303  NL BLT HD GAL 125X5.6 500G 9310086919303 5 PAC | 9310086919303 PAC
N906877  NL BLT HD GAL 150X5.6 500G 9310086906877 5 PAC | 9310086906877 PAC
N918672  NL BLT HD GAL 150X5.6 2KG 9310086918672 2 BOX |9310086918672 BOX
BULLET HEAD - STAINLESS STEEL 316 GRADE — AS2334

N907164  NL BLT HD SS316 40X2.0 250G 9310086907164 5 PAC | 9310086907164 PAC
N919310  NL BLT HD SS316 50X2.8 250G 9310086919310 5 PAC | 9310086919310 PAC
N907188  NL BLT HD SS316 75X3.75 250G 9310086907188 5 PAC | 9310086907188 PAC

1. Place orders in “order quantity multiples”.




7 Paslode 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT ary TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MuLT BARCODE
PASLODE LOOSE NAILS
FLAT HEAD NAILS
FLAT HEAD - BRIGHT STEEL - AS 2334
i N907904  NL FLAT HD BRT 20X1.6 100G 9310086907904 5 PAC | 9310086907904 PAC
é N919334  NL FLAT HD BRT 20X1.6 500G 9310086919334 5 PAC | 9310086919334 PAC
N907928  NL FLAT HD BRT 25X1.6 100G 9310086907928 5 PAC | 9310086907928 PAC
N907973  NL FLAT HD BRT 25X1.6 500G 9310086907973 5 PAC | 9310086907973 PAC
N907935  NL FLAT HD BRT 30X2.0 100G 9310086907935 5 PAC | 9310086907935 PAC
N907980  NL FLAT HD BRT 30X2.0 500G 9310086907980 5 PAC | 9310086907980 PAC
N907942  NL FLAT HD BRT 40X2.0 100G 9310086907942 5 PAC | 9310086907942 PAC
W N907997  NL FLAT HD BRT 40X2.0 500G 9310086907997 5 PAC | 9310086907997 PAC
N907959  NL FLAT HD BRT 50X2.8 100G 9310086907959 5 PAC | 9310086907959 PAC
N908000  NL FLAT HD BRT 50X2.8 500G 9310086908000 5 PAC | 9310086908000 PAC
N908055  NL FLAT HD BRT 50X2.8 2KG 9310086908055 2 BOX | 9310086908055 BOX
N908017  NL FLAT HD BRT 65X2.8 500G 9310086908017 5 PAC | 9310086908017 PAC
N908062  NL FLAT HD BRT 65X2.8 2KG 9310086908062 2 BOX | 9310086908062 BOX
N907966 NL FLAT HD BRT 75X3.75 100G 9310086907966 5 PAC | 9310086907966 PAC
N908024  NL FLAT HD BRT 75X3.75 500G 9310086908024 5 PAC | 9310086908024 PAC
N908086  NL FLAT HD BRT 75X3.75 2KG 9310086908086 2 BOX | 9310086908086 BOX
N908147  NL FLAT HD BRT 75X3.75 5KG 9310086908147 1 BOX |9310086908147 BOX
N908048 NL FLAT HD BRT 100X4.5 500G 9310086908048 5 PAC | 9310086908048 PAC ;
N908116  NL FLAT HD BRT 100X4.5 2KG 9310086908116 2 BOX |9310086908116 BOX (72)
=
[ ] FLAT HEAD - GALVANISED STEEL - AS2334 E
L N908178  NL FLAT HD GAL 30X2.0 500G 9310086908178 5 PAC | 9310086908178 PAC -
; N917057  NL FLAT HD GAL 40X2.0 100G 9310086917057 5 PAC | 9310086917057 PAC 8
N908185  NL FLAT HD GAL 40X2.0 500G 9310086908185 5 PAC | 9310086908185 PAC f"n’
N926073  NL FLAT HD GAL 40X2.5 500G 9310086926073 5 PAC | 9310086926073 PAC =
N917071  NL FLAT HD GAL 50X2.8 100G 9310086917071 5 PAC | 9310086917071 PAC E
N908215  NL FLAT HD GAL 50X2.8 500G 9310086908215 5 PAC | 9310086908215 PAC 5
N908284  NL FLAT HD GAL 50X2.8 2KG 9310086908284 2 BOX |9310086908284 BOX
N908222  NL FLAT HD GAL 65X2.8 500G 9310086908222 5 PAC | 9310086908222 PAC
W N908291  NL FLAT HD GAL 65X2.8 2KG 9310086908291 2 BOX |9310086908291 BOX
N908352  NL FLAT HD GAL 65X2.8 5KG 9310086908352 1 BOX | 9310086908352 BOX
N908239  NL FLAT HD GAL 75X3.75 500G 9310086908239 5 PAC | 9310086908239 PAC
N908307  NL FLAT HD GAL 75X3.75 2KG 9310086908307 2 BOX | 9310086908307 BOX
N908260 NL FLAT HD GAL 100X4.5 500G 9310086908260 5 PAC | 9310086908260 PAC
N908321  NL FLAT HD GAL 100X4.5 2KG 9310086908321 2 BOX | 9310086908321 BOX
N908376  NL FLAT HD GAL 100X4.5 5KG 9310086908376 1 BOX | 9310086908376 BOX
N919341  NL FLAT HD GAL 125X5.6 500G 9310086919341 5 PAC | 9310086919341 PAC
N919358  NL FLAT HD GAL 150X5.6 500G 9310086919358 5 PAC | 9310086919358 PAC
FLAT HEAD - STAINLESS STEEL 316 GRADE - AS2334
u N908406  NL FLAT HD SS316 40X2.0 250G 9310086908406 PAC | 9310086908406 PAC
é N908420  NL FLAT HD SS316 50X2.8 250G 9310086908420 PAC | 9310086908420 PAC

1. Place orders in “order quantity multiples”.




7 Paslode 2020

1. Place orders in “order quantity multiples”.

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT aty TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT' BARCODE
PASLODE LOOSE NAILS
DECKING NAILS
GRIPLOCK NAILS — GALVANISED STEEL — HELICAL THREAD — AS2334
e N918603 NL G/LOCK GAL HL 30X2.0 500G 9310086918603 5 PAC |9310086918603  PAC
N908833 NL G/LOCK GAL HL 40X2.5 500G 9310086908833 5  PAC [9310086908833  PAC
N908949  NL G/LOCK GAL HL 40X2.5 2KG 9310086908949 2  BOX |9310086908949  BOX
N908840 NL G/LOCK GAL HL 50X2.8 500G 9310086908840 5  PAC [9310086908840  PAC
N908956 NL G/LOCK GAL HL 50X2.8 2KG 9310086908956 2  BOX |9310086908956  BOX
N908994 NL G/LOCK GAL HL 50X2.8 5KG 9310086908994 1 BOX |9310086908994  BOX
N908857  NL G/LOCK GAL HL 65X3.15 500G 9310086908857 5  PAC |9310086908857  PAC
N908963  NL G/LOCK GAL HL 65X3.15 2KG 9310086908963 2  BOX |[9310086908963  BOX
N909007 NL G/LOCK GAL HL 65X3.15 5KG 9310086909007 1 BOX |9310086909007  BOX
N908871  NL G/LOCK GAL HL 75X3.75 500G 9310086908871 5  PAC [9310086908871  PAC
N908970  NL G/LOCK GAL HL 75X3.75 2KG 9310086908970 2  BOX |9310086908970  BOX
N908888  NL G/LOCK GAL HL 100X4.5 500G 9310086908888 5  PAC |9310086908888  PAC
N919464  NL G/LOCK GAL HL 100X4.5 2KG 9310086919464 2  BOX |9310086919464  BOX
GRIPLOCK NAILS — STAINLESS STEEL 316 — HELICAL THREAD — AS2334
e N909021  NL G/LOCK SS316 HL50X2.8 250G 9310086909021 5 PAC |9310086909021  PAC
N909038  NL G/LOCK SS316 HL 50%2.8 1KG 9310086909038 2  BOX | 9310086909038  BOX
(/7]
<=:' DECKING SPIKES — GALVANISED STEEL — AS2334
— e N926028 NL DEK SPK GAL 150X9 5KG 9310086926028 1 BOX | 9310086926028  BOX
curf\ N926035 NL DEK SPK GAL 200X9 5KG 9310086926035 1 BOX | 9310086926035  BOX
(=] N926042 NL DEK SPK GAL 250X9 5KG 9310086926042 1 BOX |9310086926042  BOX
S
g SHEETING NAILS
3 [ __ FIBRE CEMENT — GALVANISED STEEL — AS2334
7,) I N907676 NL F/CEMENT GAL 25X2.0 500G 9310086907676 5 PAC |9310086907676  PAC
E N907768 NL F/CEMENT GAL 25X2.0 2KG 9310086907768 2  BOX |[9310086907768  BOX
N907805 NL F/CEMENT GAL 25X2.0 5KG 9310086907805 1 BOX | 9310086907805  BOX
N907683  NL F/CEMENT GAL 30X2.0 500G 9310086907683 5  PAC |9310086907683  PAC
N907775 NL F/CEMENT GAL 30X2.0 2KG 9310086907775 2  BOX |9310086907775  BOX
N907812  NL F/CEMENT GAL 30X2.0 5KG 9310086907812 1 BOX |9310086907812  BOX
N907690 NL F/CEMENT GAL 30X2.8 500G 9310086907690 5  PAC |9310086907690  PAC
N907782  NL F/CEMENT GAL 30X2.8 2KG 9310086907782 2  BOX |[9310086907782  BOX
N907829  NL F/CEMENT GAL 30X2.8 5KG 9310086907829 1 BOX |9310086907829  BOX
N907706  NL F/CEMENT GAL 40X2.8 500G 9310086907706 5  PAC |9310086907706  PAC
N907799  NL F/CEMENT GAL 40X2.8 2KG 9310086907799 2  BOX |9310086907799  BOX
N907836  NL F/CEMENT GAL 40X2.8 5KG 9310086907836 1 BOX |9310086907836  BOX
N918474  NL F/CEMENT GAL 50X2.8 500G 9310086918474 5  PAC |9310086918474  PAC
N918511 NL F/CEMENT GAL 50X2.8 2KG 9310086918511 2  BOX |[9310086918511  BOX
__ FIBRE CEMENT — STAINLESS STEEL 316 — AS2334
[3 N907843  NL F/CEMENT SS316 25X2.0 250G 9310086907843 5 PAC |9310086907843  PAC
N907850 NL F/CEMENT SS316 30X2.0 250G 9310086907850 5  PAC |9310086907850  PAC
N919327  NL F/CEMENT SS316 40X2.8 250G 9310086919327 5  PAC |9310086919327  PAC
N907898  NL F/CEMENT SS316 40X2.8 1KG 9310086907898 2  BOX | 9310086907898  BOX
PARTICLEBOARD — BRIGHT STEEL — HELICAL THREAD — AS2334
=SSN
N918405 NL PARTICLE BD 25X2.0 500G 9310086918405 5 PAC | 9310086918405  PAC
N918412  NL PARTICLE BD 40X2.8 500G 9310086918412 5  PAC |9310086918412  PAC
N918429  NL PARTICLE BD 50X2.8 500G 9310086918429 5  PAC |9310086918429  PAC



P Paslode

2020

CODE DESCRIPTION

ORDER UNIT

RETAIL UNIT

ORDER ORDER
UNIT ary
BARCODE MuLT!

PACK
TYPE

RETAIL
UNIT
BARCODE

PACK
TYPE

PASLODE LOOSE NAILS

PLASTERBOARD GOLD PASSIVATED STEEL — ANNULAR THREAD — AS2334

1. Place orders in “order quantity multiples”.

N908505 NL PLAS LH GP AN 30X2.8 5006 9310086908505 5  PAC | 9310086908505  PAC
N908512  NL PLAS LH GP AN 30X2.8 2KG 9310086908512 2  BOX |9310086908512  BOX
N908529  NL PLAS LH GP AN 30X2.8 5KG 9310086908529 1  BOX |9310086908529  BOX
N919365 NL PLAS LH GP AN 40X2.8 5006 9310086919365 5  PAC | 9310086919365  PAC
SOFT SHEET ZING PLATED STEEL — AS2334

—_— N908598  NL SOFT SHEET ZP 25X1.8 5006 9310086908598 5  PAC | 9310086908598  PAC
N90B6T1  NL SOFT SHEET ZP 25X1.8 2KG 9310086908611 2  BOX |9310086908611  BOX
N908604  NL SOFT SHEET ZP 30X1.8 5006 9310086908604 5  PAC | 9310086908604  PAC
N908628  NL SOFT SHEET ZP 30X1.8 2KG 9310086908628 2  BOX |9310086908628  BOX

. HARDBOARD ZING PLATED STEEL ~ AS2334

I TR ——

=~ 'N908451 NL HRD BRD ZP 20X1.6 100G 9310086908451 5  PAC | 9310086908451  PAC
N926103  NL HRD BRD ZP 25X1.6 100G 9310086926103 5  PAC |9310086926103  PAC
N916982  NL HRD BRD ZP 30X1.6 100G 9310086916982 5  PAC |9310086916982  PAC
N908499  NL HRD BRD ZP 30X1.6 500G 9310086908499 5  PAC | 9310086908499  PAC
UNDERLAY FIBRE CEMENT — BRIGHT STEEL — ANNULAR THREAD — AS2334
N909076  NL U/LAY F/CEM AN 25X2.5 5006 9310086909076 PAC | 9310086909076  PAC
N919488  NL U/LAY F/CEM AN 25X2.5 2KG 9310086919488 BOX |9310086919488  BOX
UNDERLAY HARDBOARD - BRIGHT STEEL — ANNULAR THREAD — AS2334
N909045 NL U/LAY HRDBD AN 25X2.0 500G 9310086909045 PAC | 9310086909045  PAC
N919471  NL U/LAY HRDBRD AN 25X2.0 2KG 9310086919471 BOX |9310086919471  BOX
WALL BOARD ZINC PLATED STEEL - AS2334

F—= om0 wwarsm i 9310086909090 PAC | 9310086909090  PAC
N909T13  NLWALL BRD ZP 20X1.4 5006 9310086909113 PAC 9310086909113  PAC
N909106  NLWALL BRD ZP 25X1.4 100G 9310086909106 PAC |9310086909106  PAC
WALL PANEL PINS FLORENTINE BRONZE PLATED STEEL- AS2334
N909137 NLW/PANEL PIN FB 25X1.6 1006 [9310086909137 5  PAC | 9310086909137  PAC
WEATHERTEX GALVANISED STEEL — AS2334

e o155 NLWEATHERTEX GAL 50823 5006 9310086919495 PAC | 9310086919495  PAC
N909151  NL WEATHERTEX GAL 50X2.8 2KG 9310086909151 BOX |9310086909151  BOX
TIMBER CONNECTOR NAILS
BRACKET PLAIN SHANK — GALVANISED STEEL — AS2334

1 ==

= 'N906105 NL BRACKET GAL 40X3.75 5006 9310086906105 PAC 9310086906105  PAC
N919280  NL BRACKET GAL 40X3.75 2KG 9310086919280 BOX |9310086919280  BOX
BRACKET HELICAL SHANK — GALVANISED STEEL — AS2334

SSSSSP> 910273 NL BAKT HEL GAL 40X3.75 5006 [e310086919273 5  PAC | 9310086919273  PAC

STRAPPING — GALVANISED STEEL — AS2334
N919457 NL STRAP GAL PLN/S 30X2.8 5006 9310086919457 PAC 9310086919457  PAC
N908819  NL STRAP GAL PLN/S 30X2.8 2KG 9310086908819 BOX |9310086908819  BOX
STRAPPING — STAINLESS STEEL 316 — ANNULAR THREAD — AS2334

%W;ﬂ N908789 NL STRAP 55316 AN 30X2.8 250G [e310086908789 5  PAC | 9310086908789  PAC

=
>
7]
1z
(=)
=)
m
-
o
=]
7]
m
=
=
-
()




7 Paslode 2020

1. Place orders in “order quantity multiples”.

ORDER UNIT RETAIL UNIT
ORDER ORDER PACK RETAIL PACK
UNIT (1104 TYPE UNIT TYPE
CODE DESCRIPTION BARCODE MULT' BARCODE
PASLODE LOOSE NAILS
CLOUT NAILS
CLOUT - GALVANISED STEEL — AS2334
@E’b N916999 NL CLOUTS GAL 20X2.8 100G 9310086916999 5  PAC |9310086916999  PAC
N907225 NL CLOUTS GAL 20X2.8 500G 9310086907225 5  PAC | 9310086907225  PAC
N918696 NL CLOUTS GAL 25X2.8 100G 9310086918696 5  PAC | 9310086918696  PAC
N907232  NL CLOUTS GAL 25X2.8 500G 9310086907232 5  PAC | 9310086907232  PAC
N907324  NL CLOUTS GAL 25X2.8 2KG 9310086907324 2  BOX |9310086907324  BOX
N907362 NL CLOUTS GAL 25%2.8 5KG 9310086907362 1  BOX |9310086907362  BOX
N917002  NL CLOUTS GAL 30X2.8 100G 9310086917002 5  PAC |9310086917002  PAC
N907249  NL CLOUTS GAL 30X2.8 500G 9310086907249 5  PAC | 9310086907249  PAC
N907331  NL CLOUTS GAL 30X2.8 2KG 9310086907331 2  BOX |9310086907331  BOX
N907379  NL CLOUTS GAL 30X2.8 5KG 9310086907379 1  BOX |9310086907379  BOX
N917026  NL CLOUTS GAL 40X2.8 100G 9310086917026 5  PAC |9310086917026  PAC
N907256  NL CLOUTS GAL 40X2.8 500G 9310086907256 5  PAC | 9310086907256  PAC
N907348  NL CLOUTS GAL 40X2.8 2KG 9310086907348 2  BOX |9310086907348  BOX
N907386 NL CLOUTS GAL 40X2.8 5KG 9310086907386 1  BOX |9310086907386  BOX
N917033  NL CLOUTS GAL 50X2.8 100G 9310086917033 5  PAC |9310086917033  PAC
N907270  NL CLOUTS GAL 50X2.8 500G 9310086907270 5  PAC |9310086907270  PAC
N907355 NL CLOUTS GAL 50X2.8 2KG 9310086907355 2  BOX |9310086907355  BOX
(7]
— SPECIALTY NAILS
<z= E‘ _ BLUED CUT TACKS
™ N90B051  NL BLUED CUT TACK 10X1.6 100G 9310086906051 5  PAC |9310086906051  PAC
g N906068  NL BLUED CUT TACK 12X1.6 100G 9310086906068 5  PAC | 9310086906068  PAC
S N906075 NL BLUED CUT TACK 15X1.6 100G 9310086906075 5  PAC | 9310086906075  PAC
w N906082  NL BLUED CUT TACK 20X1.6 100G 9310086906082 5  PAC |9310086906082  PAC
8 N906099  NL BLUED CUT TACK 25X1.6 100G 9310086906099 5  PAC | 9310086906099  PAC
—
‘2 UPHOLSTERY — ASSORTED FINISHES
o N919525  NL UPHOL RH NP SML PK35 9310086919525 5  PAC |9310086919525  PAC
N919501  NL UPHOL RH NP PK35 9310086919501 5  PAC |9310086919501  PAC
N919532  NL UPHOL RH BP SML PK35 9310086919532 5  PAC |9310086919532  PAC
N919518  NL UPHOL RH BP PK35 9310086919518 5  PAC | 9310086919518  PAC
N919556  NL UPHOL RH BLK PK35 9310086919556 5  PAC | 9310086919556  PAC
N919549  NL UPHOL RH WHI PK35 9310086919549 5  PAC | 9310086919549  PAC
N919570  NL UPHOL DAISY AB PK35 9310086919570 5  PAC |9310086919570  PAC
N919587  NL UPHOL HAMMER AB PK35 9310086919587 5  PAC |9310086919587  PAC
N919594  NL UPHOL HAMMER FB PK35 9310086919504 5  PAC |9310086919594  PAC
STAPLES PLAIN — GALVANISED STEEL — AS2334
N908635 NL STAPLES GAL 12X2.0 100G 9310086908635 5  PAC | 9310086908635  PAC
N\__ > N918702 NL STAPLES GAL 12X2.0 500G 9310086918702 5  PAC |9310086918702  PAC
N908642 NL STAPLES GAL 15X2.0 100G 9310086908642 5  PAC | 9310086908642  PAC
N908734 NL STAPLES GAL 15X2.0 500G 9310086908734 5  PAC | 9310086908734  PAC
N926141  NL STAPLES GAL 20X2.0 500G 9310086926141 5  PAC |9310086926141  PAC
N908659  NL STAPLES GAL 20X2.8 100G 9310086908659 5  PAC | 9310086908659  PAC
N908741 NL STAPLES GAL 20X2.8 500G 9310086908741 5  PAC |9310086908741  PAC
N926158  NL STAPLES GAL 25X2.8 500G 9310086926158 5  PAC |9310086926158  PAC
N908758 NL STAPLES GAL 25X3.15 5006 9310086908758 5  PAC | 9310086908758  PAC
N908765 NL STAPLES GAL 30X4.0 500G 9310086908765 5  PAC | 9310086908765  PAC
N919440 NL STAPLES GAL 30X4.0 2KG 9310086919440 2  BOX |9310086919440  BOX
N908772  NL STAPLES GAL 40X4.0 500G 9310086908772 5  PAC |9310086908772  PAC
N919389  NL STAPLES GAL 50X4.0 500G 9310086919389 5  PAC |9310086919389  PAC



7 Paslode 2020

ORDER UNIT RETAIL UNIT
ORDER ORDER  PACK RETAIL PACK
UNIT QY TYPE uNIT TYPE
CODE DESCRIPTION BARCODE MuLT! BARCODE

PASLODE LOOSE NAILS

STAPLES BARBED — GALVANISED STEEL — AS2334

N919402  NL STAPLES BARB 40X4.0 500G
N919419  NL STAPLES BARB 50X4.0 500G

9310086919402 5 PAC
9310086919419 5 PAC

9310086919402 PAC
9310086919419 PAC

CORRUGATED FASTENERS — BRIGHT STEEL
N907621  NL CORR/FAST BRT 4CX11MM 100G

9310086907621 5 PAC | 9310086907621 PAC

ROOFING PLAIN SHANK — GALVANISED STEEL — AS2334

N908536  NL ROOF GAL PLN 60X3.75 500G
N908543  NL ROOF GAL PLN 60X3.75 2.5KG

9310086908536 5 PAC | 9310086908536 PAC
9310086908543 1 BOX | 9310086908543 BOX

ROOFING TWISTED SHANK — GALVANISED STEEL — AS2334
( — N908574  NL ROOF GAL TWT 60X3.75 500G 9310086908574 5 PAC |9310086908574  PAC
N908567 NL ROOF GAL TWT 60X3.75 2.5KG 9310086908567 1 BOX | 9310086908567  BOX
-
>
(72)
CONCRETE — ZINC PLATED STEEL 5
— N907454 NL CONCRETE 25X3.0 100G 9310086907454 5 PAC |9310086907454  PAC .-?,
N907485 NL CONCRETE 25X3.0 500G 9310086907485 5 PAC | 9310086907485  PAC [y
N907546  NL CONCRETE 25X3.0 2KG 9310086907546 2  BOX |9310086907546  BOX 8
N907461 NL CONCRETE 37X3.0 100G 9310086907461 5 PAC |9310086907461  PAC m
N907492  NL CONCRETE 37X3.0 500G 9310086907492 5 PAC |9310086907492  PAC —
N907478 NL CONCRETE 50X3.2 100G 9310086907478 5 PAC |9310086907478  PAC =
N907508  NL CONCRETE 50X3.2 5006 9310086907508 5 PAC |9310086907508  PAC 5
N907515  NL CONCRETE 65X3.6 500G 9310086907515 5 PAC |9310086907515  PAC
N907584  NL CONCRETE 65X3.6 2KG 9310086907584 2  BOX |9310086907584  BOX
N907522 NL CONCRETE 75X4.0 500G 9310086907522 5  PAC [9310086907522  PAC
N907591  NL CONCRETE 75X4.0 2KG 9310086907591 2 BOX |9310086907591  BOX
N907539  NL CONCRETE 100X4.2 500G 9310086907539 5 PAC |9310086907539  PAC
N942691 NL CONCRETE 100X4.5 2KG 9310086942691 2  BOX |9310086942691  BOX
SKIRTING — ZING PLATED STEEL
mﬁ% N919600 NL SKIRTING 20X2.8 100G 9310086919600 PAC |9310086919600  PAC
N919617 NL SKIRTING 25X2.8 100G 9310086919617 PAC |9310086919617  PAC
N919624  NL SKIRTING 40X2.8 100G 9310086919624 PAC |9310086919624  PAC

1. Place orders in “order quantity multiples”.




Zenith

HIDDEN DECK FASTENING SYSTEM INDEX

Page No. Page No.

BLIND RIVETS 43 | TIMBER CONNECTOR NAILS 49

BOLTS & NUTS — COUNTERSUNK & ROUND HEAD 17 | TIMBER SCREWS STITCHING NEEDLE POINT 36

BOLTS & NUTS — MUSHROOM HEAD & HEX HEAD 18 | TIMBER SCREWS TYPE 17 POINT 31

BOLTS & NUTS & RODS WHITWORTH THREAD 9 | TIMBER SCREWS TYPE 17 POINT WITH

BOLTS & NUTS METRIC THREAD — FOR TREATED PINE 15 FPOM DOME WASHER %

BOLTS & NUTS METRIC THREAD — STAINLESS STEEL 15 TREATED PING SCREWS NEEDLE POINT 2

BOLTS & NUTS, RODS, COUPLERS & SQUARE TYPE 17TIMBER SCREWS %

WASHERS METRIC THREAD 1 WAFER HEAD TIMBER SCREWS 32

BUGLE HEAD BATTEN 32 | WALL PLUGS 42

BULLET HEAD NAILS 45 | WHITWORTH & METRIC NUTS & WASHERS 19

CAMO COLLATED SCREWS FOR USE WITH WOO0D SCREWS 25

CAMO DRIVE TOOL 35

CAMO HIDDEN DECK FASTENING SYSTEM™ 34

CHIPBOARD SCREWS NEEDLE POINT 28

CLOUT NAILS 50

D.I.Y. SQUARE BUCKET ASSORTMENT —

TIMBER SCREWS — ALL PURPOSE NEEDLE POINT 42

DECKING NAILS 48

DECKING SCREWS TYPE 17 34

DOME WASHERS - EPDM 36

FLAT HEAD NAILS 47

HINGE SCREWS 27

LONGTHREADS 26

METAL SCREWS DRILL POINT 38

METRIC BOLTS & NUTS 22

PLASTERBOARD SCREWS DRILL POINT 42

PLASTERBOARD SCREWS NEEDLE POINT 42

QUICKSHOT™ 34

SELF TAPPING SCREWS 37

SHEETING NAILS 48

SNAP FASTENERS 24

SPECIALTY NAILS 50

SPLIT PINS 22




b

ALPHA PRODUCT INDEX

Product Code..........ccersunn Page Product Code...........veuens Page Product Code...........coeueen. Page Product Code..........ceeunnns Page Product Code...........cveueuns Page
344354................. 35 | ARS0090.............. 43 | BAA0100.............. 9 | BEAOO75S.............. 10 | BSC0260.............. 1
344359................. 35 | ARS0094.............. 43 | BAB0050.............. 9 | BEB0040.............. 10 | BSC0300.............. 11
344554................. 35 | ARS0095.............. 43 | BAB006O.............. 9 | BEB005O0.............. 10 | BSD0065.............. 12
345060................. 35 | ARS0098.............. 43 | BAB0075.............. 9 | BEB0100.............. 10 | BSD0Q75.............. 12
395010......ccceeuvee. 35 | ARS0099.............. 43 | BAB0100.............. 9 | BEC0040.............. 10 | BSD0090.............. 12
395040................. 35 | ARS0100.............. 44 | BAB0125.............. 9 | BEC0050.............. 10 | BSD0100.............. 12
**CAB5425............ 25 | ARSO110.............. 44 | BAC0050.............. 9 | BEC0060.............. 10 | BSD0120.............. 12
**CAB5430............ 25 | ARSO112.............. 43 | BAC0060.............. 9 | BECOO75.............. 10 | BSD0130.............. 12
0349255-AU......... 35 | ARSO114.............. 43 | BAC0075.............. 9 | BHA0006.............. 10 | BSD0140.............. 12
345001-Al........... 34 | ARSO115.............. 43 | BAC0090.............. 9 | BHAO008.............. 10 | BSD0150.............. 12
345015-AU........... 34 | ARSO116.............. 43 | BAC0100.............. 9 | BHA0010.............. 10 | BSD0170.............. 12
345089-AU........... 34 | ARSO118.......c.c.e. 44 | BACO115.............. 9 | BHAOO12.............. 10 | BSD0180.............. 12
345099-Al........... 34 | ARSO119............. 44 | BACO0125.............. 9 | BHA0016.............. 10 | BSD0200.............. 12
345119-AU........... 34 | ARUO170.............. 44 | BACO0150.............. 9 | BHAOO18.............. 10 | BSD0220.............. 12
345124-AU........... 34 | ARU0180.............. 44 | BACO175.............. 9 | BRA0OCG.............. 14 | BSD0240.............. 12
345128-AU........... 34 | ARU0190.............. 44 | BAC0200.............. 9 | BRA0OOS.............. 14 | BSD0260.............. 12
345144-AU........... 34 | ARU0200.............. 44 | BADOO75.............. 9 | BRA0010.............. 14 | BSD0300.............. 12
345148-AU........... 34 | ARU0210.............. 44 | BAD0100.............. 9 | BRAOO1Z.............. 14 | BSE0065.............. 12
345219S-AU......... 35 | ARV0250.............. 44 | BADO125.............. 9 | BRA0OOT6.............. 14 | BSE0100.............. 12
345224S-AU......... 35 | ARV0260.............. 44 | BAD0150.............. 9 | BRA0020.............. 14 | BSE0120.............. 12
345228S-AU......... 35 | ARV0270.............. 44 | BADO175.............. 9 | BRB0010.............. 15 | BSE0150.............. 12 |E
AMA0040 ............. 14 | ARV0280.............. 44 | BAD0200.............. 9 | BRBOO12.............. 15 | BSE0180.............. 12 E
AMB0040............. 14 | ARV0290.............. 44 | BBA0025.............. 9 | BRCOO10.............. 16 | BSE0200.............. 12 :
AMC0050.............. 14 | ARV0300.............. 44 | BBA0040.............. 9 | BRCOO12.............. 16 | BSE0260.............. 12 =
ANA3838.............. 14 | ARV0320.............. 44 | BBA0050.............. 9 | BSA0025.............. 11 | BTA0020.............. 12 8
ANA5050.............. 14 | ATG1008.............. 14 | BBA0O75.............. 9 | BSA0030.............. 11 | BTA0025.............. 12 g
ANB5050.............. 14 | ATG1010.............. 14 | BBA0100.............. 9 | BSA0040.............. 11 | BTA0040.............. 12 :I
ANC5050.............. 14 | ATG1012.............. 14 | BBB0025.............. 9 | BSA0050.............. 11 | BTA0050.............. 12 E
ARE1010 .............. 43 | ATG1016.............. 14 | BBB0040.............. 9 | BSA0075.............. 11 | BTA0060.............. 12 g
ARE1020............... 43 | ATG1020.............. 14 | BBB005O0.............. 9 | BSA0100.............. 11 | BTA0Q75.............. 12
ARE1024 .............. 43 | ATG1208.............. 14 | BBB006O.............. 9 | BSB0025.............. 11 | BTA0100.............. 12
ARE1050 .............. 43 | ATG1210.............. 14 | BBB0075.............. 9 | BSB0040.............. 11 | BTAO150.............. 12
ARK0002.............. 44 | ATG1212.............. 14 | BBB0100.............. 9 | BSB00S0.............. 11 | BTB0020.............. 12
ARR0005............... 43 | ATG1216.............. 14 | BBB0125.............. 9 | BSB00GO.............. 11 | BTB0025.............. 12
ARR0010.............. 43 | ATR2003.............. 11 | BBCO0025.............. 10 | BSBO0070.............. 11 | BTB0040.............. 12
ARR0020.............. 43 | ATR2004 .............. 11 | BBCO040.............. 10 | BSB0100.............. 11 | BTB0050.............. 12
ARR0024 .............. 43 | ATR2005.............. 11 | BBCO005O0.............. 10 | BSB0120.............. 11 | BTB006O.............. 12
ARR0030.............. 43 | ATR2006 .............. 11 | BBCO06O.............. 10 | BSB0130.............. 11 | BTBOO75.............. 12
ARR0032.............. 43 | ATR2008.............. 11 | BBCOO75.............. 10 | BSBO150.............. 11 | BTB0090.............. 12
ARR0033.............. 43 | ATR2010.............. 11 | BBCO100.............. 10 | BSC0050.............. 11 | BTB0100.............. 12
ARR0035............... 43 | ATR2012.............. 11 | BBCO125.............. 10 | BSCO0060.............. 11 | BTB0120.............. 12
ARR0036............... 43 | ATR3003.............. 11 | BBD0040.............. 10 | BSC0075.............. 11 | BTB0150.............. 12
ARR0037 .............. 43 | ATR3004.............. 11 | BBD005O.............. 10 | BSC0090.............. 11 | BTC0040.............. 13
ARR0038.............. 43 | ATR3005.............. 11 | BBDOO75.............. 10 | BSC0100.............. 11 | BTC0050.............. 13
ARR0039.............. 43 | ATR3006 .............. 11 | BBD0100.............. 10 | BSC0120.............. 11 | BTCO0060.............. 13
ARR0040.............. 43 | ATR3008.............. 11 | BBDO125.............. 10 | BSC0130.............. 11 | BTCO075.............. 13
ARR0041 .............. 43 | ATR3010.............. 11 | BBDO0150.............. 10 | BSC0140.............. 11 | BTCO100.............. 13
ARRO043 .............. 43 | ATR3012.............. 11 | BDCOO75.............. 15 | BSC0150.............. 11 | BTC0120.............. 13
ARR00S0.............. 43 | ATR4006 .............. 11 | BDCO0100.............. 15 | BSC0170.............. 11 | BTC0130.............. 13
ARR0060.............. 43 | ATR4008.............. 11 | BDDO120.............. 15 | BSC0180.............. 11 | BTCO150.............. 13
ARRO065 .............. 43 | BAADD40.............. 9 | BDDO150.............. 15 | BSC0200.............. 11 | BTD005O0.............. 13
ARS0070............... 43 | BAA00SO.............. 9 | BDDO0200.............. 15 | BSC0220.............. 11 | BTDOO75.............. 13
ARS0080.............. 43 | BAA0Q75.............. 9 | BEA0040.............. 10 | BSC0240.............. 11 | BTDO0100.............. 13







oz

<
Zenith HEDEN DECK FASTENNG SYSTEN 2020
Product Code................... Page Product Code...........c.ceuns Page Product Code............cceuu. Page Product Code............ceeens Page Product Code.............couus Page
CCZ6430.............. 36 | CSC7435.............. 29 | CVM7750.............. 31 | CVW7735............. 39 | CWR1230............. 19
CDD1005.............. 23 | CSC7440.............. 29 | CVM7765.............. 31 | CYW7745 ............ 39 | CWR1240............. 19
CDD1006.............. 23 | CSC7445.............. 29 | CVM7800.............. 31 | CWH4325............. 28 | CWR1250............. 19
CDD1008.............. 23 | CSC7450.............. 29 | CVM7825.............. 31 | CWH4330............. 28 | CWR1260............. 19
CDD1010.............. 23 | CSC7460.............. 29 | CVM7850.............. 31 | CWH4425............. 28 | CWR1275............. 19
CDD1012.............. 23 | CSC7600.............. 29 | CVM7865.............. 31 | CWH4430............. 28 | CWR1812............. 18
CDE1005.............. 20 | CSC7650.............. 29 | CVM7875.............. 31 | CWH4630............. 28 | CWR1815............. 18
CDE1006............... 20 | CSC7665.............. 29 | CVM7890.............. 31 | CWH5325............. 27 | CWR1820............. 18
CDE1008.............. 20 | CSC7675.............. 29 | CUN6435.............. 41 | CWH5330............. 27 | CWR1825............. 19
CDE1010.............. 20 | CSC9420.............. 30 | CVN6440.............. 41 | CWH5425............. 27 | CWR1830............. 19
CDE1012.............. 20 | CSC9425.............. 30 | CVN6655.............. 41 | CWH5430............. 27 | CWR1840............. 19
CDH9440.............. 34 | CSC9430.............. 30 | CVN6675.............. 41 | CWH5630............. 27 | CWR1850............. 19
CDH9445.............. 34 | CSC9440.............. 30 | CVUN7435.............. 40 | CWL1012.............. 26 | CWR1860............. 19
CDH9450.............. 34 | CSC9445............. 30 | CVO7435.............. 40 | CWL1020.............. 26 | CWR1875............. 19
CDH9465.............. 34 | CSC9450.............. 30 | CVO7640.............. 40 | CWL1116.............. 26 | CWS1010............. 37
CDH9640.............. 34 | CSC9460.............. 31 | CVO7645.............. 40 | CWL1216.............. 26 | CWS1212............. 37
CDH9650.............. 34 | CSC9600.............. 31 | CVO7655.............. 41 | CWL1225.............. 26 | CWS1216............. 37
CDH9665.............. 34 | CSC9650.............. 30 | CVQ7645.............. 41 | CWL1230.............. 26 | CWS1220............. 37
CDH9750.............. 34 | CSC9665.............. 31 | CVR0000.............. 36 | CWL1240............. 26 | CWS1225............. 37
CDH9765.............. 34 | CSC9675.............. 31 | CVROOO1 .............. 36 | CWL1325.............. 26 | CWS1410............. 37
CDK9440.............. 34 | CST9420.............. 30 | CVS6412.............. 41 | CWL1416.............. 26 | CWS1412............. 37 |E
CDK9445.............. 34 | CST9425.............. 30 | CVS6420.............. 41 | CWL1420.............. 26 | CWS1416............. 37 E
CDK9450.............. 34 | CST9430.............. 30 | CVS6432.............. 41 | CWL1425.............. 26 | CWS1420............. 37 :
CDK9465.............. 34 | CST9440.............. 30 | CVS7412.............. 40 | CWL1430.............. 26 | CWS1425............. 37 =
CDK9640.............. 34 | CST9445.............. 30 | CVS7420.............. 40 | CWL1440.............. 26 | CWS1430............. 37 8
CDK9645.............. 34 | CST9450.............. 30 | CVS7432.............. 40 | CWL1450.............. 26 | CWS1440............. 37 g
CDK9650.............. 34 | CST9460.............. 31 | CVT9430............... 30 | CWL1630.............. 26 | CWS1612............. 37 :I
CDK9665.............. 34 | CST9600.............. 31 | CVT9440............... 30 | CWL1640.............. 26 | CWS1616............. 37 E
CDL9440.............. 34 | CST9650.............. 30 | CVI944s.............. 30 | CWL1650.............. 26 | CWS1620............. 37 g
CDL9450.............. 34 | CST9665.............. 31 | CVT9450............... 30 | CWL1660.............. 26 | CWS1625............. 37
CDL9650.............. 34 | CST9675.............. 31 | CVT9460............... 30 | CWL2425.............. 26 | CWS1630............. 37
CDL9750.............. 34 | CVB7616.............. 39 | CVT9600............... 30 | CWL2430.............. 26 | CWS1640............. 37
CDL9765.............. 34 | CVB7720.............. 39 | CVT9675............... 30 | CWL3012.............. 27 | CWS1650............. 37
CDZ9450.............. 34 | CVG7720.............. 38 | CVUGB0O.............. 33 | CWL3016.............. 27 | CWS1730............. 37
CDZ9650.............. 34 | CVG7725.............. 38 | CVU68S0.............. 33 | CWL3216.............. 27 | CWS1820............. 37
CEAO0006 .............. 14 | CVG7735.............. 38 | CVUGBY7S.............. 33 | CWL3220.............. 27 | CWS8212............. 38
CEAO000S............... 14 | CVG7745.............. 39 | CVU7800.............. 33 | CwL3420.............. 27 | CWS8412............. 38
CEA0010.............. 14 | CVG7765.............. 39 | CVU7812.............. 33 | CWL3425.............. 27 | CWS8420............. 38
CEAOO12............... 14 | CVG7765.............. 39 | CVU7815.............. 33 | CWL3430.............. 27 | CWS8425............. 38
CEA0016............... 14 | CVH7720.............. 39 | CVU7850.............. 33 | CWL3440.............. 27 | CWS8430............. 38
CEA0020............... 14 | CVH7735.............. 39 | CVU7865.............. 33 | CWL3450.............. 27 | CWS8440............. 38
CEB0010.............. 15 | CVH7745.............. 39 | CVU7875.............. 33 | CWL3650.............. 27 | CWS8616............. 38
CEBOO12.............. 15 | CVH7765.............. 39 | CVU7885.............. 33 | CwL8220.............. 27 | CWS8625............. 38
CEC0010.............. 16 | CVH7822.............. 39 | CVU8017 .............. 33 | CWL8225.............. 27 | CWS8640............. 38
CECO012.............. 16 | CVI6225................ 42 | CVU8120.............. 33 | CWL8325.............. 27 | CWT8425............. 38
CFA2500............... 10 | CVI6230................ 42 | CVU9800.............. 32 | CWL8330.............. 27 | CWT8432............. 38
CFB2500.............. 10 | CVL7750............... 32 | CvU9gs12.............. 32 | CwL8420.............. 27 | CWTB8450............. 38
CFC2500.............. 10 | CVL7765............... 32 | CVU9815.............. 32 | CwL842s.............. 27 | CWT8625............. 38
CFD2500.............. 10 | CVL7875............... 32 | CVU9850.............. 32 | CWL8430.............. 27 | CWT8632............. 38
CFF2500............... 10 | CVMO750.............. 36 | CVU9B7S............. 32 | CWR1212............. 18 | CXC1001 .............. 42
CFG2500.............. 10 | CVM7725.............. 31 | CW7616............... 38 | CWR1215............. 18 | CXC1002.............. 42
CSC7425.............. 29 | CVM7730.............. 31 | CVW7616............. 38 | CWR1220............. 18 | CXS8438.............. 38
CSC7430.............. 29 | CVM7745............ 31 | CYW7720............. 38 | CWR1225............. 19 | EAA1216 .............. 25




b7

ALPHA PRODUCT INDEX

Product Code...........ceuens Page Product Code...........ceeueun. Page Product Code..........ccurunn Page Product Code...........eeuenns Page Product Code...........cveueun. Page
EAA1220 .............. 25 | EAE2440............... 26 | EAG1850.............. 19 | EAU096O.............. 42 | EBI010......ccc.c... 21
EAA1420 .............. 25 | EAE3012............... 27 | EAG1860.............. 19 | EAW1212.............. 22 | EBI012................ 21
EAA1425 .............. 25 | EAE3016......ccco..... 27 | EAG1875.............. 19 | EAW1215.............. 22 | EBL1003............... 20
EAA1430 .............. 25 | EAE3116............... 27 | EAH1212............. 17 | EAW1250.............. 22 | EBL1004............... 20
EAA1440 .............. 25 | EAE3216............... 27 | EAH1225.............. 17 | EAW1275.............. 22 | EBL1005............... 20
EAA1625 .............. 25 | EAE3220............... 27 | EAH1425.............. 17 | EAW1312.............. 22 | EBL1006............... 20
EAA1630 .............. 25 | EAE3225............... 27 | EAH1440.............. 17 | EAW1315.............. 22 | EBM4005.............. 20
EAA1640 .............. 25 | EAE3420............... 27 | EAH1616.............. 17 | EAW1330.............. 22 | EBMA4006.............. 20
EAA1650 .............. 25 | EAE3425............... 27 | EAH1620.............. 17 | EAW1375.............. 22 | EBM5003.............. 21
EAA1660 .............. 25 | EAE3430............... 27 | EAH1625.............. 17 | EBA1003.............. 19 | EBM5005.............. 21
EAA1675 .............. 25 | EAE3440............... 27 | EAH1640.............. 17 | EBA1004 .............. 19 | EBM5006.............. 21
EAA1740 .............. 25 | EAE3440............... 27 | EAH1650.............. 17 | EBA1005.............. 19 | EBMG6O00G.............. 21
EAA1750 .............. 25 | EAE3650............... 27 | EAH1820.............. 17 | EBA1006 .............. 19 | EBM600S.............. 21
EAA1760 .............. 25 | EAF1006............... 37 | EAH1825.............. 17 | EBC1005.............. 20 | EBM6010.............. 21
EAB4016 .............. 25 | EAF1010............... 37 | EAH1840.............. 17 | EBC1006 .............. 20 | EBM6O12.............. 21
EAB4220 .............. 25 | EAF1210............... 37 | EAH1850.............. 17 | EBC1008.............. 20 | EBM7006.............. 21
EAB4425 .............. 25 | EAF1212............... 37 | EAN225.............. 17 | EBC1010.............. 20 | EBM7008.............. 21
EAB5220 .............. 25 | EAF1216............... 37 | EA440................ 17 | EBC1012.............. 20 | EBM7010.............. 21
EAB5425 .............. 25 | EAF1220............... 37 | EAN620................ 17 | EBD100S.............. 20 | EBM7012.............. 21
¢ EAB5430............... 25 | EAF1225............... 37 | EANG25................ 17 | EBD1006............... 20 | EBN1003.............. 21
Ll EAC4012.............. 25 | EAF1230............... 37 | EAI650................ 17 | EBD100S.............. 20 | EBN1005.............. 21
% EAC4020............... 25 | EAF1410............... 37 | EAJ1212............... 17 | EBD1010.............. 20 | EBN1006.............. 21
|: EAC4220 .............. 25 | EAF1412............... 37 | EAJ1225............... 17 | EBD1012.............. 20 | EBN1008.............. 21
g EAC4225 .............. 25 | EAF1416............... 37 | EAJ1425.............. 17 | EBE1003............... 23 | EBN1010.............. 21
8 EAC4425 .............. 25 | EAF1420............... 37 | EAJ1440............... 17 | EBE1004............... 19 | EBN1012.............. 21
E EAC4430............... 25 | EAF1425............... 37 | EAJ1616............... 17 | EBE1005............... 19 | EBO1000.............. 21
<t EAC4440 .............. 25 | EAF1430............... 37 | EAJ1620............... 17 | EBE1006............... 19 | EBO1001.............. 21
E EAC4630 .............. 25 | EAF1440............... 37 | EAJ1625............... 17 | EBE1008............... 19 | EB02000.............. 21
E' EAC4640 .............. 25 | EAF1450............... 37 | EAJ1640............... 17 | EBE1010............... 19 | EBO2002.............. 21
EAC4675 .............. 25 | EAF1612............... 37 | EAJ1650............... 17 | EBE1012............... 23 | EB03000.............. 21
EAC4760 .............. 25 | EAF1616............... 37 | EAJ1820............... 17 | EBF1000............... 22 | EBO3003.............. 21
EAE1012............... 26 | EAF1620............... 37 | EAJ1825............... 17 | EBF1025............... 22 | EBP1006 .............. 21
EAE1116............... 26 | EAF1625............... 37 | EAJ1840............... 17 | EBF1032............... 22 | EBP1008.............. 21
EAE1216............... 26 | EAF1630............... 37 | EAJ1850............... 17 | EBF1140............... 22 | EBP1010.............. 21
EAE1220............... 26 | EAF1650............... 37 | EAK1225.............. 17 | EBF1245............... 22 | EBP1012.............. 21
EAE1225............... 26 | EAF1720............... 37 | EAK1440.............. 17 | EBF1440............... 22 | EBQ1005.............. 20
EAE1230............... 26 | EAF1740............... 37 | EAK1620.............. 17 | EBF4000............... 22 | EBQ1006.............. 20
EAE1240............... 26 | EAF1825............... 37 | EAK1625.............. 17 | EBF5000............... 22 | EBQ1010........c..... 20
EAE1325............... 26 | EAG1612.............. 18 | EAK1650.............. 17 | EBG4003.............. 20 | EBQ2005.............. 20
EAE1330............... 26 | EAG1616.............. 18 | EAN1325.............. 19 | EBG4004.............. 20 | EBQ2006.............. 20
EAE1420............... 26 | EAG1620.............. 18 | EAN1440.............. 19 | EBG4005.............. 20 | EBQ2010.............. 20
EAE1425............... 26 | EAG1625.............. 18 | EAN1525.............. 19 | EBG4006 .............. 20 | EBS8216.............. 27
EAE1430............... 26 | EAG1630.............. 19 | EAN1540.............. 19 | EBG4008.............. 20 | EBS8220.............. 27
EAE1440............... 26 | EAG1640.............. 19 | EAN1550.............. 19 | EBH1005.............. 20 | EBS8225.............. 27
EAE1450............... 26 | EAG1650.............. 19 | EAN1650.............. 19 | EBH1006.............. 20 | EBS8420.............. 27
EAE1625............... 26 | EAG1660.............. 19 | EAU0225.............. 42 | EBH1008.............. 20 | EBS8425.............. 27
EAE1630............... 26 | EAG1675.............. 19 | EAU0525 .............. 42 | EBH1010.............. 20 | EBS8430.............. 27
EAE1640............... 26 | EAG1812.............. 18 | EAU0540.............. 42 | EBH3006.............. 20 | EBS8630.............. 27
EAE1650............... 26 | EAG1816.............. 18 | EAUO725.............. 42 | EBH3008.............. 20 | EBS8640.............. 27
EAE2116............... 26 | EAG1820.............. 18 | EAU0740.............. 42 | EBH3010.............. 20 | EBS8650.............. 27
EAE2220............... 26 | EAG1825.............. 19 | EAUO750.............. 42 | EBI1005................ 21 | EBT8212............... 38
EAE2425............... 26 | EAG1830............. 19 | EAU082S.............. 42 | EBI1006................ 21 | EBT8216............... 38
EAE2430............... 26 | EAG1840.............. 19 | EAU08S0.............. 42 | EBI1008................ 21 | EBT8220............... 38




oz

i
Zenith HIDDEN DECK FASTENNG SYSTEM 2020
Product Code..........ccersunn Page Product Code...........veuens Page Product Code...........coeueen. Page Product Code..........ceeunnns Page Product Code...........cveueuns Page
EBT8412............... 38 | EBY1140............... 22 | ECJ1008............... 24 | EDE7640.............. 40 | EDS7425.............. 36
EBT8416............... 38 | EBY1240............... 22 | ECJ1010............... 24 | EDE7650.............. 40 | EDS7430.............. 36
EBT8420............... 38 | EBY1425............... 22 | ECJ1011.....c.c....e. 24 | EDF7616.............. 39 | EDT7430.............. 36
EBT8425............... 38 | EBY1440............... 22 | EDAG420.............. 28 | EDF7622 .............. 39 | EDT7440.............. 36
EBT8430............... 38 | EBZ1004............... 21 | EDAG42S.............. 28 | EDF7630.............. 39 | EDW7420............. 40
EBT8440............... 38 | EBZ1006............... 21 | EDAG428.............. 28 | EDG7625.............. 31 | EDW7430............. 40
EBT8616............... 38 | EBZ1008............... 21 | EDAG430.............. 28 | EDG7725.............. 31 | EDW7435............. 40
EBT8620............... 38 | EBZ1010............... 21 | EDAB435.............. 28 | EDG7730.............. 31 | EDY7435.............. 40
EBT8625............... 38 | ECA1015.......c...e. 22 | EDAG440.............. 28 | EDG7745.............. 31 | EDY7440.............. 40
EBT8630............... 38 | ECA1025............... 22 | EDAG450.............. 28 | EDG7750.............. 31 | EDY7645.............. 40
EBT8640............... 38 | ECA1115.............. 22 | EDAG460.............. 28 | EDG7765.............. 31 | EDZ7420.............. 30
EBT8650............... 38 | ECA1120.............. 22 | EDAB465.............. 28 | EDG7850.............. 31 | EDZ7425 .............. 30
EBT8725............... 38 | ECA1215.............. 22 | EDAGATS.............. 28 | EDG7875.............. 31 | EDZ7430.............. 30
EBT8730............... 38 | ECA1220.............. 22 | EDAG60O.............. 28 | EDH7725.............. 32 | EDZ7440.............. 30
EBU1212.............. 18 | ECA1225.............. 22 | EDAG640.............. 28 | EDH7750.............. 32 | EDZ7450.............. 30
EBU1219.............. 18 | ECA1320.............. 22 | EDAG6S0.............. 28 | EDH7765.............. 32 | EDZ7460.............. 30
EBU1225.............. 18 | ECA1325.............. 22 | EDABG6S.............. 28 | EDH7875.............. 32 | EDZ7600.............. 31
EBU1232............... 18 | ECB1120.............. 22 | EDABGT75.............. 28 | EDIG425 ............... 35 | EDZ7650.............. 30
EBU1238............... 18 | ECB1225.............. 22 | EDA7425.............. 29 | EDIG63O ............... 35 | EDZ7665.............. 31
EBU1250.............. 18 | ECB1235.............. 22 | EDA7430.............. 29 | EDIB640............... 35 | EDZ7675.............. 31
EBU1312.............. 18 | ECB1320.............. 22 | EDA7440.............. 29 | EDIG6SO ............... 35 | ERR0010.............. 43 |E
EBU1319.............. 18 | ECB1325.............. 22 | EDA7445.............. 29 | EDI7425............... 35 | ERR0020.............. 43 ;
EBU1325.............. 18 | ECB1340.............. 22 | EDA7450.............. 29 | EDI7630............... 35 | ERR0O024.............. 43 :
EBU1332.............. 18 | ECB1425.............. 22 | EDA7460.............. 29 | EDI7640 ............... 35 | ERR0030.............. 43 =
EBU1338.............. 18 | ECB1435.............. 22 | EDA7600.............. 29 | EDI7650 ............... 35 | ERR0032.............. 43 8
EBU1350.............. 18 | ECB1450.............. 22 | EDA7650.............. 29 | EDI7675............... 35 | ERR0Q35.............. 43 g
EBU862S .............. 18 | ECD1210.............. 23 | EDA7665.............. 29 | EDL7750.............. 32 | ERR0036.............. 43 :I
EBU86S0 .............. 18 | ECD1315.............. 23 | EDA7675.............. 29 | EDL7765.............. 32 | ERR0038.............. 43 E
EBU882S .............. 18 | ECD1325.............. 23 | EDB7616.............. 38 | EDM7850............. 33 | ERR0039.............. 43 g
EBU88S0............... 18 | ECD1420.............. 23 | EDB7625.............. 38 | EDM7875............. 33 | ERR0040.............. 43
EBV1012............... 18 | ECE1003............... 23 | EDB7720.............. 38 | EDN7412.............. 40 | ERR0043.............. 43
EBV1025............... 18 | ECE1004............... 23 | EDB7725.............. 38 | EDN7416.............. 40 | ERR00SO.............. 43
EBV1212............... 18 | ECE1005............... 23 | EDB7735.............. 38 | EDN7420.............. 40 | ERR00GO.............. 43
EBV1220............... 18 | ECE1006............... 23 | EDB7745.............. 39 | EDN7432.............. 40 | ERS0070.............. 43
EBV1225............. 18 | ECE1008............... 23 | EDB7765.............. 39 | EDP6220.............. 41 | ERS0080.............. 43
EBV1235............... 18 | ECE1010............... 23 | EDC6616.............. 39 | EDP6225.............. 41 | ERS0090.............. 43
EBV1250............... 18 | ECF1004............... 23 | EDC7412.............. 39 | EDP6230.............. 41 | ERS0100.............. 44
EBV1312.............. 18 | ECF1005............... 23 | EDC7616.............. 39 | EDP6240.............. 41 | ERS0110......cc.e... 44
EBV1320............... 18 | ECF1006............... 23 | EDC7625.............. 39 | EDPB325.............. 41 | ERV0250............... 44
EBV1325............... 18 | ECF1008............... 23 | EDC7720.............. 39 | EDPG330.............. 41 | ERV0260............... 44
EBV1335............... 18 | ECF1010............... 23 | EDC7735.............. 39 | EDP6440.............. 41 | ERV0270............... 44
EBV1350............... 18 | ECG1003.............. 23 | EDC7822.............. 39 | EDP6450.............. 41 | ERV0280............... 44
EBV8225............... 18 | ECG1004.............. 23 | EDD7425.............. 30 | EDPG465.............. 41 | ERV0300............... 44
EBV8625............... 18 | ECG1005.............. 23 | EDD7430.............. 30 | EDR6625.............. 32 | ERV0310............... 44
EBV8650............... 18 | ECG1006.............. 23 | EDD7435.............. 30 | EDRG635.............. 32 | N906051 .............. 50
EBV882S............... 18 | ECG1008.............. 23 | EDD7440.............. 30 | EDR6645.............. 32 | N906068S.............. 50
EBV8850............... 18 | ECG1010.............. 23 | EDD7450.............. 30 | EDR7625.............. 32 | N906075.............. 50
EBW1006 ............. 23 | ECG1012.............. 23 | EDD7460.............. 30 | EDR7645.............. 32 | N906082.............. 50
EBW1008 ............. 23 | ECH1006.............. 23 | EDD7665.............. 30 | EDS6415.............. 36 | N906099.............. 50
EBW1010.............. 23 | ECH1008.............. 23 | EDD7675.............. 30 | EDS6425.............. 36 | N906105.............. 49
EBW1012 ............. 23 | ECH1010.............. 23 | EDE7425.............. 40 | EDS6430.............. 36 | N90B112.............. 45
EBY1025............... 22 | ECH1012.............. 23 | EDE7430.............. 40 | EDS7415.............. 36 | N906129.............. 45
EBY1032............... 22 | ECJ1006............... 24 | EDE7630.............. 40 | EDS7420.............. 36 | N906136.............. 45







b
ABBREVIATIONS

AL ALUMINIUM PCE PIECE

AL/OP OPEN ALUMINIUM PH PAN HEAD

ASST ASSORTED PHL PHILLIPS DRIVE

AWPT A.W.POINT PK PACKET

BAT BUGLE BATTEN HEAD PLAS PLASTERBOARD (FASTENERS)

B+NUT BOLT AND NUT PLAS/M PLASTERBOARD - DRILL POINT

BKT CLEAR PLASTIC BUCKET PT POINT

BLK BLACK RFNG ROOFING

BN BUTTON HEAD RN ROUND

BP BRASS PLATED RS RAISED HEAD

BR SOLID BRASS S/TAP SELF TAPPER

BU BUGLE HEAD SCW SCREW

BX CLEAR PLASTIC BOX SEH SELF EMBEDDING HEAD

C3 CLASS 3 ZINC/TIN FINISH SHT SHEET

CHIP CHIPBOARD SCREW SLT SLOTTED DRIVE

CP CHROME PLATED SML SMALL

CR COUNTERSUNK RIBBED SP SNAP-PAC®

CS COUNTERSUNK SPH SLOTTED/PHILLIPS DRIVE g
CSC3 COUNTERSUNK CLASS 3 SPRG SPRING %
CSGP COUNTERSUNK GOLD PASSIVATED SQ SQUARE E
DR DRIVE STITCH STITCHING SCREW g
GL GALVANISED ST/QP. OPEN STEEL %
GP GOLD PASSIVATED STL. STEEL

HD HEAD T7 TYPE 17 CUTTING POINT

HDG HOT DIP GALVANISED T17CORR TYPE 17 CYCLONE ASSEMBLY

HX HEXAGONAL HEAD T17CR. TYPE 17 COUNTERSUNK RIBBED

HXSL HEX WASHER HEAD WITH SEAL T17CS TYPE 17 COUNTERSUNK RIBBED

[HX INTERNAL HEX DRIVE T17HXSL TYPE 17 HEX HEAD WITH SEAL

M/ROOM MUSHROOM T17POLYC  TYPE 17 - EPDM WASHER

M/SCW METAL SCREW T17TLSL TYPE 17 - TOP LOCK WITH SEAL

MAC. SCW  MACHINE SCREW T17WF TYPE 17 WAFER HEAD

MAS MASONRY TLSL TOP LOCK WITH SEAL

MT METAL DRILL POINT TP TRADE POLY BAG

MTPOLYC METAL DRILL POINT - EPDM WASHER TPINE TREATED PINE

MTRC METRIC W/SCW WOO0D SCREW

MWG METAL DRILL POINT - WINGS WF WAFER HEAD

NB NICKEL PLATED BRASS WHT WHITE

NP NICKEL PLATED WS WITH SEAL

NP NEEDLE POINT (FASTENERS) YEL YELLOW

NS NO SEAL zpP ZINC PLATED FINISH

PB POLISHED BRASS




JTIWPROLINE 2

Hardware Solutions

Visit the ITW Proline website for more information on the Zenith product range

P 1300 721 738
F 1800 206 941
E customerservice @itwproline.com.au

HEAD OFFICE 153-187 Discovery Road
74-94 Newton Road DANDENONG STH VIC 3175
WETHERILL PARK NSW 2164

Locked Bag 70

WETHERILL PARK D.C. 525 Abemethy Road

NSW 1851 Australia KEWDALE WA 6105

3A George Street
HINDMARSH SA 5007

16-26 Wentworth Place
BANYO QLD 4014



